
Products

CALIPER REPAIR KITS
CATALOGUE 2024
CALIPER REPAIR KITS
CATALOGUE 2024

Rev.3

15.11.2024ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr



Products

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr



PRODUCTS

BPW 397

MERITOR Z-CAM 313

IVECO

WABCO
PAN 17.5"

PAN 19.5" / 22.5" SINGLE PISTON

PAN 19.5" / 22.5" DOUBLE PISTON

MAXX 17

MAXX 17 CWS

MAXX 19 

MAXX 22 MAN

MAXX 22 MB / MAXX 22 L

MAXX 22T

PAN 19.5" 1600 V-G

CARRIER

183

193

203

211

217

223

229

237

245

251

257

MERITOR
ELSA 1

ELSA 2 / 195 / 225

LISA

D3

DUCO

DX 175

DX 195

DX 225

CARRIER

81

93

111

119

133

149

159

169

178

KNORR
SB5 / SN5

SB6 / SB7 / SB7 RADIAL

SN6 / SN7 / SK7

SL7 / SM7 / ST7

CARRIER

5

15

41

63

71

319

www.bachmann.com.tr

HYDRAULIC 325

HALDEX
MARK

MODUL X

MODUL T

CARRIER

263

277

287

294

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr4



knorr sb5
sn5

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 5



sb
5 

/ s
n5

111046 Caliper Complete Repair Kit Sb5

111047 Sn5Caliper Complete Repair Kit

111023 111014 111029

111017

111016 111013
111027

114521

115515

111021

112511

116510

114511

111019 111013 111015 111038

111037

111036 112510

111018

111016111028

Back V�ew

116510

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr6



knorr111272 Caliper Tappet Kit 69 mm Sn5

Caliper Tappet Kit 69 mm
K001929-K097826K50-81.50822.6027 Sn5

Caliper Bridge Sb5

Caliper Lever Sb5

Caliper Tappet Kit 74 mm
II179320065-II304130065-1390429

Caliper Tappet Kit 74 mm
K000944-K010604

Sn5

Sn5

111118

111010

111014

111027 111028

111015

111117

112510 116510

Back V�ew

112511

116510

112510

116510

114510

Back V�ew
112511

114511

116510

PLEASE ORDER WITH 111011 FOR HALF KIT

112554

118511

112568

118511

Back V�ew Back V�ew

Tappet 69 mm Bush Ø 16X18/10 mm

Sn5
SB6 / Sb7

SB7 RADIAL

Tappet 74 mm

Bush Ø 16X18/10 mm

Br�dge SB5

Spr�ng

Bush Ø 16x18/10 mm

Tappet 69 mm Boot 69 mm 

Bush Ø 16X18/10 mm

Tappet 74 mm

Boot 74 mm 

Sb5
SB6 / Sb7

SB7 RADIAL

Br�dge SN5

Caliper Bridge

Spr�ng

Caliper Lever

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 7



sb
5 

/ s
n5

CALIPER CHAIN (12 LINKS) SB5

CALIPER ROLLER BEARING KIT
SB5

SB6 / SB7
SB7 RADIAL

SN6/ SN7 / SK7

CALIPER PINION SHAFT SB5

CALIPER CALIBRATION BOLT

CALIPER CHAIN (14 LINKS)

CALIPER ROLLER BEARING KIT

SN5CALIPER PINION SHAFT

CALIPER BRAKE PAD RETAINER REPAIR KIT

111017 111038

111021 111018

111029 111037

111013 111090

111043

SN5

SN5

SB5
SB6 / SB7

SB7 RADIAL
SN5

SN6 / SN7 / SK7

SB6 / SB7
SB7 RADIAL

K000133 - 000 420 2582

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr8



knorr
CALIPER REPAIR KIT SB5

SB6 / SB7

CALIPER SEAL KIT

CALIPER PLASTIC CAP KIT (RED)

CALIPER LEVER REPAIR KIT SN5

CALIPER REPAIR KIT

CALIPER SEAL KIT
SB5

SB6 / SB7
SB7 RADIAL

CALIPER PLASTIC CAP KIT (GREEN)

CALIPER BOLT KIT

114518114516

115511114517

111039 111081

114538

111150

114519

111040

114547

111257 111258

114546

111237

112547

115525 113526

111274

II350470061-001 420 6683-81.50822.6005

Boot (Red)

P�n Boot R�ng (Wh�te)

Outer Boot 

Outer Boot Clamp 

SB5
SB6 / SB7

SN6 / SN7 / SK7

Seal

Support Seal 

K001301 - 81.50822.6025 - 1439494

Plast�c Cap (Red) Plast�c Cap (Green)

SB5
SB6 / SB7

SB7 RADIAL
SN6 / SN7 / SK7

SB5
SB6 / SB7

SB7 RADIAL
SN6 / SN7 / SK7

Bolt M16X1,5/50 mm

SB5
SN5

SL7/SM7/ST7

SB5
SB6 / SB7

SB7 RADIAL

114518 Outer Boot 

115515 Steel Cap

114521 O-r�ng

115511 Outer Boot Clamp 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 9



sb
5 

/ s
n5

CALIPER REPAIR KIT SB5

CALIPER ADJUSTER PLASTIC KIT Ø 5 MM SB5
SN5 CALIPER REPAIR KIT

SB5
SB6 / SB7

SB7 RADIAL

111041

111275 111012

112512

114545
Sensor Adjuster Ø 5 Short (Plast�c) 

114512
Bush (Plast�c) 

Ø 34X40/50 mm
Gu�de P�n Ø 34/80 mm

114516

114517

Boot (Red)

P�n Boot R�ng (Wh�te)

114512
Bush (Plast�c) 

Ø 34X40/50 mm

114518

115511

Outer Boot 

Outer Boot Clamp 

112511

116510

Tappet 74 mm

Bush Ø 16X18/10 mm

CALIPER REPAIR KIT SN5111381

114516

114517

Boot (Red)

P�n Boot R�ng (Wh�te)

114512
Bush (Plast�c) 

Ø 34X40/50 mm

114518

115511

Outer Boot 

Outer Boot Clamp 

112510

116510

Tappet 69 mm

Bush Ø 16X18/10 mm

114510
Boot 69 mm 

Back V�ew

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr10



knorr111030 Caliper Sensor Cover (Without Sensor)

111031 With 2 Wires Sensor

111032

111199

With 3 Wires Sensor - MB

With 3 Wires Sensor - MAN 12.160 TGL

Sn5Caliper Sensor Cover (Without Sensor)

With 2 Wires Sensor

With 3 Wires Sensor - MB

With 3 Wires Sensor - MAN 12.180 TGL

111033

111034

111035

111198

Caliper Plastic Cover Gasket Sb5 Caliper Plastic Cover Gasket111042 111045 Sn5

Sb5

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 11



sb
5 

/ s
n5 Sb5

SB6 / Sb7
SB7 RADIAL

Caliper Repair Kit111023

114512
Rubber Bush

Ø34 x Ø40 x 50 mm
114518

Outer Boot
114516

Boot (Red)

115511
Outer Boot Clamp 

114517

113512
Gu�de P�n Bolt

M16X1,5/150 mm

112516
Gu�de P�n Ø 36/145 mm

113513
Gu�de P�n Bolt

M16X1,5/85 mm

112512
Gu�de P�n Ø 34/80 mm

Ii369100062 - II339680062

Sb5
SB6 / Sb7

SB7 RADIAL

Caliper Repair Kit111024 K000935 - 3.434.3802.00

114518
Out ooter B

114516
Boot (Red)

115511
Out oot Clamp er B

114517

116513

Sb5
SN6/SN7/SK7

Caliper Repair Kit111026 K001274

114516
Boot (Red)

114517
P�n Boot R�ng

(Wh�te)

112517
Gu�de P�n Ø 36/102 mm

113513
Bolt M16X1,5/85 mm

112515
Gu�de P�n Ø 32/80 mm

116514
Bronze Bush

Ø36X40/75 mm

115513
Steel Cap

Ø 40/11 mm
115512

Bolt R�ng

111053
Bush Ø39 mm (Long Type)

113514
Bolt M16X1,5/80 mm

Caliper Repair Kit111019 K001928 - 81.50822.6026 Sn5

112513
Gu�de P�n Ø 30/99 mm

114514
Inner Boot R�ng

112514
Gu�de P�n Ø 30/71 mm

116511
Bronze Bush

Ø 30X34/65 mm

115510
Steel Cap Ø34/14 mm

113510
Gu�de P�n Bolt

M16X1,5/105 mm

113511
Gu�de P�n Bolt

M16X1,5/75 mm114513
Boot (Red)

116512
Te�on Bush

Ø 30X34/20 mm

113512
Gu�de P�n Bolt M16X1,5/150 mm

112516
Gu�de P�n Ø 36/145 mm

Bronze Bush Ø 36X40/82 mm 

116513
Bronze Bush Ø 36X40/82 mm 

P�n Boot R�ng
(Wh�te)

P�n Boot R�ng
(Wh�te)

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr12



knorr

Caliper Seal Kit Sn5

Caliper Repair Kit Sn5

Caliper Adjusting Mechanism Sb5

Caliper Cover Kit

Sn5Caliper Adjusting Mechanism

111271

115522

112568
118511

114520
Cover Seal

111044

115522

113515

111036

111016 111215

Sn5

Cover

Bolt M8X1,25/16 mm

114520
Cover Seal

Br�dge SN5

115522
Cover

Spr�ng

Cover

113515
Bolt M8X1,25/16 mm

Front V�ewFront V�ew

PLEASE ORDER WITH 111256 FOR METAL OVERHEAD

Sn5

CALIPER REPAIR KIT SB5
SB6/SB7

SB7 RADIAL
SN6/SN7/SK7

CALIPER REPAIR KIT SB5
SB6 / SB7

SB7 RADIAL

112515

111053

Gu�de P�n Ø 32/80 mm

111020 K000697 - 1477676

Cal�per Bush 39 mm (Long Type) 

114512

112512

113513 Bush (Plast�c) 
Ø 34X40/50 mm

111025 II368470064-1448910-3.434.3801.00

Gu�de P�n Ø 34/80 mm

Bolt M16X1,5/85 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 13



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr14



knorr Sb6 / SB7 
SB7 RADIAL

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 15



Caliper Tappet Kit 74 mm Sb5
SB6 / Sb7

SB7 RADIAL
111366 K000944-K010604

Caliper Repair Kit

Sb6 / Sb7
SB7 RADIALCaliper Repair Kit 111113111114

112564

118510 111013

Sb6 / Sb7
SB7 RADIALCaliper Repair Kit

Br�dge Assembly

Spr�ng

112564

118510

Br�dge Assembly

Spr�ngCal�per Cal�brat�on Bolt

Sb
6 

/ S
B7

 / 
SB

7 
RA

DI
AL

SN6 / SN7 / SK7
SL7 / SM7 / ST7

SB6 / SB7111290 111291

111107
Cal�per Adjust�ng Shaft 

111112
Cal�per Cha�n (29 l�nks)

111106
Cal�per Adjust�ng Mechan�sm

SN6 / SN7 / SK7
SL7 / SM7 / ST7

SB6 / SB7

111192
Cal�per Adjust�ng Mechan�sm

111107
Cal�per Adjust�ng Shaft 

111112
Cal�per Cha�n (29 l�nks)

Caliper Repair Kit

Caliper Tappet Kit 74 mm
K000944-K010604111117

Sb5
SB6 / Sb7

SB7 RADIAL

116510
Bush Ø 16X18/10 mm

112511

114511

Tappet 74 mm

Boot 74 mm 

PLEASE ORDER WITH 111011 FOR HALF KIT

Ii179320065 - II304130065 - 1390429

P/N: 111118

116510
Bush Ø 16X18/10 mm

112511

114556

Tappet 74 mm

Boot 74 mm Lock�ng 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr16



knorr111121 111123

111125 111127

111137 111190

111115 111276

112525

115518

111116

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 17



Caliper Complete Repair Kit111120

Sb
6 

/ S
B7

 / 
SB

7 
RA

DI
AL

111013

111112

111114
111021

111117

111121 111107

111106

Caliper Complete Repair Kit111122

Caliper Complete Repair Kit111124

Caliper Complete Repair Kit111126

111013

111112

111114
111021

111117

111123 111107

111106

111013

111112

111114
111021

111117

111125 111107

111106

111013

111112

111114
111021

111117

111127 111 107

111 106

PLEASE ORDER WITH 111120TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111122TRX FOR 111192 TORX HEAD
 ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111124TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111126TRX FOR 111192 TORX HEAD
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr18



knorrCaliper Complete Repair Kit111277 Sb6 / Sb7
SB7 RADIAL

111013

111114
111141

111021 111117
111107 111106

111112

111013

111114
111141

111117
111107 111106

111112

Caliper Complete Repair Kit111278 Sb6 / Sb7
SB7 RADIAL

111119

PLEASE ORDER WITH 111277TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECH.

PLEASE ORDER WITH 111278TRX FOR 111192 TORX HEAD
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECH.

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 19



Sb
6 

/ S
B7

 / 
SB

7 
RA

DI
AL

Caliper Lever (Radial Type) 111136

111137
111013

111112

111114
111117

111107

111106
111021

Caliper Complete Repair Kit Sb6 / Sb7
SB7 RADIAL111279

111021

Caliper Complete Repair Kit111280 Sb6 / Sb7
SB7 RADIAL

111013

111117 111114

111107

111106111119

PLEASE ORDER WITH 111137TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111279TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111280TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

111112

Caliper Lever (Radial Type - BUS) 111350

111190
111013

111112

111114
111117

111107

111106
111021

PLEASE ORDER WITH 111350TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

111013

111117 111114

111107

111106111112

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr20



knorr

Caliper Plastic Cover (Blank)111096

111100

111097 With 2 Wires Sensor

With 3 Wires Sensor - MB111098

With 3 Wires Sensor - MAN TGA111099

Sb6 / Sb7
Sn6 / Sn7 / SK7

TO ORDER WITH PLUG PLEASE USE
111205 PART NUMBER

Sb6 / Sb7
Sn6 / Sn7 / SK7

TO ORDER WITH PLUG PLEASE
USE 111216 PART NUMBER

Caliper Plastic Cover (Blank)

With 2 Wires Sensor

With 3 Wires Sensor - MB

With 3 Wires Sensor - MAN 

Sb6 / Sb7
Sn6 / Sn7 / SK7

111101 

111102 

111281

Sb6 / Sb7
Sn6 / Sn7 / SK7

PLEASE ORDER WITH 111206 PART NUMBER FOR CLOSED HOLE

PLEASE ORDER WITH 111217 PART NUMBER FOR CLOSED HOLE

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 21



Sb
6 

/ S
B7

 / 
SB

7 
RA

DI
AL

Sb5
SB6 / Sb7

SB7 RADIAL
SL7 / SM7 / St7
SN6 / SN7 / SK7

111209 Caliper Sensor (3 Wires Sensor MB)

111230 2 Wires Sensor

111231 3 Wires Sensor - MAN

111232 3 Wires Sensor - MAN TGA 5,5 Cycle

111233 3 Wires Sensor - MAN 4,5 Cycle

Caliper Sensor Test Device Caliper Sensor TEST DEVICE111210 KNORR 111360

SB6 / SB7 
SN6 / SN7 / SK7

NA7 / ST7

Caliper Plastic Cover (blank)111222

With 2 Wires Sensor111223

111224 With 3 Wires Sensor - MB

111225 With 3 Wires Sensor - MAN 

Caliper Plastic Cover (Blank) Caliper Steel Sensor Cover111197 111273Sb6 / Sb7
Sn6 / Sn7 / SK7 KNORR

CONNECTION FOR
MERCEDES AND MAN

CLIPS AND GROOVE FOR
SCANIA, DAF AND IVECO

KNORR

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr22



knorr
Sb6 / Sb7

Sn6 / Sn7 / SK7

111128

111129 With 2 Wires Sensor

111130 With 3 Wires Sensor - MB

111218 With 3 Wires Sensor - MAN 

Adjuster PLASTIC Kit Ø 8.40 mm111283
Adjuster Plastic Kit Ø 9.80 mm111228

Adjuster Plastic Kit111103

 Caliper Plastic Cover (Without Sensor)

Sensor Adjuster Plast�c (5.3 mm) 
Sensor Adjuster Plast�c (9.8 mm) 

114551 Sensor Adjuster Plast�c (8.4 mm)

SB7 RADIAL

SB7 RADIAL

With 2 Wires Sensor

With 3 Wires Sensor - MB

With 3 Wires Sensor - MAN 

 Caliper Plastic Cover (Without Sensor)111131

111132

111133

111219

Caliper Sensor Adjuster Kit Caliper Plastic Cover Gasket111134 

114531 Sensor Adjuster Plast�c (5.3 mm) 

111284

111135 SB7 RADIAL

Caliper Adjuster Plastic Kit Ø 9 mm

SB7 RADIAL

114544 Sensor Adjuster Plast�c (9 mm) 

114540
114529

Caliper Sensor Holder Kit111282

114550
Sensor Holder

SB5
SN5

SN6 / SN7 / SK7
SL7 / SM7 / ST7

SB6 / SB7

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 23



Sb
6 

/ S
B7

 / 
SB

7 
RA

DI
AL

Caliper Repair Kit111023

114512
Rubber Bush

Ø 34X40/50 mm
114518

Outer Boot
114516

Boot (Red)

115511
Outer Boot Clamp 

114517
P�n Boot R�ng 

(Wh�te)

113512
Bolt M16X1,5/150 mm

112516
Gu�de P�n Ø 36/145 mm

113513
Bolt M16X1,5/85 mm

111054

II369100062 - II339680062
SB5 / SB6 / SB7

SB7 RADIAL

116513
Bronze Bush Ø 36X40/82 mm 

112512
Gu�de P�n Ø 34/80 mm

Caliper Repair Kit
K001532 - 1472919 SB6 / SB7

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

111057

114517

113514 113513

115512

114521

112518

115515

111069

Cal�per Bush 35 mm (Long Type)
112515

Gu�de P�n Ø 32/80 mm Gu�de P�n Ø 36/114 mm

Bolt  M16X1,5/85 mmBolt M16X1,5/80 mm

P�n Boot R�ng (Wh�te) Bolt R�ng 

Steel Cap O-R�ng

Caliper Repair Kit
K000365 - 000 420 0782 - 000 420 2282

SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7

116513
Bronze Bush Ø 36X40/82 mm 

114512
Rubber Bush Ø 34X40/50 mm

112515
Gu�de P�n Ø 32/80 mm

112512
Gu�de P�n Ø 34/80 mm

112518
Gu�de P�n Ø 36/114 mm114516

Boot (Red)

115515
Steel Cap 

115513
Steel Cap 

Ø 40/11 mm
114521
O-R�ng

113514
Bolt M16X1,5/80 mm

114517
P�n Boot R�ng 

(Wh�te)

113513
Bolt  M16X1,5/85 mm

111076
Cal�per Bush 39 mm (Short Type) 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr24



knorr
Caliper Repair Kit
K000375111050 SB5 / SB6 / SB7

SB7 RADIAL

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

114517

113514 113513

115512

114521 115515
Bolt  M16X1,5/85 mmBolt M16X1,5/80 mm

P�n Boot R�ng (Wh�te) Bolt R�ng 

Steel Cap O-R�ng

112518112515
Gu�de P�n Ø 32/80 mm Gu�de P�n Ø 36/114 mm

Caliper Repair Kit
K000696 - II310370066 - 002 420 0383111070  SB6 / SB7

SB7 RADIAL

116513
Bronze Bush Ø 36X40/82 mm 

113513
Bolt M16X1,5/85 mm

112518
Gu�de P�n Ø 36/114 mm

114516
Boot (Red)

115515
Steel Cap 

114521
O-R�ng

114517
P�n Boot R�ng (Wh�te)

Caliper Repair Kit
K000935 - 3.434.3802.00

SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7
111024

113512
Bolt M16X1,5/150 mm

116513
Bronze Bush Ø 36X40/82 mm 

112516
Gu�de P�n Ø 36/145 mm

114516
Boot (Red)

114517
P�n Boot R�ng (Wh�te)

115511
Outer Boot Clamp 

114518
Outer Boot

111053
Cal�per Bush 39 mm (Long Type) 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 25



Sb
6 

/ S
B7

 / 
SB

7 
RA

DI
AL

111141 Caliper Repair Kit
K001915 - K048389K50 - K099604K50

SB6 / SB7
SB7 RADIAL

SL7 / SM7 / ST7
SN6 / SN7 / SK7

116513
Bronze Bush Ø 36X40/82 mm 

PLEASE USE KRG EXTENSION TO ORDER WITH CHROME GUIDE PINS (KR) AND GREASE (G) - 111141KRG

114516
Boot (Red)

111076
Cal�per Bush 39 mm (Short Type) 

114517
P�n Boot R�ng (Wh�te)

113514 113513
Bolt M16X1,5/85 mmBolt M16X1,5/80 mm

115514
Steel Cap 

Ø 40/14.5 mm

112518
Gu�de P�n Ø 36/114 mm

112515
Gu�de P�n Ø 32/80 mm

Caliper Repair Kit

114517
P�n Boot R�ng (Wh�te)

SB6 / SB7111175

112515
Gu�de P�n Ø 32/80 mm

112518
Gu�de P�n Ø 36/114 mm

113514
Bolt M16X1,5/80 mm

SB6 / SB7
SB7 RADIAL

113513
Bolt M16X1,5/85 mm

112533
Adjust�ng Mechan�sm Adapter

111043
Cal�per Pad Reta�ner Repa�r K�t

114515
Plast�c Cover Cap 

Ø 38 mm 

115514
Steel Cap 

K012912

Caliper Cap Kit111245

115515
Steel Cap 

115516
Steel Cap 

Ø 40/24.5 mm

114521
O-R�ng

115513
Steel Cap 

Ø 40/11 mm

Ø 40/14.5 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr26



knorr
Caliper Repair Kit
K000132 - 000 420 2182

Caliper Repair Kit
K010813 - 81.50822.6033

 SB6 / SB7
SB7 RADIAL

Caliper Repair Kit

111187

111077

113518

116515

115516

111285

116519

115511
Outer Boot Clamp 

114517
P�n Boot R�ng (Wh�te)

112512
Gu�de P�n Ø 34/80 mm

SB6 / SB7

 SB6 / SB7
SB7 RADIAL

116513
Bronze Bush Ø 36X40/82 mm 

112521
Gu�de P�n Ø 36/135 mm

114512
Rubber Bush

Ø 34X40/50 mm
114518

Outer Boot
114516

Boot (Red)

113517
Bolt M16X1,5/140 mm

113513
Bolt M16X1,5/85 mm

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

112522
Gu�de P�n Ø 36/64 mm

112518
Gu�de P�n Ø 36/114 mm

113513
Bolt M16X1,5/85 mm

Bolt M16X1,5/70 mm P�n Boot R�ng (Wh�te)
114517 114521 115515

Steel Cap O-R�ng

Steel Cap 
Ø 40/24.5 mm

Bush 
Ø 36X40/20 mm

113518

115514

115516

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

112522
Gu�de P�n Ø 36/64 mm

112518
Gu�de P�n Ø 36/114 mm

113513
Bolt M16X1,5/85 mm

Bolt M16X1,5/70 mm P�n Boot R�ng (Wh�te)
114517

Steel Cap 
Ø 40/24.5 mm

Steel Cap 
Ø 40/14.5 mm

Bush 
Ø 36X40/20 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 27



Sb
6 

/ S
B7

 / 
SB

7 
RA

DI
AL

Caliper Repair Kit
II358510062 - 000 420 1182 - 1415149

SB6 / SB7
SB7 RADIAL

Caliper Repair Kit
II39769F0062 - 42537451

112512
Gu�de P�n Ø 34/80 mm

112518
Gu�de P�n Ø 36/114 mm

116513
Bronze Bush Ø 36X40/82 mm 

114512
Rubber Bush Ø 34X40/50 mm

114516
Boot (Red)

113513
Bolt  M16X1,5/85 mm

111063

114522

111062 SB6 / SB7
SB7 RADIAL

116513
Bronze Bush Ø 36X40/82 mm 

115511
Outer Boot Clamp 

114517
P�n Boot R�ng 

(Wh�te)
112516

Gu�de P�n Ø 36/145 mm
112520

Gu�de P�n Ø 34/120 mm

114516
Boot (Red)

114518
Outer Boot

113512
Bolt M16X1,5/150 mm

113516
Bolt M16X1,5/125 mm

Bush Ø 34X40/95 mm

Caliper Repair Kit
II179320062 - 050 121 0167 - B230397111065

114523
Outer Boot (Short)

114524
Boot (Black)

SB6 / SB7
SB7 RADIAL

116513
Bronze Bush Ø 36X40/82 mm 

112520
Gu�de P�n Ø 34/120 mm

112521
Gu�de P�n Ø 36/135 mm

113517
Bolt M16X1,5/140 mm

113516
Bolt M16X1,5/125 mm

114522
Bush Ø 34X40/95 mm

115511
Outer Boot 

Clamp 

114517
P�n Boot R�ng (Wh�te)

115515
Steel Cap 

114521
O-R�ng

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr28



knorr
Caliper Repair Kit
K067417K50 - 3 434 3820 00

Caliper Repair Kit  SB6 / SB7
SB7 RADIAL111059

111049

111053
Cal�per Bush 39 mm 

(Long Type) 

112519

 SB6 / SB7
SB7 RADIAL

K048371K50

114521
O-R�ng 112515

Gu�de P�n Ø 32/80 mm
112518

Gu�de P�n Ø 36/114 mm
116513

Bronze Bush Ø 36X40/82 mm 

113514

113513
Bolt M16X1,5/85 mm

Bolt M16X1,5/80 mm

114517
P�n Boot R�ng

(Wh�te)

114516
Boot (Red)

PLEASE USE KRG EXTENSION TO ORDER WITH CHROME GUIDE PINS (KR) AND GREASE (G) - 111049KRG

115514
Steel Cap 

Ø 40/14.5 mm

115512
Bolt R�ng

Stop R�ng 
35 mm

115515
Steel Cap

Caliper Repair Kit
K000687 - 1603326

 SB6 / SB7
SB7 RADIAL111073

112515
Gu�de P�n Ø 32/80 mm

112516
Gu�de P�n Ø 36/145 mm

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

114518
Outer Boot

115511
Outer Boot Clamp 

114517
P�n Boot R�ng

(Wh�te)

113514
Bolt M16X1,5/80 mm

113512
Bolt M16X1,5/150 mm

111076
Cal�per Bush 

39 mm (Short Type) 

112515
Gu�de P�n Ø 32/80 mm

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

114517
P�n Boot R�ng 

(Wh�te)

113514
Bolt M16X1,5/80 mm

111076
Cal�per Bush 

39 mm (Short Type) 

112518
Gu�de P�n Ø 36/114 mm

115515
Steel Cap

114521
O-R�ng

113513
Bolt M16X1,5/85 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 29



Sb
6 

/ S
B7

 / 
SB

7 
RA

DI
AL

Caliper Repair Kit SB6 / SB7

Caliper Repair Kit
II197330062 - 1390426 - 1798063

SB6 / SB7
SB7 RADIAL

113513
Bolt  M16X1,5/85 mm

114516
Boot (Red)

116513
Bronze Bush Ø 36X40/82 mm 

114517
P�n Boot R�ng (Wh�te)

113514
Bolt M16X1,5/80 mm

112523
Gu�de P�n Ø 32/84 mm Gu�de P�n Ø 36/114 mm w�th Bush

111246

114521
O-R�ng

114527
P�n Boot 

R�ng (Red)
115515

Steel Cap

115514
Steel Cap 

Ø 40/14.5 mm

115517
Steel Cap

111079
Metal Rubber Bush 

(Short Vers�on)

111066

114523
Outer Boot (Short)114524

Boot (Black)

114526
Boot (Black)

Caliper Repair Kit
K031844K50 - 1756390 - 1906779

SB6 / SB7
SB7 RADIAL111078

113513
Bolt  M16X1,5/85 mm

114516
Boot (Red)

116513
Bronze Bush Ø 36X40/82 mm 

114517
P�n Boot R�ng (Wh�te)

113514
Bolt M16X1,5/80 mm

112523
Gu�de P�n Ø 32/84 mm

114521
O-R�ng

114527
P�n Boot

 R�ng (Red)
115515

Steel Cap

115514
Steel Cap 

Ø 40/14.5 mm

115517
Steel Cap

111079
Metal Rubber Bush 

(Short Vers�on)

114526
Boot (Black)

PLEASE USE KRG EXTENSION TO ORDER WITH CHROME GUIDE PINS (KR) AND GREASE (G) - 111078KRG

112518
Gu�de P�n Ø 36/114 mm

115511
Outer Boot Clamp 

112512
Gu�de P�n Ø 34/80 mm

116513
Bronze Bush Ø 36X40/82 mm 

112521
Gu�de P�n Ø 36/135 mm

113513
Bolt M16X1,5/85 mm

113517
Bolt M16X1,5/140 mm

114512
Rubber Bush 

Ø 34X40/50 mm

112563

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr30



knorr
Caliper Repair Kit

114512
Rubber Bush

Ø34X40/50 mm
114518

Outer Boot
114516

Boot (Red)

115511
Outer Boot Clamp 

113512
Gu�de P�n Bolt 

M16X1,5/150 mm

113514
Gu�de P�n Bolt 

M16X1,5/80 mm

116513
Bronze Bush

II328090062 - 2121642111189

112516
Gu�de P�n Ø 36/145 mm

112512
Gu�de P�n Ø 34/80 mm

SB6 / SB7

Caliper Repair Kit SB5 / SB6 / SB7
SB7 RADIAL

Caliper Repair Kit

Caliper Repair Kit

Caliper Repair Kit

Caliper Bridge

111025

111286

113514

112515

115512

111053111079

112523

111012

111052

111287 111288

111053 112527 111061

II368470064-1448910-3.434.3801.00
SB5 / SB6 / SB7

SB7 RADIAL

SB6 / SB7 / SB7 RADIAL
SN6 / SN7 / SK7

Caliper Repair Kit SB6 / SB7 / SB7 RADIAL
SN6 / SN7 / SK7

K000698 - 3 424 3813 00
SB6 / SB7 

SN6 / SN7 / SK7

SB6 / SB7
SB7 RADIAL

113513
Bolt  M16X1,5/85 mm

112512
Gu�de P�n Ø 34/80 mm

114512
Rubber Bush 

Ø 34 X40/50 mm

112512
Gu�de P�n Ø 34/80 mm 114512

Rubber Bush 
Ø 34X40/50 mm

Cal�per Bush Ø 39 mm

Gu�de P�n Ø 32/84 mm

Bolt M16X1.5/80 mm

113514
Bolt M16X1.5/80 mm

Gu�de P�n Ø 32/80 mm

Bolt R�ng 

Cal�per Bush
 39 mm (Long Type) 

112515

113514
Bolt M16X1.5/80 mm

Gu�de P�n Ø 32/80 mm

Cal�per Bush 
35 mm (Short Type)Gu�de P�n Ø 32/88 mmCal�per Bush 

39 mm (Long Type) 

114517
P�n Boot R�ng

(Wh�te)

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 31



knorr

Caliper Repair Kit

114512
Rubber Bush

Ø 34X40/50 mm
114518

Outer Boot
114516

Boot (Red)

115511
Outer Boot Clamp 

114517
P�n Boot R�ng (Wh�te)

116513
Bronze Bush

111188

112521
Gu�de P�n Ø 36/135 mm

112512
Gu�de P�n Ø 34/80 mm

SB6 / SB7

Caliper Repair Kit111186 SB6 / SB7

112516
Gu�de P�n Ø 36/145 mm

112512
Gu�de P�n Ø 34/80 mm

113512
Bolt M16X1,5/150 mm

113514
Bolt M16X1,5/80 mm

114512
Rubber Bush

Ø 34X40/50 mm

Caliper Brake Pad Retainer Repair Kit SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7111043

111086

111085
Cal�per Pad Reta�ner Repa�r K�t

111092
Cal�per Brake Pad Reta�ner Repa�r K�t

111085SB5 / SB6 / SB7 
SN6 / SN7 / SK7K000133 - 000 420 2582

Caliper Brake Pad Retainer Repair Kit
K000129 - II19712004 - II30679004

SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7

Caliper Brake Pad Retainer Repair Kit
K000884

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr32



Sb
6 

/ S
B7

 / 
SB

7 
RA

DI
AL

Caliper Repair Kit SB6 / SB7
SN6 / SN7 / SK7

Caliper Repair Kit SB5 / SB6 / SB7
SB7 RADIAL / SN6 / SN7 / SK7

Caliper Repair Kit SB6 / SB7 
SN6 / SN7 / SK7

Caliper Repair Kit SB6 / SB7 
SN6 / SN7 / SK7

111051

111266

111084

111083

114515

111053
Cal�per Bush 39 mm 

(Long Type) 

115512
Bolt R�ng

112515
Gu�de P�n Ø 32/80 mm

112518
Gu�de P�n Ø 36/114 mm

113513
Bolt M16X1,5/85 mm

113514
Bolt M16X1,5/80 mm

112519
Stop R�ng 35 mm

114516
Boot (Red)

115511
Outer Boot Clamp 

114517
P�n Boot R�ng (Wh�te)

115515
Steel Cap

114521
O-R�ng

111053
Cal�per Bush 39 mm 

(Long Type) 

115512
Bolt R�ng

112515
Gu�de P�n Ø 32/80 mm

113514
Bolt M16X1,5/80 mm

114518
Outer Boot 112511

Tappet 74 mm

114512
Rubber Bush Ø 34X40/50 mm

116510
Bush Ø 16X18/10 mm

115511
Outer Boot Clamp 

114517
P�n Boot R�ng (Wh�te)

116510
Bush Ø 16X18/10 mm

116513
Bronze Bush Ø 36X40/82 mm 

112511
Tappet 74 mm

114516
Boot (Red)

114518
Outer Boot

114511
Boot 74 mm 

115512
Bolt R�ng

114512
Rubber Bush 

Ø 34X40/50 mm

Plast�c Cover Cap 
Ø 38 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 33



Sb
6 

/ S
B7

 / 
SB

7 
RA

DI
AL

Caliper Repair Kit

Caliper Repair Kit
II197140062 - 81.50822.6006 SB6 / SB7

Caliper Repair Kit
K048396K50 - 2121641 SB6 / SB7111060

111058

111067

112512
Gu�de P�n Ø 34/ 80 mm

114525
Outer Boot

SB6 / SB7
SB7 RADIALK003800

115511
Outer Boot 

Clamp 

113512
Bolt M16X1,5/150 mm

113513
Bolt M16X1,5/85 mm

111085
Cal�per Pad Reta�ner Repa�r K�t 113513

Bolt  M16X1,5/85 mm

113514
Bolt M16X1,5/80 mm

114517
P�n Boot R�ng

(Wh�te)

112515
Gu�de P�n Ø 32/80 mm

112518
Gu�de P�n Ø 36/114 mm

115514
Steel Cap 

Ø 40/14.5 mm
115512
Bolt R�ng

112533
Adjust�ng Mechan�sm 

Adapter

114515
Plast�c Cover Cap

 Ø 38 mm 
K000129 - II19712004 - II30679004

114521
O-R�ng 113513

Bolt  M16X1,5/85 mm

113514
Bolt M16X1,5/80 mm

112515
Gu�de P�n Ø 32/80 mm

112518
Gu�de P�n Ø 36/114 mm

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

114517
P�n Boot R�ng (Wh�te)

115515
Steel Cap

111061
Cal�per Bush 

35 mm (Short Type)

116513
Bronze Bush Ø 36X40/82 mm 

114524
Boot (Black)

114512
Rubber Bush 

Ø 34X40/50 mm

112516
Gu�de P�n Ø 36/145 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr34



knorr
Caliper Brake Pad Retainer Repair Kit SB6 / SB7

SB7 RADIALCaliper Brake Pad Retainer Repair Kit111092 111289

Caliper Brake Pad Retainer Repair Kit111090

111091

Caliper Repair Kit111093

SB6 / SB7
SB7 RADIAL

SB6 / SB7
SB7 RADIAL

111043
Cal�per Pad Reta�ner Repa�r K�t

Caliper Brake Pad Retainer Repair Kit SB6 / SB7
SB7 RADIAL

111043
Cal�per Pad Reta�ner Repa�r K�t

111092

SB6 / SB7
SB7 RADIAL

114515
Plast�c Cover Cap 

Ø 38 mm 

112533
Adjust�ng

Mechan�sm 
Adapter

Cal�per Brake Pad Reta�ner Repa�r K�t

TO ORDER WITH 115536 RETAINER
PLEASE USE 111363 PART NUMBER

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 35



Sb
6 

/ S
B7

 / 
SB

7 
RA

DI
AL

Caliper Brake Pad Retainer Repair Kit111087

114528
Plast�c Cover Cap 

SB6 / SB7 / SB7 RADIAL
SN6 / SN7 / SK7

111085
Cal�per Pad Reta�ner Repa�r K�t

114515
Plast�c Cover Cap 

Ø 38 mm 

112533
Adjust�ng

Mechan�sm 
Adapter

Caliper Brake Pad Retainer Repair Kit111089 SB6 / SB7
SB7 RADIAL

Caliper Brake Pad Retainer Repair Kit111088 SB6 / SB7 / SB7 RADIAL
SN6 / SN7 / SK7K002311

111092

111085
Cal�per Pad Reta�ner Repa�r K�t

114528
Plast�c Cover Cap 

114515
Plast�c Cover Cap 

Ø 38 mm 
112533
Adjust�ng

Mechan�sm 
Adapter

111043
Cal�per Pad Reta�ner Repa�r K�t

111092
Cal�per Brake Pad Reta�ner Repa�r K�t

Cal�per Brake Pad Reta�ner Repa�r K�t

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr36



knorr
Caliper Roller Bearing Kit

Caliper Adjusting Mechanism 
Repair Kit Torx Head

Caliper Adjusting Mechanism 
Repair Kit Allen Head

111021

111240 111241

SB5 / SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7

PLEASE ORDER WITH 111242 FOR SB5 / SN5 MODEL

SB6 / SB7
SN6 / SN7 / SK7

SB6 / SB7
SN6 / SN7 / SK7

Caliper Adapter Kit Caliper Adjusting Mechanism 
Gear Kit

SB6 / SB7
SB7 RADIAL

SL7 / SM7 / ST7
SN6 / SN7 / SK7

SB5 / SN5
SN6 / SN7 / SK7
SL7 / SM7 / ST7

SB6 / SB7
111094 111292

112533
Adjust�ng Mechan�sm Adapter

111111
Adjust�ng Mechan�sm Wheel 

Z001548

Caliper SENSOR HOLDER PIN KIT Caliper SENSOR HOLDER PIN KIT 
LONG

Sb6 / SB7
SB7 RADIAL111371 111372

112579
Sensor Holder P�n Short

112580
Sensor Holder P�n Long

SHORT
Sb6 / SB7

SB7 RADIAL

Brake Pad Ret. Rep. Kit111382 SB6 / SB7
SB7 RADIAL

111043
Cal�per Pad Reta�ner Repa�r K�t

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 37



Sb
6 

/ S
B7

 / 
SB

7 
RA

DI
AL

Caliper Adjusting Mechanism
SB6 / SB7

SB7 RADIAL
SL7 / SM7 / ST7
SN6 / SN7 / SK7

Caliper Adjusting MechanismSB6 / SB7

Caliper Adjusting Shaft SN6 / SN7 / SK7Caliper Adjusting Shaft
SB6 / SB7

SB7 RADIAL
SN6 / SN7 / SK7

Caliper Adjusting Shaft

111106 111192

111107 111109

111108

PLEASE ORDER WITH 111194 FOR METAL OVERHEAD PLEASE ORDER WITH 111193 FOR METAL OVERHEAD

SN6 / SN7 / SK7 Caliper Calibration Bolt SB5 / SB6 / SB7
SB7 RADIAL

SN5 / SN6 / SN7 / SK7
111013

Caliper COVER SB7 RADIAL SB6 / SB7111384 Caliper COVER SB7 RADIAL SB6 / SB7111383

113525

113525 - Bolt M12 x 1.75/80 mm X 8 pcs

113524

123553

113524 - Bolt M10 x 1.5/60 mm X 2 pcs
123553 - Bolt M14X2/55 mm X 3 pcs

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr38



knorr
Caliper Repair Kit SB6 / SB7

SB7 RADIALSB6 / SB7111068 111072

114521
O-R�ng

114517
P�n Boot R�ng (Wh�te)

114516
Boot (Red)

115515
Steel Cap

114525
Outer Boot

115511
Outer Boot Clamp 

II197140063
Caliper Repair Kit
II328090061

Caliper Repair Kit SB7 RADIALSB6 / SB7

115511
Outer Boot Clamp 

II344730063-81.50822.6010-1448600
Caliper Body Seal Kit111064

114523
Outer Boot (Short) 114541

111293

Body Seal

Caliper Cap Kit SB6 / SB7
SB7 RADIALII39769F0063 - 3 434 3806 00

Caliper Seal Kit

115515
Steel Cap

114521
O-R�ng

111080

114519

111040 SB5 / SB6 / SB7
SB7 RADIAL

Support Seal 

Caliper Seal Kit SB5 / SB6 / SB7
SN6 / SN7 / SK7

Caliper Repair Kit SB5 / SB6 / SB7
SB7 RADIAL111150

114538
Plug Ø 55/50x11 mm 

111081 K001301-81.50822.6025-1439494

114518 Outer Boot 

115515 Steel Cap

114521 O-r�ng

115511 Outer Boot Clamp 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 39



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr40



SN6...
SN7...
SK7...

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 41



111139

111141

115512

111144

111145

SN6 / SN7 / SK7

Sn
6 

/ S
n7

 / 
Sk

7 

Caliper Repair Kit
K001915 - K048389K50 - K099604K50

Caliper Repair Kit
K000472 - 000 420 3482 - 81.50822.6019

SB6 / SB7
SB7 RADIAL

SL7 / SM7 / ST7
SN6 / SN7 / SK7

Caliper Repair Kit
K004100 - K004168 - K010766 SN6 / SN7 / SK7

Caliper Repair Kit SN6 / SN7 / SK7

116513
Bronze Bush Ø 36X40/82 mm 

PLEASE USE KRG EXTENSION TO ORDER WITH CHROME GUIDE PINS (KR) AND GREASE (G) - 111141KRG

114516
Boot (Red)

111076
Cal�per Bush 39 mm (Short Type) 

114517
P�n Boot R�ng (Wh�te)

113514 113513
Bolt M16X1,5/85 mmBolt M16X1,5/80 mm

115514
Steel Cap 

Ø 40/14.5 mm

112518
Gu�de P�n Ø 36/114 mm

112515
Gu�de P�n Ø 32/80 mm

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

114517
P�n Boot R�ng 

(Wh�te)

113514 113513
Bolt M16X1,5/85 mmBolt M16X1,5/80 mm

115514
Steel Cap 

Ø 40/14.5 mm

112518
Gu�de P�n Ø 36/114 mm

111053
Cal�per Bush 39 mm (Long Type) 

112515
Gu�de P�n Ø 32/80 mmBolt R�ng 

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

114517
P�n Boot R�ng

(Wh�te)

112518
Gu�de P�n Ø 36/114 mm

112522
Gu�de P�n Ø 36/64 mm

113513
Bolt M16X1,5/85 mm

113518
Bolt  M16X1,5/70 mm

115514
Steel Cap 

Ø 40/14.5 mm

115516
Steel Cap 

Ø 40/24.5 mm

116515
Bush 

Ø 36X40/20 mm

PLEASE USE KRG EXTENSION TO ORDER WITH CHROME GUIDE PINS (KR) AND GREASE (G) - 111144KRG

114516
Boot (Red)

114517
P�n Boot R�ng

(Wh�te)

115516
Steel Cap 

Ø 40/24.5 mm
112522

Gu�de P�n Ø 36/64 mm

113518
Bolt  M16X1,5/70 mm

116515
Bush 

Ø 36 x 40/20 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr42



knorr
Caliper Repair Kit

Caliper Repair Kit
K052759K50

Caliper Repair Kit

111294 K001470

111147

111295

SN6 / SN7 / SK7

SN6 / SN7 / SK7

SN6 / SN7 / SK7

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

114517

113514 113513

115512

114521 115515
Bolt M16X1,5/85 mmBolt M16X1,5/80 mm

P�n Boot R�ng
(Wh�te) Bolt R�ng 

Steel Cap O-R�ng

112518112515
Gu�de P�n Ø 32/80 mm Gu�de P�n Ø 36/114 mm

111053
Cal�per Bush 39 mm (Long Type) 

115514
Steel Cap 

Ø 40/14.5 mm

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

114517113514 113513
Bolt M16X1,5/85 mmBolt M16X1,5/80 mm P�n Boot R�ng

(Wh�te)

112518112527
Gu�de P�n Ø 32/88,5 mm Gu�de P�n Ø 36/114 mm

111053
Cal�per Bush 39 mm (Long Type) 

115514
Steel Cap 

Ø 40/14.5 mm

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

114517

113514 113513

114521 115515
Bolt M16X1,5/85 mmBolt M16X1,5/80 mm

P�n Boot R�ng (Wh�te)

Steel Cap O-R�ng

112518
Gu�de P�n Ø 36/114 mm

111057
Cal�per Bush 35 mm (Long Type)

115514
Steel Cap 

Ø 40/14.5 mm

112527
Gu�de P�n Ø 32/88,5 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 43



Sn
6 

/ S
n7

 / 
Sk

7 

Caliper Repair Kit SB6 / SB7 / SB7 RADIAL
SN6 / SN7 / SK7K000365 - 000 420 0782 - 000 420 2282111069

113513
Bolt M16X1,5/85 mm

113514
Bolt M16X1,5/80 mm

116513
Bronze Bush Ø 36X40/82 mm 

112518112515
Gu�de P�n Ø 32/80 mm Gu�de P�n Ø 36/114 mm

112512
Gu�de P�n Ø 34/80 mm

114516
Boot (Red)

114512
Rubber Bush 

Ø 34X40/50 mm

111076
Cal�per Bush

39 mm (Short Type) 

114517

114521 115515

P�n Boot R�ng (Wh�te)

Steel Cap O-R�ng

115513
Steel Cap Ø 40/11 mm

Caliper Repair Kit
K013007111143 SN6 / SN7 / SK7

112518
Gu�de P�n Ø 36/114 mm

112522
Gu�de P�n Ø 36/64 mm

111085
Cal�per Pad Reta�ner Repa�r K�t
K000129 - II19712004 - II30679004

114517
P�n Boot R�ng

(Wh�te)

113513
Bolt M16X1,5/85 mm

113518
Bolt M16X1,5/70 mm

112533
Adjust�ng 

Mechan�sm 
Adapter

114515
Plast�c 

Cover Cap
115514

Steel Cap115516
Steel Cap

Caliper Repair Kit111349 K001925 - K028451

114516
Boot (Red)

114517
P�n Boot R�ng (Wh�te)

112517
Gu�de P�n Ø 36/102 mm

113513
Bolt M16X1,5/85 mm

112515
Gu�de P�n Ø 32/80 mm

116514
Bronze Bush

Ø36X40/75 mm

115514
Steel Cap

Ø 40/14.5 mm

111076
Bush Ø39 mm (Short Type)

113514
Bolt M16X1,5/80 mm

SN6 / SN7 / SK7

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr44



knorr
Caliper Tappet Kit 69 mm Caliper Bridge Assembly 

Caliper Tappet Kit 69 mm Caliper Repair Kit

Caliper Tappet Kit 69 mm Caliper Bridge Kit  

Caliper Adjusting Mechanism 
Gear Kit

111162

112526

116510

114510

111161

111252

111154

111153

118510

112565

118510

111013

111158

112529

111157

111138

SN6 / SN7 / SK7

SN6 / SN7 / SK7

SN6 / SN7 / SK7

SN6 / SN7 / SK7

SN6 / SN7 / SK7

SN6 / SN7 / SK7

SL7 / SM7 / ST7
SN6 / SN7 / SK7

SN6 / SN7 / SK7

K001300 - K010603 - K000366

Caliper Tappet Repair Kit 69 mm 
(Locking Boot)

Tappet 69 mm

Bush Ø 16X18/10 mm

Boot 69 mm 

116510
Bush 

Ø 16X18/10 mm

112526
Tappet 69 mm

114510
Boot 69 mm 

116510
Bush 

Ø 16X18/10 mm

112526

114552

Tappet 69 mm

Boot 69 mm Lock�ng

116510
Bush 

Ø 16X18/10 mm

Br�dge Assembly

Spr�ng

112565
Br�dge Assembly

Cal�per
Cal�brat�on Bolt

Spr�ng

118510
Spr�ng

Br�dge 

112529
Br�dge 

118510

111013
Cal�per

Cal�brat�on Bolt

Spr�ng

112526
Tappet 69 mm

Ø 69 mm

Ø 64,50 mm

Ø 69 mm

Ø 64,50 mm

Ø 69 mm

Ø 64,50 mm

Ø 69 mm

Ø 64,50 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 45



Sn
6 

/ S
n7

 / 
Sk

7 

Caliper Repair Kit Caliper Repair Kit

Caliper Repair Kit Caliper Repair Kit

Caliper Repair Kit Caliper repaır Kit  

sb6 / sb7
SN6 / SN7 / SK7

SB6 / SB7
SB7 RADIAL

SL7 / SM7 / ST7
SN6 / SN7 / SK7

SN6 / SN7 / SK7

SN6 / SN7 / SK7

SN6 / SN7 / SK7

111056

111075

111297

111296

111074

111298

111052

111055

K000698 - 3 424 3813 00

SB6 / SB7
SB7 RADIAL

SL7 / SM7 / ST7
SN6 / SN7 / SK7

Caliper Repair Kit Caliper Repair Kit

112515
Gu�de P�n Ø 32/80 mm

113514
Bolt M16X1,5/80 mm

115512
Bolt R�ng 

111053
Cal�per Bush 39 mm (Long Type) 

112515
Gu�de P�n Ø 32/80 mm

113514
Bolt M16X1,5/80 mm

115512
Bolt R�ng 

111057
Cal�per Bush 35 mm (Long Type)

112515
Gu�de P�n Ø 32/80 mm

111076
Cal�per Bush 39 mm (Short Type) 

112515
Gu�de P�n Ø 32/80 mm

111057
Cal�per Bush 35 mm (Long Type)

112515
Gu�de P�n Ø 32/80 mm

113514
Bolt M16X1,5/80 mm

111076
Cal�per Bush 39 mm (Short Type) 

112515
Gu�de P�n Ø 32/80 mm

111061
Cal�per Bush 35 mm (Short Type)

112515
Gu�de P�n Ø 32/80 mm

113514
Bolt M16X1,5/80 mm

112515
Gu�de P�n Ø 32/80 mm

115512
Bolt R�ng 

111053
Cal�per Bush 39 mm (Long Type) 

sb6 / sb7
SN6 / SN7 / SK7

sb6 / sb7
SN6 / SN7 / SK7

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr46



knorr
Caliper Repair Kit Caliper Bridge Repair Kit

Caliper Cap Kit Caliper Repair Kit

Caliper Cap Kit Caliper Bridge Kit  

Caliper Cover Kit

SN6 / SN7 / SK7

SB6 / SB7
SB7 RADIAL

SL7 / SM7 / ST7
SN6 / SN7 / SK7

SB7 RADIAL
SN6 / SN7 / SK7

sb6 / sb7
SN6 / SN7 / SK7

SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7

SL7 / SM7 / ST7
SN6 / SN7 / SK7

SN6 / SN7 / SK7Caliper Cap Kit

111115

112525

115518

111287

111299

111159

115523

113515

113521

111140

115514
Steel Cap Ø 40/14.5 mm

111142

115513
Steel Cap Ø 40/11 mm

111146 111160

sb6 / sb7
SN6 / SN7 / SK7

112527
Gu�de P�n Ø 32/88 mm

113514
Bolt M16X1,5/80 mm

111053
Cal�per Bush 39 mm (Long Type) 

Hous�ng P�n

Hous�ng Clamp 

112527
Gu�de P�n Ø 32/88 mm 111053

Cal�per Bush 39 mm 
(Long Type) 

Cover

Bolt M8X1,25/16 mm

115516
Steel Cap Ø 40/24.5 mm

115524
Cover (W�th Gasket & Nut)

113515
Bolt M8X1,25/16 mm

Bolt 
M8X1,25/50 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 47



Sn
6 

/ S
n7

 / 
Sk

7 

Caliper Adjusting Mechanism Caliper Calibration Bolt

SB6 / SB7
SB7 RADIAL

SL7 / SM7 / ST7
SN6 / SN7 / SK7

SB5 / SB6 / SB7
SB7 RADIAL

SN5 / SN6 / SN7 / SK7
SB6 / SB7

Caliper Adjusting Mechanism Caliper chaın (29 lınks)

Caliper Repair Kit111335

111106

111192

111013

111112

SN6 / SN7 / SK7
SL7 / SM7 / ST7

SB6 / SB7

111112
Cal�per Cha�n (29 l�nks)

111106
Cal�per Adjust�ng Mechan�sm

111196
Cal�per Adjust�ng Shaft

SB6 / SB7
SB7 RADIAL

SL7 / SM7 / ST7
SN6 / SN7 / SK7

Caliper Repair Kit
SN6 / SN7 / SK7
SL7 / SM7 / ST7

SB6 / SB7111290 111291

111107
Cal�per Adjust�ng Shaft 

111112
Cal�per Cha�n (29 l�nks)

111106
Cal�per Adjust�ng Mechan�sm

SN6 / SN7 / SK7
SL7 / SM7 / ST7

SB6 / SB7

111192
Cal�per Adjust�ng Mechan�sm

111107
Cal�per Adjust�ng Shaft 

111112
Cal�per Cha�n (29 l�nks)

Caliper Repair Kit

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr48



knorr
Caliper Adjusting Shaft Caliper Adjusting Shaft

SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7
SN6 / SN7 / SK7111107 111110

Caliper Adjusting Shaft SL7 / SM7 / ST7111196

Caliper Repair Kit SN6 / SN7 / SK7

Caliper Repair Kit

111148

111149 SN6 / SN7 / SK7

115515
Steel Cap

114521
O-R�ng

114517
P�n Boot R�ng (Wh�te)

116510
Bush Ø 16X18/10 mm

116513
Bronze Bush Ø 36X40/82 mm 

114516
Boot (Red)

114518
Outer Boot

114512
Rubber Bush 

Ø 34X40/50 mm

114515115511
Outer Boot Clamp 

115512
Bolt R�ng Plast�c Cover Cap 

Ø 38 mm 

114510
Boot 69 mm 

112526
Tappet 69 mm

114516
Boot (Red)

114518
Outer Boot

114510
Boot 69 mm 

112526
Tappet 69 mm

114512
Rubber Bush 

Ø 34X40/50 mm

114517
P�n Boot R�ng

(Wh�te)

116510
Bush Ø 16X18/10 mm

115511
Outer Boot Clamp 

Ø 69 mm

Ø 64,50 mm

Ø 69 mm

Ø 64,50 mm

PLEASE USE 1111390 FOR ROUND HEAD

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 49



Sn
6 

/ S
n7

 / 
Sk

7 

Caliper Adapter Kit Caliper Repair Kit

SB6 / SB7
SB7 RADIAL

SB6 / SB7
SN6 / SN7 / SK7

SB6 / SB7
SB7 RADIAL

SL7 / SM7 / ST7
SN6 / SN7 / SK7

Caliper Repair Kit Caliper Cap Kit

Caliper Roller Bearing Kit Caliper Brake Pad Retainer Repair Kit

SB6 / SB7
SB7 RADIAL

SB5 / SB6 / SB7
SN6 / SN7 / SK7SN6 / SN7 / SK7

Caliper Brake Pad Retainer Repair Kit Caliper Adjusting Mechanism Gear Kit
SB5 / SN5

SN6 / SN7 / SK7
SL7 / SM7 / ST7

SB6 / SB7

111119 111043

111090 111292

111111

111043

111094 111071

111082 111080

K000133 - 000 420 2582

Z001548

II350470063 - 3 434 3803 00 II39769F0063 - 3 434 3806 00
SB6 / SB7

SB7 RADIAL

Cal�per Adjust�ng Mechan�sm Gear

112533
Adjust�ng Mechan�sm Adapter

114517
P�n Boot R�ng (Wh�te)

114516
Boot (Red)

114518
Outer Boot

115511
Outer Boot Clamp 

115515
Steel Cap

114521
O-R�ng

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr50



knorr
Caliper Seal Kit Caliper Adjusting Mechanism Cap Kit

Caliper Seal Kit Caliper Adjusting Mechanism Cap Kit

Caliper Seal Kit

Caliper Repair KitSN6 / SN7 / SK7
SL7 / SM7 / ST7

sb6 / sb7
SN6 / SN7 / SK7

SB6 / SB7 / SN5
SN6 / SN7 / SK7

SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7
Caliper Lever Bearing Kit 

SN6 / SN7 / SK7111155

114532
Support Seal Ø 42 mm

114533
Support Seal Ø 45 mm

111276

111116
Cal�per Lever Bear�ng

114538

111150

111156

111151

111300

111022

111095

114542
Plast�c Cover Cap Ø 35 mm 

112533
Adjust�ng Mechan�sm

Adapter

114528
Plast�c Cover Cap 

114515
Plast�c Cover Cap  Ø 38 mm 

114542
Plast�c Cover Cap Ø 35 mm 

112533
Adjust�ng Mechan�sm Adapter

112533
Adjust�ng Mechan�sm

Adapter

114528
Plast�c Cover Cap 

114515
Plast�c Cover Cap  Ø 38 mm 

112533
Adjust�ng Mechan�sm Adapter

SB5 / SB6 / SB7
SN6 / SN7 / SK7 K003902 - 000 420 3248

Seal

SN6 / SN7 / SK7

SN6 / SN7 / SK7 Caliper Adjusting Mechanism Cap Kit
K000029 - 000 423 4687 - 81.50822.6021

K000945 - 81.50822.6024 - 8 531 7002 500

Ø 42 mm

Ø 45 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 51



Sn
6 

/ S
n7

 / 
Sk

7 

Caliper Lever (12°)

Caliper Lever (0°) Caliper LeverSN6 / SN7 / SK7

Caliper Lever (0°)

111164

111172 111174

111166

111170111168

Back V�ew Back V�ew

Back V�ew Back V�ew

Back V�ew Back V�ew

SN6 / SN7 / SK7

SN6 / SN7 / SK7 Caliper Lever

Caliper Lever

SN6 / SN7 / SK7

SN6 / SN7 / SK7

SN6 / SN7 / SK7
Sl7

Caliper Repair Kit111367 K001925 - K028451

114516
Boot (Red)

114517
P�n Boot R�ng (Wh�te)

112517
Gu�de P�n Ø 36/102 mm

113513
Bolt M16X1,5/85 mm

112515
Gu�de P�n Ø 32/80 mm

116520
Bronze Bush

Ø36X40/70 mm

115514
Steel Cap

Ø 40/14.5 mm

111076
Bush Ø39 mm (Short Type)

113514
Bolt M16X1,5/80 mm

SN6 / SN7 / SK7

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr52



knorr
SN6 / SN7 / SK7Caliper Complete Repair Kit

Caliper Complete Repair Kit

Caliper Complete Repair Kit

Caliper Complete Repair Kit

111163

111158

111154

111164

111165

111166

111167

111168

111169

111170

SN6 / SN7 / SK7

SN6 / SN7 / SK7

SN6 / SN7 / SK7

111013

111112

116510

111107

111106

114510

112526

111013

111112

116510

111107

111106

114510

112526

111013

111112

116510

111107

111106

114510

112526

111013

111112

116510

111107

111106

114510

112526

111154

111158

111119

111119

111119

111119

PLEASE ORDER WITH 111163TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111165TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111167TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111169TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 53



Sn
6 

/ S
n7

 / 
Sk

7 

SN6 / SN7 / SK7Caliper Complete Repair Kit111171

111154

111013

111112

111119116510

111107

111106

114510

112526
111172

SN6 / SN7 / SK7Caliper Complete Repair Kit111173

111013

111112

111119116510

111107

111106

114510

112526

111174

111158

PLEASE ORDER WITH 111171TRX FOR 111192 TORX HEAD
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111173TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

SN6 / SN7 / SK7Caliper Complete Repair Kit111378

111013

111112

111021116510

111107

111106

114510

112526

PLEASE ORDER WITH 111378TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

111154

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr54



knorr

Caliper Plastic Cover (Blank)111096

111100

111097 With 2 Wires Sensor

With 3 Wires Sensor - MB111098

With 3 Wires Sensor - MAN TGA111099

Sb6 / Sb7
Sn6 / Sn7 / SK7

TO ORDER WITH PLUG PLEASE USE
111205 PART NUMBER

Sb6 / Sb7
Sn6 / Sn7 / SK7

TO ORDER WITH PLUG PLEASE 
USE 111216 PART NUMBER

Caliper Plastic Cover (Blank)

With 2 Wires Sensor

With 3 Wires Sensor - MB

With 3 Wires Sensor - MAN 

Sb6 / Sb7
Sn6 / Sn7 / SK7

111101 

111102 

111281

Sb6 / Sb7
Sn6 / Sn7 / SK7

PLEASE ORDER WITH 111206 PART NUMBER FOR CLOSED HOLE

PLEASE ORDER WITH 111217 PART NUMBER FOR CLOSED HOLE

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 55



Sn
6 

/ S
n7

 / 
Sk

7 

Sb5
SB6 / Sb7

SB7 RADIAL
SL7 / SM7 / St7
SN6 / SN7 / SK7

111209 Caliper Sensor (3 Wires Sensor MB)

111230 2 Wires Sensor

111231 3 Wires Sensor - MAN

111232 3 Wires Sensor - MAN TGA 5,5 Cycle

111233 3 Wires Sensor - MAN 4,5 Cycle

Caliper Sensor Test Device111210 KNORR

SB6 / SB7 
SN6 / SN7 / SK7

NA7 / ST7

Caliper Plastic Cover (blank)111222

With 2 Wires Sensor111223

111224 With 3 Wires Sensor - MB

111225 With 3 Wires Sensor - MAN 

Caliper Plastic Cover (Blank) Caliper Steel Sensor Cover111197 111273Sb6 / Sb7
Sn6 / Sn7 / SK7 KNORR

CONNECTION FOR
MERCEDES AND MAN

CLIPS AND GROOVE FOR
SCANIA, DAF AND IVECO

Caliper Sensor TEST DEVICE111360 KNORR

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr56



knorr

Caliper Seal Kit Caliper Plastic Cover Gasket111104

114530

111105SB6 / Sb7
SN6 / SN7 / SK7

SB6 / Sb7
SN6 / SN7 / SK7

Support Seal 

Sb6 / Sb7
Sn6 / Sn7 / SK7

Caliper Adjuster Plastic Kit Ø 8.40 mm111283

Caliper Adjuster Plastic Kit Ø 9.80 mm111228

Caliper Adjuster Plastic Kit111103

114529 Sensor Adjuster Plast�c (5.3 mm) 
114540 Sensor Adjuster Plast�c (9.8 mm) 
114551 Sensor Adjuster Plast�c (8.4 mm)

Caliper Plastic Cap Kit (Red) Caliper Plastic Cap Kit (Green)SB5 / SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7

114547

111257 111258

114546

SB5 / SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7

Plast�c Cap (Red) Plast�c Cap (Green)

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 57



Sn
6 

/ S
n7

 / 
Sk

7 

SN6 / SN7 / SK7

SN6 / SN7 / SK7

SN6 / SN7 / SK7

Caliper Complete Repair Kit 

 Caliper Complete Repair Kit 

Caliper Complete Repair Kit 

111301

111013

111159
111107 111106

111144 111158

111021

111112

111161

111303

111302

111119

111013

111159
111107 111106

111158 111112

111161

111294

111119

111013

111159
111107 111106

111154 111112

111161

111294

PLEASE ORDER WITH 111301TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111302TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111303TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111389 FOR 
111170 LEVER INCLUDED FOR SCANIA OLD MODELS

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr58



knorr
SN6 / SN7 / SK7

SN6 / SN7 / SK7

Caliper Complete Repair Kit

 Caliper Complete Repair Kit

111304

111013

111159
111106

111158

111021

111112

111305

111119111013

111107 111106111112
111161

111141

111152

111049

111252

111154

PLEASE ORDER WITH 111304TRX FOR 111192 TORX HEAD
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111305TRX FOR 111192 TORX HEAD
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

Caliper Brake Pad Retainer Repair Kit111092 SB6 / SB7
SB7 RADIAL

Caliper Brake Pad Retainer Repair Kit111086 SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7
K000884

111085
Cal�per Pad Reta�ner Repa�r K�t

111092
Cal�per Brake Pad Reta�ner Repa�r K�t

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 59



Sn
6 

/ S
n7

 / 
Sk

7 

SN6 / SN7 / SK7

SN6 / SN7 / SK7

Caliper Complete Repair Kit 

Caliper Complete Repair Kit 

111357

111013

111159
111107 111106

111054 111158

111021

111112

111161

111358

111119

111013

111159
111107 111106

111154 111112

111161

111139

PLEASE ORDER WITH 111357TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

PLEASE ORDER WITH 111358TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

SN6 / SN7 / SK7Caliper Complete Repair Kit 111387

111013

111273

111144 111158 111112

PLEASE ORDER WITH 111387TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

111119

111109

111160 111252111106

111166

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr60



knorr

111185 Caliper Repair Kit

111306 Caliper Brake Pad Retainer Repair Kit

BENDIX
381.413 - 93161192

ıı33692 BENDIX

BENDIXCaliper Repair Kit111184

112531
Gu�de P�n Ø 45/150 mm

112532
Gu�de P�n Ø 24/92 mm

381.391 - 93161189

116517
Te�on Bush

113520
Bolt M16X1,5/124 mm

116518
Rubber Bush

113519
Bolt M22X1,5/175 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 61



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr62



SL7...
SM7...
ST7...

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 63



SL
7 

/ S
M

7 
/ S

T7
 

Caliper Tappet Kit

Caliper Calibration Bolt Sl7 Caliper Calibration Bolt SL7 / SM7 / ST7

Caliper Tappet Kit

Caliper Tappet Kit 69 mm

Caliper Tappet Kit 69 mm

SL7 / SM7 / ST7

Caliper Tappet Repair Kit 69 mm 
(Locking Boot) SL7 / SM7 / ST7 Caliper Tappet Repair Kit 69 mm

(Locking Boot) SL7 / SM7 / ST7

111212

112555

115528
C�rcl�p 

115528

112555

114510

111213

115528

112555

111313

114510

111178

112530

116516

111179

112530

116516

111307

112530

111211 111176

Back V�ew

SL7 / SM7 / ST7 SL7 / SM7 / ST7

SL7 / SM7 / ST7
K046523K50 - 000 423 0316

SL7 / SM7 / ST7

PLEASE ORDER WITH P/N 111180 FOR HALF KIT

116516

C�rcl�p 

C�rcl�p 

Tappet

Tappet

Tappet

Tappet 69 mm

Tappet 69 mm

Tappet 69 mm

Bush Ø 15X17/8 mm

Bush 
Ø 15X17/8 mm

Bush 
Ø 15X17/8 mm

Boot 69 mm 
Boot 69 mm 

114552114552
Boot 69 mm Lock�ng Boot 69 mm Lock�ng

8 mm

Ø 54 mm

Back V�ew

Back V�ew

Back V�ew

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr64



knorr
Caliper Adjusting Mechanism

SB6 / SB7
SB7 RADIAL

SL7 / SM7 / ST7
SN6 / SN7 / SK7

Caliper Adjusting MechanismSB6 / SB7

Caliper Adjusting Mechanism SL7 / SM7 / ST7Caliper Adjusting ShaftSL7 / SM7 / ST7

Caliper Adjusting Shaft Caliper Adjusting Shaft

Caliper Chain (29 Links) SB6 / SB7
SB7 RADIAL

SL7 / SM7 / ST7
SN6 / SN7 / SK7

111106 111192

111196

111112

SN6 / SN7 / SK7 SL7 / SM7 / ST7

Caliper Cover Kit SL7 / SM7 / ST7

111195

111152

111308

111214

PLEASE USE 1111390 FOR ROUND HEAD

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 65



SL
7 

/ S
M

7 
/ S

T7
 

Caliper Bridge Kit  

Caliper LEVER

Caliper Lever

Caliper Repair Kit

Caliper Lever

Sm7500

Caliper Repair Kit SL7 / SM7 / ST7 Caliper Bridge Kit  SL7 / SM7 / ST7

St7 SL7 / SM7 / ST7

SL7 / SM7 / ST7
SN6 / SN7 / SK7

111268 111183

111158

112529
118510

112529

118510

111013

111211

111157

111310

111176

111177

111353

SL7 / SM7 / ST7
SN6 / SN7 / SK7

Back V�ew Back V�ew

Br�dge 
Spr�ng

Br�dge 

Spr�ng

Cal�per Cal�brat�on Bolt

112529
Br�dge 

118510
Spr�ng

Cal�per Cal�brat�on Bolt 

112529
Br�dge 

118510
Spr�ng

Cal�per Cal�brat�on 
Bolt SL7

8 mm

111174

Back V�ew

Caliper Lever SN6 / SN7 / SK7
Sl7

Back V�ew

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr66



knorr

Caliper Sensor Holder Kit Caliper Bolt Kit
SB5 / SN5

SN6 / SN7 / SK7
SL7 / SM7 / ST7

SB6 / SB7

SB5 / SN5
SL7 / SM7 / ST7111282

Sb6 / Sb7
SM7 / NA7 / ST7 
Sn6 / Sn7 / SK7

111097 With 2 Wires Sensor

With 3 Wires Sensor - MB111098

With 3 Wires Sensor - MAN TGA111099

Caliper Plastic Cover (Blank)111096

111274

113526
Bolt M16 x 1.5/50 mm

114550
Sensor Holder

SN6 / SN7 / SK7
SL7 / SM7 / ST7

SB6 / SB7

114529 Sensor Adjuster Plast�c (5.3 mm) 
114540 Sensor Adjuster Plast�c (9.8 mm) 
114551 Sensor Adjuster Plast�c (8.4 mm)

Caliper Adjuster Plastic Kit Ø 8.40 mm111283

Caliper Adjuster Plastic Kit Ø 9.80 mm111228

Caliper Adjuster Plastic Kit111103

Caliper Roller Bearing Kit Sm7 / ST7111181 Caliper Roller Bearing Kit Sl7111309

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 67



SL
7 

/ S
M

7 
/ S

T7
 

111175

111043
Cal�per Pad Reta�ner Repa�r K�t

112533
Adjust�ng

Mechan�sm
Adapter

114515
Plast�c 

Cover Cap
Ø 38 mm

114517
P�n Boot R�ng

(Wh�te)

K012912

112518112515
Gu�de P�n Ø 32/80 mm Gu�de P�n Ø 36/114 mm

113513
Bolt M16X1,5/85 mm

113514
Bolt M16X1,5/80 mm

115514
Steel Cap 

Ø 40/14.5 mm

Caliper Guides & Caps Repair Kit 
SB6 / SB7

SB7 RADIAL
SM7

111141 Caliper Repair Kit
K001915 - K048389K50 - K099604K50

SB6 / SB7
SB7 RADIAL

SL7 / SM7 / ST7
SN6 / SN7 / SK7

116513
Bronze Bush Ø 36X40/82 mm 

PLEASE USE KRG EXTENSION TO ORDER WITH CHROME GUIDE PINS (KR) AND GREASE (G) - 111141KRG

114516
Boot (Red)

111076
Cal�per Bush 39 mm (Short Type) 

114517
P�n Boot R�ng (Wh�te)

113514 113513
Bolt M16X1,5/85 mmBolt M16X1,5/80 mm

115514
Steel Cap 

Ø 40/14.5 mm

112518
Gu�de P�n Ø 36/114 mm

112515
Gu�de P�n Ø 32/80 mm

Caliper Plastic Cap Kit (Red) Caliper Plastic Cap Kit (Green)SB5 / SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7

114547

111257 111258

114546

SB5 / SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7

Plast�c Cap (Red) Plast�c Cap (Green)

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr68



knorr
Caliper Seal Kit

SB6 / SB7 / SN5
SN6 / SN7 / SK7

114538

111150

111022

114515
Plast�c Cover Cap  Ø 38 mm 

112533
Adjust�ng Mechan�sm

Adapter

SB5 / SB6 / SB7
SN6 / SN7 / SK7

Seal

Caliper Adjusting Mechanism Cap Kit
K000029 - 000 423 4687 - 81.50822.6021

Caliper Brake Pad Retainer Repair Kit SB5 / SB6 / SB7
SN6 / SN7 / SK7111043 K000133 - 000 420 2582

Caliper Repair Kit SB6 / SB7
SB7 RADIAL

SN6 / SN7 / SK7111095

114528
Plast�c Cover Cap 

114515
Plast�c Cover Cap  Ø 38 mm 

112533
Adjust�ng Mechan�sm Adapter

K000945 - 81.50822.6024 - 8 531 7002 500

Caliper Cover Kit SN6 / SN7 / SK7

113521

111160

115524
Cover (W�th Gasket & Nut)

113515
Bolt M8X1,25/16 mm

Bolt 
M8X1,25/50 mm

Caliper Repair Kit111075
SB6 / SB7

SB7 RADIAL
SL7 / SM7 / ST7
SN6 / SN7 / SK7

112515
Gu�de P�n Ø 32/80 mm

113514
Bolt M16X1,5/80 mm

111076
Cal�per Bush 39 mm (Short Type) 

Caliper Cover Kit ST7 St7111359

115534
Cover (W�th Gasket)

113515
Bolt M8X1,25/16 mm

Caliper BOLT TOOL111270

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 69



SL
7 

/ S
M

7 
/ S

T7
 

Caliper LEVER KIT Caliper BRIDGE KIT111398 111399

111391 Caliper Repair Kit
K227067K50 SYT7000/7001

116521
Bush Ø 36X40/25 mm 

114516
Boot (Red)

114517
P�n Boot R�ng

(Wh�te)

112518
Gu�de P�n Ø 36/114 mm

112522
Gu�de P�n Ø 36/64 mm

113513
Bolt M16X1,5/85 mm

113518
Bolt  M16X1,5/70 mm

115514
Steel Cap 

Ø 40/14.5 mm

115516
Steel Cap 

Ø 40/24.5 mm

116522
Bush 

Ø 36X40/25 mm

PLEASE USE KRG EXTENSION TO ORDER WITH CHROME GUIDE PINS (KR) AND GREASE (G) - 111391KRG

SYT7000/7001 SYT7000/7001

Caliper PLASTIC COVER (BLANK) Caliper TAPPET KIT 71 MM.111395 111396SYT7000/7001 SYT7000/7001

Caliper CALIBRATION BOLT Caliper COVER KIT111397 111400SYT7000/7001 SYT7000/7001

114559112586 116516
Tappet 71 mm Bush 

Ø 15X17/8 mmBoot 71 mm 

K227467K50

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr70



knorr

Brake Pad Retainer Repair Kit111394 SYT7000/7001 Caliper Seal Kit111155

114532
Support Seal Ø 42 mm

Ø 42 mm

SYT7000/7001

Caliper ADJUSTING MECHANISM Caliper ROLLER BEARING KIT111401 111402SYT7000/7001 SYT7000/7001

111403 Caliper Complete Repair Kit

111398

111399

111401

111400

111391 111397

111402 111396

SYT7000/7001

111395 111394 114532

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 71



SM7

SL
7 

/ S
M

7 
/ S

T7
 

Caliper Complete Repair Kit111311

111176

111152

111158

111181

111160

111312

111106

111112
111141

Caliper Complete Repair Kit Sl7

111178

111152

111158

111214

111106

111112
111141 111211

111309
111313

PLEASE ORDER WITH 111311TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECH.

PLEASE ORDER WITH 111312TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECH.

Caliper Complete Repair Kit111351

111112
111152

111106

114510
111158

111268

111181

112530

111176 116516

St7PLEASE ORDER WITH 111351TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr72



knorr
Caliper Complete Repair Kit111182

111112
111152

111106

114510
111158

111183

111181

112530

111176 116516

SL7 / SM7PLEASE ORDER WITH 111182TRX FOR 111182 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

St7Caliper Complete Repair Kit111269

111013

111112

111119116510

111107

111106

114510

112526

111268

111158

PLEASE ORDER WITH 111269TRX FOR 111192 TORX HEAD 
ADJUSTING MECHANISM INSTEAD OF 111106 ADJUSTING MECHANISM

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 73



ca
rr

ıe
r

266 mm

211 mm

212 mm

 338 mm
 360 mm

M16x1,5mm 218,5 mm

174 mm

228 mm

 288 mm
 309 mm

M16x1,5mm

M16x1,5mm

Caliper Carrier 22.5"111202 111203 Caliper Carrier 17.5"knorr knorrK108814 - K50K001510 K001927 - 000 421 3006 - 2121599

Caliper Carrier DAF 19.5" 111220111207 Caliper Carrier MAN TGAknorr knorrK001278

Caliper Carrier Bus 19.5" Caliper Carrier Man 12-160111200 111201 K005606knorr knorrK003673 - K001105

Caliper Carrier MB4140 111229111221 Caliper Carrier 22.5" Front (Left&Right)knorr knorrK000026 - Z007541 - 000 421 1106K046498K50 - 000 421 5706

286 mm

248 mm

M16x1,5mm

264 mm

 392 mm

348 mm

M20x1,5mm

214 mm
300 mm

 316 mm

220 mm

174 mm

M16x1,5mm

285 mm

248 mm
M16x1,5mm

290 mm

408 mm

380 mm
220 mm
380 mm

 408 mm

286 mm

248 mm
M16x1,5mm

M18x1,5mm

286 mm

245 mm
M16x1,5mm

210 mm

400 mm

378 mm
210 mm
378 mm

 400 mm

286 mm

248 mm
M16x1,5mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr74



knorr

Caliper Carrier Front111247 111248 Caliper Carrier 22.5"knorr knorrK001538 K000027 - Z006582 - 000 423 0606

Caliper Carrier iveco 111250111249 Caliper Carrier 22.5" (Left&Right)knorr knorrZ046338 - 000 421 5706

Caliper Carrier Daf 22.5" Caliper Carrier MB AXOR111238 111239 K000028 - 000 421 1206knorr knorr73355

Caliper Carrier Bus 22.5" (Left&Right) 111261111251 Caliper Carrier 22.5"knorr knorrK015308 - Z019050K001529 - K001530 - 000 421 3706 / 000 421 3806

K002314

286 mm

248 mm

290 mm

 378 mm
 400 mm

M16x1,5mm

M20x2,5mm

286 mm

248 mm

210 mm

 378 mm
 400 mm

M16x1,5mm

286 mm

248 mm

210 mm

 378 mm
 400 mm

M16x1,5mm
286 mm

248 mm

210 mm

 322 mm
350 mm

M16x1,5mm

266 mm

211 mm

297 mm

 360 mm

341 mm

M16x1,5mm 286 mm

245 mm

210 mm

 378 mm
400 mm

M16x1,5mm

286 mm

246 mm

290 mm

 380 mm

408 mm

M16x1,5mm 266 mm

211,70 mm

216 mm

 316 mm

M16x1,5mm

M18x1,5mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 75



ca
rr

ıe
r

Caliper Carrier Schmitz Trailer111264 111265 Caliper Carrier BPW Axleknorr knorrK007475 - Z000968 K001505

Caliper Carrier 22.5" 111316111315 Caliper Carrier 19.5" Left & Rightknorr knorrK004679 - 2379695 - 01.303.88.55.0

Caliper Carrier 22.5" Caliper Carrier SL7 Rear 22,5" (Left-Right)111262 111263 K052379K50 - Z025197 - 000 423 1006knorr knorrK011479 - 1689314 - Z006590

Caliper Carrier 22.5" SK7 111318111317 Caliper Carrier 22.5"knorr knorrK004680 - 2379696 - 01.303.88.57.0K004099 - Z012024 - 2121600

K012619 - Z006715 - 2379697

286 mm

248 mm

290 mm

 378 mm
 400 mm

M16x1,5mm

M18x2,5mm

277,50 mm

208 mm

210 mm

 322,50 mm
350,50 mm

M16x1,5mm

266 mm

211 mm

149 mm
196 mm

202 mm

M16x1,5mm
286 mm

248 mm

220 mm

 310 mm

400 mm

M16x1,5mm

266 mm

211 mm

M16x1,5mm

298 mm
366 mm

M16x1,5mm

34 mm

266 mm

211,50 mm

298 mm
 366 mm

M16x1,5mm

M16x1,5mm

34 mm

266 mm

211 mm

M16x1,5mm

378 mm
400 mm

210 mm

286 mm

248 mm
M16x1,5mm

298 mm
365,80 mm

434 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr76



knorr

Caliper Carrier 19.5" Left & Right111321 111322 Caliper Carrier 22.5" Left & Rightknorr knorrZ017557 K001275 - 000 421 2506

Caliper Carrier 22.5" Left & Right SCANIA 111324111323 Caliper Carrier 22.5" Left & Right SCANIAknorr knorrK010765 - 1756388

Caliper Carrier 19.5" MB ATEGO Caliper Carrier 19.5" Left & Right111319 111320 Z019053 - K015378knorr knorrK000690 - K001926 - 000 421 2006 - 000 421 3106

Caliper Carrier 22.5" Left & Right DAF 111326111325 Caliper Carrierknorr knorrK001525K001337 - SN7138 - 1612741

K001507

266 mm

211 mm

176 mm

 341 mm
 360 mm

M16x1,5mm
266 mm

211,50 mm

216 mm

 316 mm

M16x1,5mm
M18x1,5mm

266 mm

211 mm

176 mm
 340 mm

 360 mm

M16x1,5mm
286 mm

248 mm

176 mm
 340,50 mm

 360 mm

M16x1,5mm

286 mm

248 mm

290 mm

 378 mm

M16x1,5mm

M18x2,5mm

400 mm

286 mm

248 mm

290 mm

 380 mm

400 mm

M16x1,5mm

M20x2,5mm

437 mmM12x1,5mm

286 mm

248 mm

290 mm

 378 mm

M16x1,5mm

400 mm

286 mm

248 mm

378 mm

400 mm

M16x1,5mm

M20x1,5mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 77



ca
rr

ıe
r

Caliper Carrier Right111329 111330 Caliper Carrier MB ATEGOknorr knorrK001497 K001494 - 000 421 1306

Caliper Carrier MB ATEGO 111332111331 Caliper Carrier Left IVECOknorr knorrK002313

Caliper Carrier SCHMITZ Caliper Carrier Left111327 111328 K004206knorr knorrK108001K50

111334 Caliper Carrier 22.5" DAF knorr73355

K000358 - 000 421 1606

278 mm

215,50 mm

149 mm

 196 mm
202 mm

M16x1,5mm
266 mm

M16x1,5mm211 mm

176 mm

266 mm

M16x1,5mm211 mm

176 mm

266 mm M16x1,5mm

211 mm

176 mm
341 mm

360 mm

216 mm
M16x1,5mm174 mm

214 mm
300 mm

316 mm

M16x1,5mm
266 mm

211 mm

341mm

297 mm

360 mm

286 mm
M16x1,5mm

248 mm

290 mm
378 mm

400 mm

M20x2,5mm

111334 knorr

M16x1,5mm
266 mm

211 mm

341mm

297 mm

360 mm

Caliper Carrier rıght IVECO
K002314

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr78



knorr

KNORRCaliper Repair Tools Bag111255

Caliper Bolt Kit111365

113524
Bolt M10 x 1.5/60 mm

knorrCaliper Bolt Kit111364

113525
Bolt M12 x 1.75/80 mm

knorr

Caliper Carrier 22.5" ZF AXLE Caliper Carrier SYT111386 111404 K227032K50knorr knorrK001502 - 0501214701

286 mm

248 mm

 326 mm

 406 mm

M16x1,5mm

M20x1,5mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 79



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr80



MERITOR ELSA 1

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 81



ELSA 1

EL
SA

 1

Caliper Repair Kit122010

122016

122511
Gu�de P�n Ø 35/73 mm

126510

123511
Gu�de P�n Bolt M20X1,5/90 mm

122514

R�ng

124510
P�n Boot

122510
Gu�de P�n Ø 35/135 mm

123510
Gu�de P�n Bolt M20X1,5/150 mm

125510
Steel Cap Ø 45/28 mm

126511
Bush Ø 35X39/30 mm

122515
Gu�de P�n Ø 28,50/110 mm

126512
Bush Ø 28.5X40/27 mm

122512
R�ng Ø 36X39/15 mm

122513
R�ng Ø 37X40/15 mm

122010 + 122011 BOOT KIT = 122012 CALIPER REPAIR KIT WITH BOOTS

Oval Bush 
Ø 35-37X40/33 mm  R�ng

R�ng Ø 37X48/14 mm

R�ng

124510
Boot

122510
Gu�de P�n Ø 35/135 mm

123510
Gu�de P�n Bolt M20X1,5/150 mm

125510
Steel Cap Ø 45/28 mm

126511
Bush Ø 35X39/30 mm

122512
R�ng Ø 36X39/15 mm

122516
R�ng Ø 40X20  mm

R�ng

122016 + 122011 BOOT KIT = 122014 CALIPER REPAIR KIT WITH BOOTS

MCK1102 - ST1157

Caliper Repair Kit
MCK1103 - 81.50802.6022 ELSA 1

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr82



M
ERITOR

Caliper Boot Kit

Caliper Gear Mechanism (Left) 
68322562 - 3092280

Caliper Boot Kit

Caliper Gear Mechanism (Right) 
68322563 - 3092281

Caliper Cover Bolt Kit Caliper Bush Kit
ELSA 1

ELSA 195 / 225
ELSA 2

122017 122018

122360

124560
Support Seal 

124520
Support Seal 

126534
Bush

122316

123530
Bolt M16X1,5/55 mm

123543
Bolt M14X1,5/90 mm

124510
Boot

122013 122011

124511
Tappet Dust Cover 

122015

ELSA 1 ST1156 - 81.50802.6016 ELSA 1

duco
elsa 1

duco
elsa 1

ELSA 1

Caliper Bush and Seal Kit ELSA 1

R�ght Hand

126511
Bush Ø 35X39/30 mm

Reverse Thread
Left Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 83



EL
SA

 1

Caliper Adjusting Mechanism ELSA 1

Caliper Adjusting Mechanism Clutch (Right)Caliper Adjusting Mechanism Clutch (Left) ELSA 1 ELSA 1

Caliper Calibration Mechanism KitCaliper Calibration Mechanism Kit ELSA 1 ELSA 1

Caliper Adjusting Mechanism Clutch Kit 
(Right)

Caliper Adjusting Mechanism Clutch Kit 
(Left) ELSA 1 ELSA 1

Caliper Calibration Mechanism KitCaliper Calibration Mechanism Kit ELSA 1 ELSA 1

122362

122034
Adjust�ng

Mechan�sm
(R�ght)

122033
Adjust�ng 

Mechan�sm 
(Left)

122034122033

122361

122032
Cal�per 

Adjust�ng
Mechan�sm

122364

122038122037

122524
Adjust�ng Mechan�sm

(R�ght - Old Type)

122523
Adjust�ng Mechan�sm

(Left - Old Type)

125511
Mechan�sm Reta�ner

122363

122032

122032
Cal�per 

Adjust�ng
Mechan�sm

125511
Mechan�sm Reta�ner

122523
Adjust�ng Mechan�sm

(Left - Old Type)

122032
Cal�per 

Adjust�ng
Mechan�sm

125511
Mechan�sm

Reta�ner
122032
Cal�per 

Adjust�ng
Mechan�sm

125511
Mechan�sm

Reta�ner
122524

Adjust�ng Mechan�sm
(R�ght - Old Type)

Ø 44mm

Ø 48 mm Ø 48 mm

Ø 44mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr84



M
ERITOR

ELSA 1

Caliper Gear Bush Kit 37.5 mmCaliper Gear Bush Kit 35 mm ELSA 1 ELSA 1

122026

122290 122291

126532
Bush Ø 37,5 mm 

126531
Bush Ø 35 mm

Left Hand
Reverse Thread

122024
Adjusting Gear Ø 35 mm

122517
Steel Cap

122518
Intermediate Gear 35 mm.

128530
Spring

122026 + 122290 = 122415

Caliper Adjusting Gear KIT 35 mm (Left) 

ELSA 1122027

Right Hand

122025
Adjusting Gear Ø 35 mm

122517
Steel Cap

122518
Intermediate Gear 35 mm.

128530
Spring

122027 + 122290 = 122416

Caliper Adjusting Gear KIT 35 mm (RIGHT) 

ELSA 1122030

122028
Adjusting Gear Ø 37.5 mm

122517
Steel Cap

122519
Intermediate Gear 37.5 mm.

128530
Spring

122030 + 122291 = 122417

Caliper Adjusting Gear KIT 37.5 mm (LEFT) 

Left Hand
Reverse Thread

ELSA 1122031

122029
Adjusting Gear Ø 37.5 mm

122517
Steel Cap

122519
Intermediate Gear 37.5 mm.

128530
Spring

122031 + 122291 = 122418

Caliper Adjusting Gear KIT 37.5 mm (RIGHT) 

Right Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 85



EL
SA

 1

Caliper Lever RIGHT

Caliper Lever Kit RIGHT

Caliper Lever Kit LEFT

Caliper Lever LEFT Elsa 1 Radial / Axial122279

122281

122365

122366

122678 + 122525 = 122278

122678
Cal�per Lever

122042 
Roller Bear�ngs 

122525
Roller

Back V�ew

122679
Cal�per Lever

122042 
Roller Bear�ngs 

122525
Roller

Back V�ew

122679 + 122525 = 122280

122676
Cal�per Lever

122042 
Roller Bear�ngs 

122525
Roller

Back V�ew

122042 
Roller Bear�ngs 

122525
Roller

Back V�ew

122677
Cal�per Lever

Elsa 1 Radial / Axial

Elsa 1 

Elsa 1 

122676 + 122525 = 122039

122677 + 122525 = 122040

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr86



M
ERITOR

Caliper Roller Bearing Kit

Caliper Spring Retainer Kit (Left)  

Caliper Roller Bearing Kit

Caliper Brake Pad Retainer Repair Kit Caliper Pad Retainer Repair Kit

DUCO
ELSA 1

ELSA 195 / 225
ELSA 2

elsa 1

ELSA 1

Caliper Cover ELSA 1

122041 122042

122036122035

122525
Roller 

122042 
Roller Bear�ngs 

122081
Lever Bush 

122317 122367

122019

SJ4112 - 3092329

DUCO
ELSA 1

ELSA 195 / 225
ELSA 2

elsa 1Caliper Spring Retainer Kit (rıght)  

elsa 1
d3

68321678

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 87



EL
SA

 1

elsa 1Caliper Gasket

Caliper Gasket

122021

122023 elsa 1

elsa 1Caliper Gasket122022

elsa 1Caliper Gasket122023

elsa 1Caliper Gasket122424

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr88



M
ERITOR

Caliper Complete Repair Kit LEFT ELSA 1122043

122044

122014 122017

122019 122032

122026 122033

122359 

122676

122022

Caliper Complete Repair Kit ELSA 1

122035

122014 122018

122019 122032

122027 122034

122359 

122677

122022

122036

Reverse Thread
Left Hand

Left Hand

R�ght Hand

R�ght Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 89



EL
SA

 1

Caliper Complete Repair Kit ELSA 1122045

122046

122014 122017

122019 122032

122030 122033

122359 

122676

122021

Caliper Complete Repair Kit ELSA 1

122035

122014 122018

122019 122032

122031

122359 

122677

122021

122036

122034

Reverse Thread
Left Hand

R�ght Hand

Left Hand

R�ght Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr90



M
ERITOR

Caliper Repair Kit ELSA 1122314

122315

122019 122032

122026 122037

122359 

122678

122023

ELSA 1

122035

122011122010

Caliper Repair Kit

122019 122032

122027 122038

122359 

122679

122023

122036

122011122010

R�ght Hand

Left Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 91



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr92



MERITOR ELSA 2
195/225

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 93



EL
SA

 2
 / 

19
5 

/ 2
25

 Caliper Repair Kit
MCK1140 - MCK1243 elsa 2

Caliper Repair Kit
MCK1086 - 5001 858 717

122061

Gu�de P�n
Ø 35/144 mm

123515
Gu�de P�n Bolt

M18X1,5/150 mm

123516
Gu�de P�n Bolt

M18X1,5/90 mm

122528
Gu�de P�n

Ø 31/84 mm

124515
Boot

125512
Steel Cap Ø 44/28 mm

123512
Bolt M16X1,5/40 mm

122529
R�ng

Ø 37X42/14 mm

123513
Bolt 

M10X1,25/20 mm

126511
Bush

Ø 35X39/30 mm

126514
Bronze Oval Bush 

Ø 31-33X42/30 mm

122066

122530
Gu�de P�n Ø 35/126 mm

123510
Gu�de P�n Bolt

M20X1,5/150 mm

123511
Gu�de P�n Bolt

M20X1,5/90 mm
125514

R�ng 
Ø 35X43/2.5 mm

122531
Gu�de P�n (Oval) 
Ø 33-35/66 mm  

elsa 2

122527

Caliper Repair Kit122269 elsa 2

125512
Steel Cap Ø 44/28 mm

126514
Bronze Oval Bush 

Ø 31-33X42/30 mm
Gu�de P�n

Ø 35/144 mm

122528
Gu�de P�n

Ø 31/84 mm

122527

123515
Gu�de P�n Bolt

M18X1,5/150 mm

123516
Gu�de P�n Bolt

M18X1,5/90 mm124515
Boot

122529
R�ng

Ø 37X42/14 mm

126511
Bush

Ø 35X39/30 mm

124515
Boot

125512
Steel Cap Ø 44/28 mm

123512
Bolt M16X1,5/40 mm

123513
Bolt 

M10X1,25/20 mm

126511
Bush

Ø 35X39/30 mm

122066 +  122053 = 122067 CALIPER REPAIR KIT WITH BOOT KIT

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr94



M
ERITOR

Caliper Repair Kit
MCK1317 - 85109889

ELSA 195 / 225

123518
Gu�de P�n Bolt

M18X1,5/120 mm

124515
Boot

Steel Cap Ø 44/20 mm
123512

Bolt M16X1,5/40 mm

122548
R�ng

Ø 37X40/11 mm

126511
Bush

Ø 35X39/30 mm

126514
Bronze Oval Bush 

Ø 31-33X42/30 mm

Caliper Repair Kit
MCK1298 - 85109890 - 5001 866 989

Caliper Repair Kit
MCK1254

122096

125519
122536

Gu�de P�n
Ø 35/117 mm

122541
Gu�de P�n 

Ø 31/117 mm

122092

122094

123518
Gu�de P�n Bolt M18X1,5/120 mm

123519
Gu�de P�n Bolt M18X1,5/82 mm

122537
Gu�de P�n

Ø 31/78 mm123521123520
122536

Gu�de P�n
Ø 35/117 mm

ELSA 195 / 225

ELSA 195 / 225

126514
Bronze Oval Bush 

Ø 31-33X42/30 mm

Steel Cap Ø 44/20 mm
125519

126511
Bush

Ø 35X39/30 mm

122548
124515

Boot

Bolt M14X1,5/40 mm Bolt M16X1,5/40 mm

123520
126514

Bronze Oval Bush 
Ø 31-33X42/30 mm

Steel Cap Ø 44/20 mm
125519

126511
Bush

Ø 35X39/30 mm

Bolt M14X1,5/40 mm

124515
Boot

122548
R�ng

Ø 37X40/11 mm

122537
Gu�de P�n

Ø 31/78 mm

122536
Gu�de P�n

Ø 35/117 mm

123518
Gu�de P�n Bolt M18X1,5/120 mm

123519
Gu�de P�n Bolt M18X1,5/82 mm

R�ng
Ø 37X40/11 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 95



EL
SA

 2
 / 

19
5 

/ 2
25

 Caliper Repair Kit
MCK1289 - 81.50802.6026 elsa 2122063

122063 + 122053 = 122064 CALIPER REPAIR KIT WITH BOOT KIT

Gu�de P�n
Ø 35/144 mm

122528
Gu�de P�n

Ø 31/84 mm
125512

Steel Cap Ø 44/28 mm
123512

Bolt M16X1,5/40 mm

123513
Bolt 

M10X1,25/20 mm

122527
122062

Metal-Rubber Bush
Ø 31-32X42/45 mm 

123515
Gu�de P�n Bolt

M18X1,5/150 mm

123516
Gu�de P�n Bolt

M18X1,5/90 mm
122529

R�ng
Ø 37X42/14 mm

126511
Bush

Ø 35X39/30 mm

DUCO
ELSA 195 / 225

ELSA 2122053 122054

124515
Boot

124514
Boot 

124515
Boot

Caliper Boot Kit
MCK1139 - MCK1288 Caliper Boot Kit

DUCO
ELSA 195 / 225

ELSA 2

Caliper Repair Kit
MCK1323122421 ELSA 195 / 225

126514
Bronze Oval Bush 

Ø 31-33X42/30 mm

Steel Cap Ø 44/20 mm
125519

126511
Bush

Ø 35X39/30 mm

124515
Boot

122548
R�ng

Ø 37X40/11 mm

122537
Gu�de P�n

Ø 31/78 mm

122536
Gu�de P�n

Ø 35/117 mm

123518
Gu�de P�n Bolt M18X1,5/120 mm

123519
Gu�de P�n Bolt M18X1,5/82 mm

123512
Bolt M16X1,5/40 mm

Caliper Repair Kit elsa 2122065

122528125512 122527122062122529 126511 124515124514

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr96



M
ERITOR

Caliper Calibration Mechanism Kit ELSA 2

Caliper Adjusting Mechanism Caliper Adjusting Gear Kit ELSA 195 / 225
ELSA 2

Caliper Calibration Mechanism Kit ELSA 2

Caliper Calibration Mechanism Kit ELSA 195 / 225

Caliper Calibration Mechanism Kit

122073

122272
Alum�n�um Cover

122071
Cover Gasket

122078

122100

122102

122274
Alum�n�um Cover

122077 122068

Back V�ew
123517

PLEASE ORDER w�th P/N 122074 Cover for Bush Type Center

Bolt M8X1,25/45 mm

123517
Bolt M8X1,25/45 mmBack V�ew

PLEASE ORDER w�th P/N 122265 Cover for Bush Type Center

Back V�ew
123522

Bolt M8X1,25/45 mm

122071
Cover Gasket

122099
Cover Gasket

ELSA 195 / 225

Back V�ew

123522
Bolt M8X1,25/45 mm

PLEASE ORDER w�th P/N 122268 Cover for Bush Type Center

ELSA 195 / 225

P/N FOR THE HALF KIT IS 122535

PLEASE ORDER w�th P/N 122298 Cover W�th Gasket 
122272 + 122071 = 122298

PLEASE ORDER w�th P/N 122101 Cover for Bush Type Center

PLEASE ORDER w�th P/N 122354 Cover W�th Gasket
122274 + 122099 = 122354

Ø 49,50 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 97



EL
SA

 2
 / 

19
5 

/ 2
25

 Caliper Calibration Mechanism Kit (Bush Type)  ELSA 2

Caliper Adjusting Mechanism Caliper Adjusting Gear Kit ELSA 195 / 225
ELSA 2

Caliper Calibration Mechanism Kit ELSA 2

Caliper Calibration Mechanism Kit 

Caliper Calibration Mechanism Kit

ELSA 195 / 225

Back V�ew
123517

Bolt M8X1,25/45 mm

122075

122079

122369
Alum�n�um Cover

122072
Cover Gasket

122295

122296

122294
Cover Gasket

122266122267

P/N FOR THE HALF KIT IS 122602

123517
Bolt M8X1,25/45 mm

123517
Bolt M8X1,25/45 mm

122368
Alum�n�um Cover

123517
Bolt M8X1,25/45 mm

ELSA 2

ELSA 2

PLEASE ORDER w�th P/N 122370 Cover W�th Gasket 
122369 + 122072 = 122370

Ø 47,00 mm
FLAT PLASTIC HEADS

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr98



M
ERITOR

Caliper Repair Kit

Caliper Seal Kit

Caliper Boot Kit
68324854PK10

Caliper Support Seal SB5 / SB6 / SB7
SN6 / SN7 / SK7

Caliper Repair Kit
K000945 - 81.50822.6024 - 8 531 7002 500

Caliper Repair Kit Caliper Mechanism Repair Kit

ELSA 195 / 225

122051

122055

122050

124513

122052

124514
 Tappet Dust Cover

122069 122070

122095 MCK1310 - 85109892 - 5001 866 400

ELSA 195 / 225
elsa 2

ELSA 195 / 225

ELSA 2

123518
Gu�de P�n Bolt M18X1,5/120 mm

123520
Steel Cap Ø 44/20 mm

125519
Bolt M14X1,5/40 mm

123521
Bolt M16X1,5/40 mm

124515
Boot

68323746PK10
ELSA 195 / 225

elsa 2

Support Seal 

DUCO
ELSA 195 / 225

elsa 2

124512
Rubber Cap 

124514
Boot 

124515
Boot

ELSA 195 / 225
elsa 2

122071
Cover Gasket

124518

124517

125515 125516 125517

129511124517 126515

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 99



EL
SA

 2
 / 

19
5 

/ 2
25

 

Caliper Lever Kit

Caliper Lever Kit ELSA 195 / 225

Caliper Lever Kit

Caliper Lever Kit ELSA 2

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr

Caliper Tappet KitCaliper Tappet Kit ELSA 195 / 225
ELSA 2

122373

122371

122683 
Cal�per Lever

122372

122056

124514
Tappet Dust Cover

122526
Tappet

126513
R�ng

122057

122681 + 122525 = 122087 

122683 + 122525 = 122104

122684 + 122525 = 122105

122374

122693 
Cal�per Lever

MCK1309 - 5001 866 398
ELSA 195 / 225

ELSA 2

122526
Tappet Head

126513
Tappet Head R�ng

122042 
Roller Bear�ngs 

122525
Roller

Back V�ew

122042 
Roller Bear�ngs 

122042 
Roller Bear�ngs 

122042 
Roller Bear�ngs 

122525
Roller

122525
Roller

122525
Roller

Back V�ew

Back V�ew

Back V�ew

122681 
Cal�per Lever

122684 
Cal�per Lever

122693 + 122525 = 122301

ELSA 195 / 225

ELSA 2

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr100



M
ERITOR

Caliper Lever Kit

Caliper Lever Kit

Caliper Lever Kit

Caliper Lever Kit (IVECO)

122375

122680 
Cal�per Lever

122351

122682 
Cal�per Lever

122376

122685 
Cal�per Lever

122377

122686
Cal�per Lever

122680 + 122525 = 122080 

122682 + 122525 = 122103

122685 + 122525 = 122319

122686 + 122525 = 122320

122042 
Roller Bear�ngs 

122525
Roller

122042 

122042 

122042 

Roller Bear�ngs 

Roller Bear�ngs 

Roller Bear�ngs 

122525
Roller

122525
Roller

122525
Roller

ELSA 195 / 225

ELSA 2

ELSA 195 / 225

ELSA 195 / 225

Back V�ew

Back V�ew

Back V�ew

Back V�ew

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 101



EL
SA

 2
 / 

19
5 

/ 2
25

 

Caliper Roller Bearing Kit ELSA 195 / 225

Caliper Roller Bearing Kit

Caliper Roller Bearing Kit

Caliper Roller Bearing Kit
DUCO

ELSA 1
ELSA 195 / 225

ELSA 2

ELSA 195 / 225
ELSA 2Caliper Bearing Housing Kit 

Caliper Roller Bearing Kit ELSA 2Caliper Roller Bearing Kit

122042

122041

122081

122106

122107

122089

122088

122378

122318

122082

122359

122042 
Roller Bear�ngs 

122525
Roller

Cal�per Lever 
Bear�ng 

122042 
Roller Bear�ngs 

122525
Roller

122042 
Roller Bear�ngs 

122525
Roller

122042 
Roller Bear�ngs 

122525
Roller

122042 
Roller Bear�ngs 

122525
Roller

Cal�per Lever 
Bear�ng 

Cal�per Lever 
Bear�ng 

Cal�per Lever 
Bear�ng 

SJ4112 - 3092329

DUCO
ELSA 1

ELSA 195 / 225
ELSA 2 SJ4098 - 3092261

ELSA 195 / 225

DUCO
ELSA 1

ELSA 195 / 225
ELSA 2

Caliper Gear Bush & Seal Set ELSA 195 / 225
ELSA 2122076

126517
Te�on Bush

125518
R�ng

124519
Mechan�sm Seal

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr102



M
ERITOR

Caliper Manuel Adjusting Gear ELSA 195 / 225 Caliper Manuel Adjusting Gear 

Caliper Manuel Adjusting Gear (Left) Caliper Manuel Adjusting Gear (Right) 

Caliper Manual Adjusting Gear (Left) Caliper Manual Adjusting Gear (Right)

ELSA 195 / 225

122084122083

122289122288

122098122097

ELSA 2 ELSA 2

ELSA 2 ELSA 2

ELSA 2122047 Caliper Repair Kit
MCK1244 - 5001 858 718 - 5001 860 792

125512
Steel Cap 

Ø 44/28 mm

123512
Bolt 

M16X1,5/40 mm
124515

Boot

124514
Boot 

124512
Cal�per Adjuster Dust Boot

124513
Cal�per 

Actuator Seal

For Rad�al
Cal�per

For Rad�al
Cal�per

PN: 128522 Only Spr�ng PN: 128532 Only Spr�ng

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 103



EL
SA

 2
 / 

19
5 

/ 2
25

 

Caliper Repair Kit

Caliper Rubber Cap Repair Kit

Caliper Repair Kit

Caliper Visual indicator Caliper Visual Indicator

ELSA 195 / 225
ELSA 2

Caliper Brake Pad Retainer Repair Kit
MCK1174 - 81.50822.0014 - 85107958

DUCO
ELSA 195 / 225

ELSA 2

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr

122287

122353
Adapter Plug

124520
Adjuster Seal

123552
Bolt M10X1,5/16 mm

122292

124512
Cal�per Adjuster Dust Boot

124520
Adjuster Seal

125545
Dust Cover Reta�ner

122059 122356

122060

122049

125512
Steel Cap Ø 44/28 mm

124515
Gu�de P�n Boot 

123513
Bolt M10X1,25/20 mm

ELSA 2 ELSA 195 / 225

MCK1087 ELSA 2

ELSA 195 / 225
ELSA 2MCK1234

123512
Bolt M16X1,5/40 mm

122059 + 4 PCS 123512 = 122058

Bolt M16X1,5/40 mm
OEM NO: MCK1240

122048

124515
Boot

124514
Boot 

124512
Cal�per Adjuster Dust Boot

124513
Cal�per 

Actuator Seal

Caliper Repair Kit
MCK1088

ELSA 2
ELSA 195 / 225

ELSA 195 / 225Caliper Brake Pad Retainer Repair Kit
MCK1370122413

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr104



M
ERITOR

Caliper Complete Repair Kit ELSA 2

Caliper Complete Repair Kit ELSA 2

122085

122061 122078

124513

122059

122292
122083

122086

122060

122680 

122359

122082

122061 122078

124513

122059

122292
122084

122060

122680 

122359

122082

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 105



EL
SA

 2
 / 

19
5 

/ 2
25

 Caliper Complete Repair Kit ELSA 2

Caliper Complete Repair Kit ELSA 2

122090

124513

122059

122292
122083

122091

122060

122681 

122359

122082

122079

124513

122059

122292
122084

122060

122359

122082

122066 122079

122681 

122066

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr106



M
ERITOR

Caliper Complete Repair Kit ELSA 195 / 225

Caliper Complete Repair Kit

122108

122092 122102

124513

122356

122292

122109

122060

122682 

122359

122082

ELSA 195 / 225

122098

122092 122102

124513

122356

122292

122060

122683 

122359

122082

122097

PLEASE ORDER WITH 122407 PRODUCT NUMBER TO ORDER WITH 
122097 CALIPER ADJUSTING GEAR INSTEAD OF 122098 ADJUSTING GEAR

122097

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 107



EL
SA

 2
 / 

19
5 

/ 2
25

 Caliper Complete Repair KiT ELSA 195 / 225

Caliper Complete Repair Kit

122350

122092 122102

124513

122356

122292

122262

122685 

122359

122082

ELSA 195 / 225

122096 122102

124513

122356

122292

122060

122684 

122359

122082

122097

122097

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr108



M
ERITOR

Caliper Complete Repair Kit ELSA 195 / 225

Caliper Tool Kit

122310

122092 122102

124513122292

122352

122359

merıtor

122356 122082

122097

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 109



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr110



MERITOR LISA

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 111



LIS
A

Caliper Repair Kit
SJ4076 - MCK1104 D LISA122241

Ø 35X41/30 mm

126528
Bush

125536
Steel Cap Ø 45/14.5 mm 123510

Gu�de P�n Bolt M20X1,5/150 mm

123538
Gu�de P�n Bolt M20X1,5/100 mm

126527
Bronze Oval Bush

Ø 35-36X39/47 mm

Ø 35/79 mm

122588
Gu�de P�n

Ø35/132 mm

122587
Gu�de P�n

126511
Bush

Ø 35X39/30 mm

122589
R�ng 

Ø 37X47/12 mm
124515

Boot

Caliper Repair Kit
SJ4052 - 5001 845 385 C LISA122243

122590
Gu�de P�n

Ø 30/115 mm

124543
Boot

122591
Gu�de P�n

Ø 30/75 mm

125538
Steel Cap

Ø 37/11 mm

122592
R�ng

Ø 32X42/12 mm

123539
Gu�de P�n Bolt M18X1,5/135 mm

123540
Gu�de P�n Bolt M18X1,5/95 mm

125537
Steel Cap

Ø 42/43 mm

124542
F�ber Bush

Ø 30X34/26 mm

126529
Bush

Ø 30-31X34/26 mm 

Caliper Repair Kit
SJ4021 - 8550881 D LISA122242

123510
Gu�de P�n Bolt M20X1,5/150 mm

123538
Gu�de P�n Bolt M20 x 1,5 x 100 mm

125536
Steel Cap Ø 45 x 17 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr112



M
ERITOR

Caliper Spline Shaft Kit (Left) 

Caliper Repair Kit122244

122245

124515
Boot

124548
Support Seal Ø 39X52/5.5 mm

124547
Support Seal Ø 40X57/6 mm

124545
Dust Plug

124546
O-r�ng

124549
Tappet Boot

124544
Cover Gasket Ø 42X62/6 mm 

125539
Seal Cover

122255

122598
Spl�ne Shaft (R�ght)

122254

122597
Ant� Rotat�on P�n122594

Spl�ne Shaft (Left)

122595
Bear�ng House (Left)

Steel Ball
122596

122599
Bear�ng House (R�ght)

Steel Ball
122596

D LISA

C LISA

LISA

LISA

SJ4078 - SJ4032

Caliper Repair Kit
SJ4061

MCK1021 - MCK1151 - 85104827

Caliper Spline Shaft Kit (RIGHT) 
MCK1022 - MCK1152 - 85104828

124543
Boot

124548
Support Seal Ø 39X52/5.5 mm

124547
Support Seal Ø 40X57/6 mm

124545
Dust Plug

124546
O-r�ng

124549
Tappet Boot

124544
Cover Gasket Ø 42X62/6 mm 

125539
Seal Cover

124543
Boot

122597
Ant� Rotat�on P�n

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 113



LIS
A

Caliper Boot Kit

Caliper Roller Bearing Kit
SJ4031 - 8550893

Caliper Adjusting Mechanism (Left) Caliper Adjusting Mechanism (Right)

Caliper Adjusting Gear (Left) 

122252 122253

122257122256

122251

129519
Shaft Roller Bear�ng

129518
Shaft Roller Bear�ng

122593
R�ng

Ø44 x 13 mm

126530
Bush

Ø 40X44/15 mm 

122246 122247

122611

Adjuster Gear (Left) 

128521
Spr�ng122610

Adjust�ng Bolt (Left)
122613

Adjuster Gear (R�ght) 

128521
Spr�ng122612

Adjuster Bolt (R�ght) 

SJ4073 - 3098110 LISA LISA

LISALISA

LISA

Caliper Adjusting Gear (RIGHT) 
SJ4074 - 3098111 - 5001 845 387

SJ4113 - 3092763 SJ4114 - 3092764

Washer
Ø73 / Ø47 mm

125540

124543
Boot

124515
Boot

124543
Boot

SJ4077 - 3098109
Caliper Boot Kit
SJ4053LISA LISA

Reverse
Thread

Left Hand R�ght Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr114



M
ERITOR

Caliper Push Plate

Caliper Lever

Caliper Push Plate

122250

122248

122249

D LISA

C LISA

LISA

SJ4117 - 3092765

Caliper Cover Bolt Kit122379

123543
Bolt M14X1.5/90 mm

LISA122380LISA Caliper Pad Retainer Repair Kit

Back V�ew

Back V�ew

LISA122412 Caliper Pad Retainer Repair Kit
SJ4022

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 115



LIS
A

Caliper Complete Repair Kit LEFT C LISA

C LISA

122260

122261

122255 122253 122257

122254 122252 122256 122251

122249

122250

Caliper Complete Repair Kit RIGHT 

122243

122251

122249

122250

122243

Left Hand

R�ght Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr116



M
ERITOR

Caliper Complete Repair Kit D LISA122259

122255 122253 122257 122251

122250

D LISA122258

122254 122252 122256

Caliper Complete Repair Kit

122251

122250

122241 122248

122248122241

Left Hand

R�ght Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 117



E
L

S
A

 1
9
5
 /

 2
2
5

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr118



MERITOR D3

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 119



D3

Caliper Repair Kit
SJ4011 - MCK1213 D3

Caliper Repair Kit

Caliper Repair Kit
SJ4001 - 5001 822 994122112

122110

125521

126519

123540

123518
124521

Boot
Steel Cap

Bush

Bolt M18X1,5/95 mm

Bolt M18X1,5/120 mm

122542
Gu�de P�n

Ø 32/117 mm

122543
Gu�de P�n

Ø 32/74 mm

Ø 61 x 17 mm

Ø 32X36/40 mm

126518
Bronze Oval Bush

Ø 32-33X36/30 mm

122286 D3

D3

125538
Steel Cap

Ø 37/11 mm

125521

123540

123518
124521

Boot
Steel Cap

Bolt M18X1,5/95 mm

Bolt M18X1,5/120 mm

122542
Gu�de P�n

Ø 32/117 mm

122543
Gu�de P�n

Ø 32/74 mm

Ø 61/17 mm

126518
Bronze Oval Bush Ø 32-33X36/30 mm

125538
Steel Cap

Ø 37/11 mm

125521 123540 123518

124521
Boot

Steel Cap
Bolt M18X1,5/95 mm Bolt M18X1,5/120 mm

122542
Gu�de P�n

Ø 32/117 mm

122543
Gu�de P�n

Ø 32/74 mm

Ø 61/17 mm

125538
Steel Cap

Ø 37/11 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr120



M
ERITOR

d3Caliper Adjusting Gear (Left) Caliper Adjusting Gear (Right)

Caliper Adjusting Gear Kit (Left) Caliper Adjusting Gear Kit (Right)

Caliper Push Plate Caliper Pad Retainer Repair Kit

122119 122120

122381 122382

122113 122383

d3

d3

d3

d3

d3

Reverse ThreadLeft Hand R�ght Hand

Reverse ThreadLeft Hand R�ght Hand

Back V�ew

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 121



D3

Caliper Complete Repair Kit (FRONT&Left)(48 TEETH) d3

Caliper Complete Repair Kit (FRONT&RIGHT)(48 TEETH)

122132

122133 d3

122111
122123

122122 126520

122134122384 122139122119

Left Hand

124524122121

122111
122123

122122 126520

122135122385 122138122120

R�ght Hand

124524122121

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr122



M
ERITOR

Caliper Complete Repair Kit (FRONT&Left)(26 TEETH) d3

Caliper Complete Repair Kit (FRONT&RIGHT)(26 TEETH)

122136

122137 d3

122111
122123

122122 126520

122134122386 122139122119

Left Hand

124524122121

122111
122123

122122 126520

122135122387 122138122120

R�ght Hand

124524122121

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 123



D3

Caliper Complete Repair Kit (REAR&Left)(26 TEETH) d3

Caliper Complete Repair Kit (REAR&RIGHT)(26 TEETH)

122140

122141 d3

122111
122123

122122 126520

122134122388 122139122119

Left Hand

124524122121

122111
122123

122122 126520

122135122389 122138122120

R�ght Hand

124524122121

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr124



M
ERITOR

Caliper Spline Shaft Kit (Front & Left) 
(48 Teeth) d3d3

d3d3

d3d3

d3d3

122386 122387

122388 122389

122384 122385

122124 122125

122126

122128 122129

122130 122131

Caliper Spline Shaft Kit (Front & Right) 
(48 Teeth)  

Caliper Spline Shaft Kit (Front & Left) 
(26 Teeth) 

Caliper Spline Shaft Kit (Front & Right) 
(26 Teeth)  

Caliper Spline Shaft Kit (Rear & Left) 
(26 Teeth) 

Caliper Spline Shaft Kit (Rear & Right) 
(26 Teeth)

Caliper Bearing Housing (Left) Caliper Bearing Housing (Right)

122127

122124 122125

122124 122125

122124 122125

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 125



D3

Caliper Shaft Cover Kit

Caliper Lever (48 Teeth)

Caliper Shaft Cover Kit

SJ1212

Caliper Lever (26 Teeth)

122111

122142

122143

124524
Dust Cover124525

Adjuster Bolt Cover 

124522
123525113515

125522

122390

d3

d3

d3

d3

Shaft Cover
Bolt 

M8X1,25/16 mm
Bolt

M8X1,25/40 mm
Shaft Boot

123525
113515

125522
Shaft Cover

Bolt 
M8X1,25/16 mm

Bolt
M8X1,25/40 mm 124522

Shaft Boot

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr126



M
ERITOR

Caliper Repair Kit (Right)  d3d3

d3d3

d3d3

d3d3

Caliper Repair Kit (Left) 

Caliper Repair Kit Caliper Spring

Caliper Shaft Roller Bearing Caliper Wavy Washer

Caliper Washer Repair Kit (Left)  Caliper Washer Repair Kit (Right)  

122118

122122

122139

122123

122134 122135

122138

122117

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 127



D3

Caliper Seal Kit d3d3

d3d3

d3d3

d3ELSA 1
D3

Caliper Circlip Kit

Caliper Roller Bearing Caliper Ring Kit

Caliper Spring Kit (Left) Caliper Spring Kit (Right)

Caliper Pad Retainer Repair Kit Caliper Spring Plug Kit

122121

122391 122392

122367 122393

122115122114

122116

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr128



M
ERITOR

Caliper Complete Repair Kit (FRONT&RIGHT)(26 TEETH) d3

Caliper Complete Repair Kit (FRONT&LEFT)(26 TEETH) d3

122399

122137 - (FRONT&RIGHT)(26 TEETH)

122113122143

122110

122398

122136 - (FRONT&LEFT)(26 TEETH)

122113122143

122110

122111
122123

122122 126520

122135122387 122138122120

124524122121

122111
122123

122122 126520

122134122386 122139122119

124524122121

Back V�ew

Back V�ew

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 129



D3

Caliper Complete Repair Kit (REAR&RIGHT)(26 TEETH) d3

Caliper Complete Repair Kit (REAR&LEFT)(26 TEETH) d3

122401

122113122143

122110

122400

122113122143

122110

122141 - (REAR&RIGHT)(26 TEETH)

122140 - (REAR&LEFT)(26 TEETH)

Back V�ew

Back V�ew

122111
122123

122122 126520

122134122388 122139122119

124524122121

122111
122123

122122 126520

122135122389 122138122120

124524122121

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr130



M
ERITOR

More benefits, 
more efficiency, 

more action!

Especially with today's cost, the international market gets the stage for the 

selection of suppliers. The continuously rising momentum of the international 

market and the resulting opportunities for procurement have to be interpreted 

correctly and decisions should be taken accordingly.

strategy

Products

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 131



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr132



MERITOR DUCO

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 133



DU
CO

Caliper Repair Kit
MCK1134 - SJ4094 - 3092255 DUCO

Caliper Repair Kit

Caliper Repair Kit

122144

124515
Boot

126522
Bush (Oval)

125527
Steel Cap Ø 40/18.5 mm

122548
R�ng Ø 37X40/11 mm

123527
Gu�de P�n Bolt M20X2/125 mm

122546
Gu�de P�n

Ø 35/102 mm

122547
Gu�de P�n

Ø 35/60 mm

123528
Gu�de P�n Bolt M20X2/80 mm

126521
Bush Ø 35X39/38 mm

122145

126523

122146

126524

DUCO

DUCO

MCK1116 - 85102094

124515
Boot

125527
Steel Cap Ø 40/18.5 mm

122548
R�ng Ø 37X40/11 mm

123527
Gu�de P�n Bolt M20X2/125 mm

122546
Gu�de P�n

Ø 35/102 mm

122547
Gu�de P�n

Ø 35/60 mm

123528
Gu�de P�n Bolt M20X2/80 mm

124515
Boot

125527
Steel Cap Ø 40/18.5 mm

122548
R�ng Ø 37X40/11 mm

123527
Gu�de P�n Bolt M20X2/125 mm

122546
Gu�de P�n

Ø 35/102 mm

122547
Gu�de P�n

Ø 35/60 mm

123528
Gu�de P�n Bolt M20X2/80 mm

Bush 
Ø 35X39/77 mm

Bush 
Ø 35X40/77 mm

Ø 35-36X39/30 mm 

126522
Bush (Oval)

Ø 35-36X39/30 mm 

126522
Bush (Oval)

Ø 35-36X39/30 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr134



M
ERITOR

Caliper Repair Kit
MCK1299 DUCO

DUCO

DUCO

DUCO

122147

124515
Boot

125527
Steel Cap Ø 40/18.5 mm

122148

122151

122150

122548
R�ng Ø 37X40/11 mm

123527
Gu�de P�n Bolt M20X2/125 mm

122546
Gu�de P�n Ø 35/102 mm

123528
Gu�de P�n Bolt M20X2/80 mm

124515
Boot

125527
Steel Cap Ø 40/18.5 mm

122546
Gu�de P�n Ø 35/102 mm

125527
Steel Cap Ø 40/18.5 mm

122546
Gu�de P�n Ø 35/102 mm

123527
Gu�de P�n Bolt M20X2/125 mm

126521
Bush Ø 35X39/38 mm

126522
Bush (Oval) Ø 35-36X39/30 mm 

122548
R�ng Ø 37X40/11 mm

124515
Boot

125527
Steel Cap Ø 40/18.5 mm

122546
Gu�de P�n Ø 35/102 mm

123527
Gu�de P�n Bolt M20X2/125 mm

126523
Bush Ø 35X39/77 mm

Caliper Repair Kit
MCK1065 - MCK1066

Caliper Repair Kit
MCK1135 - SJ4107 - 3092256

Caliper Repair Kit
MCK1118 - 85102092

124515
Boot

126522
Bush (Oval) Ø 35-36X39/30 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 135



DU
CO

Caliper Repair Kit DUCO

Caliper Repair Kit

Caliper Repair Kit

122152

122154

122155

DUCO

DUCO

126522
Bush (Oval) Ø 35-36X39/30 mm 

122548
R�ng Ø 37X40/11 mm

124515
Boot

125527
Steel Cap Ø 40/18.5 mm

122546
Gu�de P�n Ø 35/102 mm

123527
Gu�de P�n Bolt M20X2/125 mm

126524
Bush Ø 35X40/77 mm

122152 + 122053 BOOT KIT = 122153 CALIPER REPAIR KIT WITH BOOTS

126524
Bush Ø 35X40/77 mm

124515
Boot

124514
Boot 

126522
Bush (Oval)

122546
Gu�de P�n Ø 35/102 mm

124515
Boot

124514
Boot 

126522
Bush (Oval)

126524
Bush Ø 35 x 40/77 mm

Ø 35-36X39/30 mm

Ø 35-36X39/30 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr136



M
ERITOR

Caliper Calibration Mechanism Kit (Left)   
MCK1236

Caliper Calibration Mechanism Kit (Right)  122172

122171

122053
Tappet Boot

122549
Tappet Head

122556
Adjust�ng Mechan�sm (Left) 124530

Bush (Flanged) Ø 45X49/31 mm  

124531
Mechan�sm Seal

DUCO

DUCO

127611
C�rcl�p 

MCK1237 - MCK1239 - 3092263

122053
Tappet Boot

122549
Tappet Head

122557
Adjust�ng Mechan�sm (R�ght) 124530

Bush (Flanged) Ø 45X49/31 mm  

124531
Mechan�sm Seal

127611
C�rcl�p 

DUCO122428

126521
Bush Ø 35X39/38 mm

126522
Bush (Oval) Ø 35-36X39/30 mm 

122548
R�ng Ø 37X40/11 mm

124515
Boot

125527
Steel Cap Ø 40/18.5 mm

122546
Gu�de P�n Ø 35/102 mm

123527
Gu�de P�n Bolt M20X2/125 mm

126523
Bush Ø 35X39/77 mm

Caliper Repair Kit

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 137



DU
CO

Caliper Lever Kit (Left) 

Back V�ew

Back V�ew

Back V�ew

Back V�ew

DUCO

DUCO

DUCO

DUCO122174

124526
Actuator Seal

122688
Lever (Left)

122359
Cal�per Bear�ng Repa�r K�t

122175

122689
Lever (R�ght)

122176

122177

122690
Lever (Left - Rear)

122691
Lever (R�ght - Rear)

124526
Actuator Seal

122359
Cal�per Bear�ng Repa�r K�t

124526
Actuator Seal

122359
Cal�per Bear�ng Repa�r K�t

124526
Actuator Seal

122359
Cal�per Bear�ng Repa�r K�t

MCK1127 - 85102097 - 85109978

Caliper Lever Kit (rıght) 
MCK1128 - 85102098 - 85109979

Caliper Lever Kit (Left) 
SJ4096 - MCK1398

Caliper Lever Kit (rıght) 
SJ4097 - MCK1399

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr138



M
ERITOR

Caliper Lever Kit 

Back V�ew

DUCO

DUCO

124526
Actuator Seal

122359
Cal�per Bear�ng Repa�r K�t

124526
Actuator Seal

122359
Cal�per Bear�ng Repa�r K�t

MCK1048

Caliper Lever Kit 
SJ4108

122173

122687
Cal�per Lever

122178

122692
Lever (Rad�al L/R - Front)

Caliper Roller Bearing Kit122041

122081

122042 
Roller Bear�ngs 

122525
Roller

Cal�per Lever 
Bear�ng 

SJ4112 - 3092329

DUCO
ELSA 1

ELSA 195 / 225
ELSA 2

ELSA 2Caliper Roller Bearing Kit122089

122088

122042 
Roller Bear�ngs 

122525
Roller

Cal�per Lever 
Bear�ng 

SJ4098 - 3092261

Caliper Roller Bearing Kit
DUCO

ELSA 1
ELSA 195 / 225

ELSA 2
122042 Caliper Roller Bearing Kit122359

122042 
Roller Bear�ngs 

122525
Roller

DUCO
ELSA 1

ELSA 195 / 225
ELSA 2

Back V�ew

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 139



DU
CO

Caliper Rubber Cap Repair Kit

Caliper Seal Kit

Caliper Gasket Kit

Caliper Tappet Kit

Caliper Gasket Kit
SJ4105 - 3092269

DUCO
ELSA 195 / 225

ELSA 2

124514
Boot 

Caliper Boot Kit
MCK1139 - MCK1288122053

122161122394

124526
Actuator Seal

124529
Cover Gasket

122157
Cal�per Adjuster 

Dust Boot

124520
Actuator Seal

122157
Cal�per Adjuster Dust Boot

124520
Actuator Seal

125545
Dust Cover R�ng

122160

122162

127611
Tappet Head C�rcl�p

122156

124526

122549
Tappet Head

124514
Boot 

Support Seal 

MCK1238 - 3092264 DUCO

DUCO

DUCO SJ4109 - 3092270 DUCO

68322297PK10-20706977-5001 866 415 DUCO

Ø30 x 4 mm

124528

124520
Actuator Seal

124512
Cal�per Adjuster 

Dust Boot

Gasket 

124526
Actuator Seal

Caliper Gasket Kit
MCK1041 - 3095669

124527

124520
Actuator Seal

122159

124512
Cal�per Adjuster 

Dust Boot

DUCO

Gasket 

124526
Actuator Seal

Caliper Gasket Kit122422

124526
Actuator Seal

124561
Cover Gasket

124512
Cal�per Adjuster 

Dust Boot

124520
Actuator Seal

MCK1053 DUCO

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr140



M
ERITOR

Caliper Adjusting Mechanism (Left-Right)  Caliper Calibration Mechanism Kit

Caliper Gear Mechanism (Left) 

Caliper Adjusting Mechanism (Left)   Caliper Adjusting Mechanism (Right) duco122167 122168

122169 122170

122018122017

duco

duco
elsa 1

duco

duco
SJ4102 - MCK1111 SJ4103 - MCK1112

SJ4110 - MCK1113 MCK1050

68322562 - 3092280
Caliper Gear Mechanism (Right) 
68322563 - 3092281

duco
elsa 1

R�ght Hand
Reverse Thread
Left Hand

Locks Ant�-Clockw�se Locks Clockw�se
Turns freely on the arrow s�deTurns freely on the arrow s�de

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 141



DU
CO

Caliper Rubber Cap

Caliper Visual Indicator Caliper Pad Retainer Repair Kit
SJ4111 - 3092283 MCK1263 - MCK1264 - 3092276 - 3092277

Caliper Ring KitDUCO

DUCO DUCO122158

V�sual Ind�cator

Spr�ng of V�sual Ind�cator
Ø16 x 80 mm

122157 122149

R�ng Ø 35.5X37.5/6 mm 

DUCO

122410

125528

Caliper Intermediate Gear Kit Caliper Intermediate Gear Kit122163

128516
Compress�on Spr�ng

128517
Compress�on Spr�ng

122550
Intermed�ate Gear

128518
Compress�on Spr�ng

128519
Compress�on Spr�ng

122551
Intermed�ate Gear

122164

122166

119,5 mm

122165

98 mm

DUCO

DUCO

DUCO

DUCO

MCK1129 - 85102099 MCK1067 - 3095626

Caliper Locking Plate Caliper Locking Plate 
68322485 68322900

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr142



M
ERITOR

Caliper Complete Repair Kit duco

Caliper Complete Repair Kit duco

122179

122145 122172

122160
122158

122166

122164

122173

122170

122180

122171

124527
122017

122158

122165
122163

122174

122167

124512

122145

Reverse Thread
Left Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 143



DU
CO

Caliper Complete Repair Kit duco

Caliper Complete Repair Kit duco

122181

122151 122172

122158

122166

122164

122182

122171

124528
122017

122167

124512

122145

122158

122166
122164

122168124527

124512

122018

122175

122176

Reverse Thread
Left Hand

R�ght
Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr144



M
ERITOR

Caliper Complete Repair Kit duco

Caliper Complete Repair Kit duco

122183

122145 122172 122177

122184

122157

122692

122169

122164
124529

122164

124528

124512

122172

122158

122166

122151
122359

122017

122158

122166

122168

122018

R�ght
Hand

Reverse Thread
Left Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 145



DU
CO

Caliper Complete Repair Kit duco122397

122172

122158

122165

122168124527

122157

122175
122145

122017122163

Reverse Thread
Left Hand

Caliper Pad Retainer Repair Kit Caliper Pad Retainer Repair KitDUCO DUCO

Caliper Cover Bolt Kit122285

122395 122396

DUCO

MBA104 MBA103 - 85109445

123541
Bolt M14X1,5/55 mm

Caliper Cover Bolt Kit122423 DUCO

123553
Bolt M14X2/55 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr146



M
ERITOR

With more than 10 years of experince in manufacturing, we 

supervise/control our productions and organizations according 

qualıty

Quality-Focused 
Organization

Products

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 147



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr148



MERITOR Dx 175

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 149



dx
 1

75

Caliper Repair Kit
MCK1170 DX175

Caliper Repair Kit

Caliper Repair Kit
MCK1191

122321

DX175

DX175

122323

123545
Bolt M14X1,5/50 mm

123544
Bolt M14X1,5/70 mm

126533
Bush Ø 28X32/24.80 mm

125546
Steel Cap Ø 37/25 mm

124555
Boot

124554
Gu�de P�n Boot

123535
Cover Bolt

125531
Washer

124556
Gasket

123549
Bolt M8X1,25/16 mm

123548
Bolt M10X1,5/25 mm 123546

Bolt M8X1,25/20 mm
123547

Bolt M10X1,5/20 mm

122664
Gu�de P�n Ø 28/96 x 64 mm

122663
Gu�de P�n Ø 28/96 x 44 mm

125548
P�n Locker

125547
P�n 

122325

123545
Bolt M14X1,5/50 mm

123544
Bolt M14X1,5/70 mm

122664
Gu�de P�n Ø 28/96 x 64 mm

122663
Gu�de P�n Ø 28/96 x 44 mm

126533
Bush Ø 28X32/24.80 mm

125546
Steel Cap Ø 37/25 mm

123545
Bolt M14X1,5/50 mm

123544
Bolt M14X1,5/70 mm

125546
Steel Cap Ø 37/25 mm

124555
Boot

124554
Gu�de P�n Boot

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr150



M
ERITOR

Caliper Eccentric Shaft Kit
MCK1167 - MCK1295

Caliper Repair Kit

DX175

DX175

DX175DX175Caliper Repair Kit Caliper Bridge

Caliper Roller Bearing Kit Caliper Cover Kit DX175DX175

122326

122665
Shaft

129522 
Shaft Roller

Bear�ng

124557
Shaft Dust Cover

123535
Plug Bolt

125531
Washer

124556
Gasket122355

Cal�per Cover

123549
Bolt M8X1,25/16 mm

122329

129523
Cal�per Needle Bear�ng

129524
Bear�ng Outer Race

129522 
Shaft Roller Bear�ng

122333

122327

122666
Central Fork

122667
Mechan�sm P�n�on

124556
Gasket

122355
Cal�per Cover

123549

122324

122322

Bolt M8X1,25/16 mm

124555
Boot

124554
Gu�de P�n Boot

123549
Bolt M8X1,25/16 mm

125546
Steel Cap Ø 37/25 mm

123535
Plug Bolt

125531
Washer

123547

124555
Boot

Bolt M10X1,5/20 mm

123548
Bolt M10X1,5/25 mm

124554
Gu�de P�n Boot

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 151



Caliper Repair Kit (Right) DX175

Caliper Repair Kit (Left) DX175

Caliper Bridge Assembly (Right) DX175

Caliper Bridge Assembly (Left) DX175122339

122340

122338

136 mm

122334
Cal�per Br�dge Assembly

122333
Cal�per Center�ng Gear K�t

122341

122342

122669
Cal�brat�on Bolt (Left)

122668 
Cal�per Push Plate

123546
Bolt M8X1,25/20 mm

122337
Cal�per Adjustment 

Sleeve K�t (Left)

Cal�per Adjustment 
Sleeve K�t (R�ght)136 mm

122334
Cal�per Br�dge Assembly

122333
Cal�per Center�ng Gear K�t

136 mm

122334
Cal�per Br�dge Assembly

122333
Cal�per Center�ng Gear K�t

122337
Cal�per Adjustment 

Sleeve K�t (Left)

122670
Cal�brat�on Bolt (R�ght)

122668 
Cal�per Push Plate

123546

136 mm

122334
Cal�per Br�dge Assembly

122333
Cal�per Center�ng Gear K�t

122338
Cal�per Adjustment 

Sleeve K�t (R�ght) Bolt M8X1,25/20 mm

dx
 1

75

Left Hand

R�ght Hand

Left Hand

R�ght Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr152



M
ERITOR

Caliper Repair Kit (Right) DX175

Caliper Repair Kit (Left) DX175

Caliper Push Plate Kit (Left) DX175122335

122343

122344

125549127614

122669
Cal�brat�on Bolt (Left)122668 

Cal�per Push Plate

123546
Bolt M8X1,25/20 mm

Caliper Push Plate Kit (Right) DX175122336

122670
Cal�brat�on Bolt (R�ght)

122668 
Cal�per Push Plate

123546
Bolt M8X1,25/20 mm

122669
Cal�brat�on Bolt (Left)

122668 
Cal�per Push Plate

123546
Bolt M8X1,25/20 mm

136 mm

122334
Cal�per Br�dge Assembly

122337
Cal�per Adjustment 

Sleeve K�t (Left)

124555
Boot

C�rcl�p Wavy Washer

125549127614

122668 
Cal�per Push Plate

123546
Bolt M8X1,25/20 mm

136 mm

122334
Cal�per Br�dge Assembly

124555
 Boot

C�rcl�p Wavy Washer

122670
Cal�brat�on Bolt (R�ght)

122338
Cal�per Adjustment 

Sleeve K�t (R�ght)

Left Hand

R�ght Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 153



Caliper Mechanism Repair Kit (Left) 

Caliper Mechanism Repair Kit (Right) Caliper Mechanism Repair Kit (Left) 

Caliper Roller Bearing KitCaliper Eccentric Shaft Kit

Caliper Adjustment Sleeve Kit (Right)Caliper Adjustment Sleeve Kit (Left)

Caliper Mechanism Repair Kit (Right) 

DX175

DX175

DX175

DX175

DX175

DX175

122337 122338

122312 122313

122330122328

122665
Shaft

129523
Cal�per Needle Bear�ng

129523
Cal�per Needle Bear�ng

122345

122346

DX175DX175

123549
Bolt M8X1,25/16 mm

123535
Plug Bolt

125531
Washer

123547
Bolt M10X1,5/20 mm

123548
Bolt M10X1,5/25 mm

122333
Cal�per Center�ng Gear K�t

122312
Cal�per Mechan�sm Repa�r K�t (Left) 

122313
Cal�per Mechan�sm Repa�r K�t (R�ght) 

123549
Bolt M8X1,25/16 mm

123535
Plug Bolt

125531
Washer

123547
Bolt M10X1,5/20 mm

123548
Bolt M10X1,5/25 mm

122333
Cal�per Center�ng Gear K�t

dx
 1

75

Bear�ng
S�de

Bear�ng
S�de

Left Hand R�ght Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr154



M
ERITOR

Caliper BridgeCaliper Brake Pad Retainer Repair Kit

Caliper Cover (Right)Caliper Cover (Left)

DX175

DX175

DX175

DX175

Push Plate DX175

Caliper Dust Cover KitCaliper Seal Kit DX175DX175

Caliper Seal KitCaliper Pad Retainer DX175DX175

122198 122332

124557
Dust Cover

124537
Dust Cover

122309

122347 122348

122331

124558
Cover Seal

122334

122668

122349

124556
Gasket

122309

125531
Washer

123535
Cover Bolt

125548
P�n Locker

125547
P�n 

Cal�per Pad Reta�ner

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 155



Caliper Complete Repair Kit Right DX175

Caliper Complete Repair Kit Left DX175

122307

122321 122340

122313

129522

122336

122355
122665

129523
124557

122306

122309

122321

129522122355
122665

129523
124557

122309

122339 122335

122312

dx
 1

75

R�ght Hand

Left Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr156



M
ERITOR

All from
one source!

We offer economical solutions for your hot forging parts. 

For the production of a few hundred grams up to 15 kg piece 

forgıng

Products

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 157



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr158



MERITOR Dx 195

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 159



M
ERITOR

Caliper Repair Kit (Left)

Caliper Repair Kit122194

129515
Cal�per Roller Bear�ng

122567
Shaft Dust Cover

124537
Support Seal

125532
Washer

122566
Cal�per Shaft Assembly

123534

123535
Plug Bolt

125531
Washer

124536

122568

124535

122212

122206
Cal�per Adjustment Sleeve (R�ght) 

122204
Cal�per Push Plate Repa�r K�t (R�ght)

122211

122203
Cal�per Push Plate Repa�r K�t (Left)

124532
Seal

124534
Boot

125533
Steel Cap (Short)

122202
Cal�per Br�dge Assembly

122205
Adjustment Sleeve (Left) 

DX195

DX195

Dx195

MCK1292

Caliper Repair Kit (rıght)
MCK1293

MCK1294

124532
Seal

124534
Tappet Boot

125533
Steel Cap (Short)

122202
Cal�per Br�dge Assembly

Support Seal 

Bolt M8X1,25/20 mm Cover Gasket

Cover Plate

DX225

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr160



dx
 1

95

Caliper Repair Kit
MCK1171 DX195

Caliper Repair Kit

Caliper Repair Kit

DX195

122185

122188

122187

122565
Gu�de P�n Ø 32/97-62 mm 

125530
Steel Cap Ø 42/28 mm

124533
Gu�de P�n Boot

124534
Tappet Boot

124532
Seal

123530
Bolt M16X1,5/55 mm

123529
Bolt M16X1,5/80 mm

123530
Bolt M16X1,5/55 mm

125530
Steel Cap Ø 42/28 mm

123529
Bolt M16X1,5/80 mm

122564
Gu�de P�n Ø 32/97-37 mm

124534
Boot

124533
Gu�de P�n Boot

124532
Seal

123533
Bolt M12X1,75/30 mm

125533
Steel Cap

123531

M10X1,5/20 mm

125530
Steel Cap Ø 42/28 mm 126525

Bush Ø 32X36/55 mm

MCK1192

122565
Gu�de P�n Ø 32/97-62 mm 

122564
Gu�de P�n Ø 32/97-37 mm

123530
Bolt M16X1,5/55 mm

123529
Bolt M16X1,5/80 mm

124535
Gasket

126525
Bush Ø 32X36/55 mm

Bolt
123532

M12X1,75/20 mm
Bolt

123534

M8X1,25/20 mm
Bolt

123535
Bolt

125531
Washer

DX195

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 161



dx
 1

95

Caliper Eccentric Shaft Kit 

Caliper Mechanism Repair Kit (Right) 

DX195
DX225

DX195MCK1291

DX195Caliper Mechanism Repair Kit (Left) 
MCK1290

122216

122214
Cal�per Adjust�ng Mechan�sm Repa�r K�t (R�ght)

122215

122201
Cal�per Center�ng Gear K�t

122213
Cal�per Adjust�ng Mechan�sm Repa�r K�t (Left)

123534
Cover Bolt M8X1,25/20 mm

123533
Bolt M12X1,75/30 mm

123532
Bolt M12X1,75/20 mm

122196

122566
Shaft

129516
Shaft Bear�ng

Ø52 / Ø46 x 20 mm

124536
Shaft Seal

Ø35 x 44 x 5,7/8 mm

123535
Plug Bolt

125531
Washer

122201
Cal�per Center�ng Gear K�t

123534
Cover Bolt M8X1,25/20 mm

123533
Bolt M12X1,75/30 mm

123532
Bolt M12X1,75/20 mm

123535
Plug Bolt

125531
Washer

Bear�ng
S�de

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr162



M
ERITOR

Caliper Repair Kit (Right) DX195

Caliper Repair Kit (Left) DX195

Caliper Bridge Assembly (Right) DX195

Caliper Bridge Assembly (Left) DX195

122571 
Cal�per Push Plate

122207

122208

122202
Cal�per Br�dge Assembly 163 mm

122205
Adjustment Sleeve (Left)

122201

122209

122210

122572

123531

Cal�per Center�ng Gear K�t

DSB6L

DSB6R

122202
Cal�per Br�dge Assembly 163 mm

122206
Adjustment Sleeve (R�ght)

122201
Cal�per Center�ng Gear K�t

122202
Cal�per Br�dge Assembly 163 mm

122205
Cal�per Adjustment 

Sleeve (Left)

Cal�brat�on Bolt (Left) 
122201

Cal�per Center�ng Gear K�t

Bolt M10X1,5/20 mm

122571 
Cal�per Push Plate

123531

122202
Cal�per Br�dge Assembly 163 mm

122206
Cal�per Adjustment 

Sleeve (R�ght)

122201
Cal�per Center�ng Gear K�t

Bolt M10X1,5/20 mm

122573
Cal�brat�on Bolt (R�ght) 

Left Hand

R�ght Hand

Left Hand

R�ght Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 163



dx
 1

95

Caliper Adjustment Sleeve Kit (Left) Caliper Adjustment Sleeve Kit (Right)

Calibration Bolt (Left) Calibration Bolt (Right)

Caliper Repair Kit Caliper Boot Kit

Caliper Repair Kit

122205 122206

122572 122573

122201

122569
Fork Gear 122570

Gear

122186

124533
Gu�de P�n Boot

124534
Boot

124532
Seal

122189

DX195 DX195

DX195DX195

DX195DX195

DX195

125531
Washer

123535
Plug Bolt124533

Gu�de P�n Boot
124534

Boot
124532

Seal

123532
Bolt M12X1,75/20 mm

123534
Cover Bolt M8X1,25/20 mm

123533
Bolt M12X1,75/30 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr164



M
ERITOR

Caliper Dust Cover KitCaliper Seal Kit

Caliper Cover KitPush Plate 

DX195

DX195
DX225

DX195

DX195

Caliper Pad Spring Kit DX195

Roller Bearing Caliper Roller Bearing Kit DX195DX195

Caliper Roller Bearing KitCaliper Bridge DX195DX195

122195

122202 122197

Ø52 / Ø46 x 20 mm Ø72 / Ø68 x 28 mm

129516
Shaft Roller Bear�ng

129517
Shaft Hous�ng Bear�ng

129515
Cal�per Roller 

Bear�ng

129515122200

129516
Shaft Roller Bear�ng

122571

122198

124537
Cover Plate Seal

122193

122199

122567
Shaft Dust Cover 

MCK1344

MBA100

123534122568 124535

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 165



dx
 1

95

Caliper Pad Retainer Repair KitCaliper Pad Retainer

Caliper Cover (Right)Caliper Cover (Left)

DX195DX195
DX225

DX195

Caliper LEVER (80 MM) DX195

Caliper Push Plate Kit (Right)Caliper Push Plate Kit (Left) DX195DX195

Caliper Mechanism Repair Kit (Right) Caliper Mechanism Repair Kit (Left) DX195DX195 DSB5R

MCK1160
Caliper LEVER (90 MM) DX195MCK1161

122214122213

122203 122204

122192 122402

122264122263

122190 122191

122571 
Cal�per Push Plate

122572
Cal�brat�on Bolt (Left) 

123531
Bolt M10X1,5/20 mm

122571 
Cal�per Push Plate

122573
Cal�brat�on Bolt (R�ght) 

123531
Bolt M10X1,5/20 mm

DSB5L

DX195

Bear�ng
S�de

CİVATA VE SOMUN EKLENECEK

80 mm 90 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr166



M
ERITOR

Caliper Complete Repair Kit Right DX195

Caliper Complete Repair Kit Left DX195

122218

122217

122185 122208

122214

122567 124537

125532

122204

122190

122196

122195

129515

122185

122567 124537

125532

122190

122196

122195

129515

122207

122213
122203

R�ght Hand

Left Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 167



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr168



MERITOR Dx 225

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 169



dx
 2

25

Caliper Repair Kit
MCK1172 DX225

Caliper Repair Kit

Caliper Repair Kit

DX225

DX225

122219

122221

122222

123537
Bolt M18X2,5/55 mm

125535
Steel Cap Ø 42/31 mm

123536
Bolt M18X2,5/90 mm

122580
Gu�de P�n Ø 35/98-68 mm 

122581
Gu�de P�n Ø 35/98-68 mm

124541
Boot

124540
Gu�de P�n Boot

124539
Seal

Reta�ner Jo�ner P�n

126526
Bush Ø 35X39/50 mm

125547

125548

124540
Gu�de P�n Boot

124541
Boot

124539
Seal

126526
Bush Ø 35X39/50 mm

MCK1193

Brake Pad Reta�ner P�n

125535
Steel Cap Ø 42/31 mm

125535
Steel Cap Ø 42/31 mm

123537
Bolt M18X2,5/55 mm

123536
Bolt M18X2,5/90 mm

123537
Bolt M18X2,5/55 mm

123536
Bolt M18X2,5/90 mm

122580
Gu�de P�n Ø 35/98-68 mm 

122581
Gu�de P�n Ø 35/98-68 mm

123533
Bolt M12X1,75/30 mm

125533
Steel Cap

123531

M10X1,5/20 mm
Bolt

123532

M12X1,75/20 mm
Bolt

123534

M8X1,25/20 mm
Bolt

123535
Bolt

125531
Washer

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr170



M
ERITOR

Caliper Repair Kit (Left)122233 DX225

122234 Caliper Repair Kit (rıght)

124539
Seal

124540
Gu�de P�n Boot

125533
Steel Cap

123531

Caliper Bridge 169mm122224 122201

122572

122582

Cal�brat�on Bolt (Left) 

Push Plate 

Bolt 
M10x1.5/20 mm

122227
Cal�per Adjustment Sleeve (Left) 

122224
Cal�per Br�dge Assembly

169mm

124539
Seal

124540
Gu�de P�n Boot

125533
Steel Cap (Short)

123531

122573

122582

Cal�brat�on Bolt (R�ght) 

Push Plate 

Bolt 
M10x1.5/20 mm

122228
Cal�per Adjustment Sleeve (R�ght) 

122224
Cal�per Br�dge Assembly

169mm

122569
Central Fork

122570
Mechan�sm P�n�on

DX225

Dx225DX225 Caliper Repair Kit

Left Hand

R�ght Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 171



dx
 2

25

Caliper Mechanism Repair Kit (Left) DX225

Caliper Mechanism Repair Kit (Right) 

Caliper Mechanism Repair Kit (Left) 

DX225

DX195DX225 Caliper Mechanism Repair Kit (Right) 

122238

122237

122235
Cal�per Adjust�ng Mechan�sm Repa�r K�t (Left)

123534
Cover Bolt M8X1,25/20 mm

123533
Bolt M12X1,75/30 mm

123532
Bolt M12X1,75/20 mm

123535
Plug Bolt

125531
Washer

123531
Bolt M10x1.5/20 mm

122201
Cal�per Repa�r K�t

122236122235

122237 + 125550 = 122357

OEM: MCK1336

122236
Cal�per Adjust�ng Mechan�sm Repa�r K�t (R�ght)

123532
Bolt M12X1,75/20 mm

123535
Plug Bolt

125531
Washer

123531
Bolt M10x1.5/20 mm

122201
Cal�per Repa�r K�t

122238 + 125550 = 122358

OEM: MCK1337

123534
Cover Bolt M8X1,25/20 mm

123533
Bolt M12X1,75/30 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr172



M
ERITOR

Caliper Repair Kit122194 DX195 - DX225MCK1294

122229 Caliper Bridge Assembly (Left) DX225

169 mm

122224
Cal�per Br�dge Assembly

122227
Cal�per Adjustment Sleeve (Left)

122201
Cal�per Repa�r K�t

Caliper Bridge Assembly (Right) 122230 DX225

129515
Cal�per Roller Bear�ng

122567
Shaft Dust Cover

124537
Support Seal

125532
Washer

122566
Cal�per Shaft Assembly

123534

123535
Plug Bolt

125531
Washer

124536

122568

124535

Support Seal 

Bolt M8X1,25/20 mm Cover Gasket

Cover Plate

Left Hand

169 mm

122224
Cal�per Br�dge Assembly

122228
Cal�per Adjustment Sleeve (R�ght)

122201
Cal�per Repa�r K�t

R�ght Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 173



dx
 2

25

Caliper Eccentric Shaft Kit DX195 - DX225

Caliper Repair Kit (Right) DX225

Caliper Repair Kit (Left) DX225

DX225

122224
Cal�per Br�dge Assembly 169 mm

122227
Cal�per Adjustment Sleeve (Left)

122201
Cal�per Repa�r K�t

122228
Cal�per Adjustment Sleeve (R�ght)

122196

Ø35 x 44 x 5,7/8 mm 

Ø52 / Ø46 x 20 mm 

Caliper Repair Kit122223

122231

122232

123531

122572

122582

Cal�brat�on Bolt (Left) 

Push Plate Bolt M10x1.5/20 mm

122224
Cal�per Br�dge Assembly 169 mm

123531
Bolt M10x1.5/20 mm

122573

122582

Cal�brat�on Bolt (R�ght) 

Push Plate 

122201
Cal�per Center�ng Gear K�t

122566
Shaft

129516
Shaft Bear�ng

124536
Shaft Seal

124541
Boot

124540
Gu�de P�n Boot124539

Seal

125531
Washer

123535
Plug Bolt

123532
Bolt M12X1,75/20 mm

123534
Cover Bolt M8X1,25/20 mm

123533
Bolt M12X1,75/30 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr174



M
ERITOR

Caliper Cover KitCaliper Boot Kit DX195-DX225DX225122220

124539
Seal

124541
Boot

124540
Gu�de P�n Boot

Ø52 / Ø46 x 20 mm
Ø72 / Ø68 x 28 mm

129516
Shaft Roller Bear�ng 129517

Bear�ng Outer Race

129515
Cal�per Roller 

Bear�ng

124537
Cover Plate Seal 122567

Shaft Dust Cover 

Caliper Roller Bearing KitPush Plate DX195DX255 122197 MCK1344

Caliper Dust Cover KitCaliper Seal Kit DX195DX195122198 122199

Metal Cover Gasket DX225

122195

122582

125550

123534122568 124535

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 175



dx
 2

25

Caliper Push Plate Kit (Right)Caliper Push Plate Kit (Left) DX225

Caliper Adjustment Sleeve Kit (Right)Caliper Adjustment Sleeve Kit (Left) DX225DX225

Calibration Bolt (Right)Calibration Bolt (Left) DX225DX225

122225 122226

122227 122228

122573122572

122582
Push Plate

122572
Cal�brat�on Bolt (Left) 

123531
Bolt M10X1,5/20 mm

Caliper LEVER (80 MM) DX195 Caliper LEVER (90 MM)122190 122191

122582
Push Plate

122573
Cal�brat�on Bolt (R�ght) 

123531
Bolt M10X1,5/20 mm

DX225

Dx225
DX195
Dx225MCK1160 MCK1161

80 mm 90 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr176



M
ERITOR

Caliper Cover (Right) DX225

Caliper Pad Retainer DX195 - DX225

Caliper Pad Spring Kit DX225

Caliper Cover (Left) DX225

122192

122284

122283

122193 MBA100

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 177



dx
 2

25

Caliper Complete Repair Kit Right DX225

Caliper Complete Repair Kit Left DX225

122240

122239

122567 124537

125532

122190

122196

122195

129515

122219 122230

122236 122226

122567 124537

125532

122190

122196

122195

129515

122219
122229

122235 122225

R�ght Hand

Left Hand

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr178



M
ERITOR

Caliper Carrier Elsa 225122275 122276 Caliper Carrier Renault 440 W/o Pin
MCK1319 - 68327462 - 85109887 MCK1297 - MCK1322 - 85109886

Caliper Carrier D Duco 22,5122282

Caliper Carrier Ror 22,5 Caliper Carrier Ror 19,5122270 122271 MCK1252 - 883186MERITOR

Caliper Carrier D LISA 122300122299 Caliper Carrier D LISA
68321349 - BDA42968321281

3092253 - 1489072 - 68322778 

305 mm

250 mm

220 mm
 380 mm
408 mm

M18x1,5mm

MERITOR

MERITOR

MERITOR

MERITOR

MERITOR

MERITOR

264 mm

211,50 mm

280 mm
 310 mm
310 mm

M18x1,5mm

246 mm
280 mm
352 mm
370 mm
410 mm

265 mm

217 mm
M18x1,5mm

M20x2mm

244,50 mm
294 mm
350 mm
369 mm

409,50 mm

305 mm

250 mm

M18x1,5mm

M20x2mm

306 mm

250,50 mm

M20x2mm

245 mm
350 mm

369 mm

409 mm

192 mm

354 mm

305 mm

250 mm
M20x1,5mm

289 mm

379 mm

305 mm
250 mm

M20x1,5mm

335 mm

122308 Caliper Carrier Renault 440 WITH PIN
MCK1297 - MCK1322 - 85109886 MERITOR

305 mm
250 mm

244,50 mm
294 mm

M18x1,5mm

M20x2mm

350 mm
369 mm

409,50 mm

PIN ASSEMBLIED PRODUCT NO: 122308

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 179



ca
rr

ıe
r

Caliper Carrier C DUCO122304 68323539

Caliper Carrier 22.5" D3 122404122403 Caliper Carrier MAN 463 - 464
81508026015 - BDA445 - 5001019718

Caliper Carrier RENAULT 380-400 Caliper Carrier DX195122302 122303 MCK1185

Caliper Carrier 22.5" Left & Right 122406122405 Caliper Carrier FORD
68326153MCK1188

BDA443

305 mm

250 mm

245 mm
 349 mm
368 mm

M20x1,5mm

M18x1,5mm

247 mm

207 mm

244 mm

 305 mm
338 mm

M16x1,5mm

M16x2mm

MERITOR MERITOR

MERITOR

MERITOR MERITOR

MERITOR MERITOR

263 mm

217mm

245 mm
 349 mm
369 mm

M20x2mm

280 mm

251 mm

272 mm

M20x2mm

M8x1,5mm

339 mm
351 mm
406 mm

M14x1,5mm

305 mm

250 mm

220 mm

M20x1,5mm

380 mm

M18x1,5mm

408 mm

248 mm

205 mm

327 mm

M16x1,5mm

351 mm

M20x1,5mm

351 mm
327 mm

REAR REAR

305 mm

250 mm
M18x1,5mm

295 mm

M20x1,5mm

322 mm
380 mm
408 mm

122293 Caliper Carrier Elsa 2 22.5"
68323673 - 68323675 - 68323676 MERITOR

306 mm

250,50 mm

M18x1,5mm

245 mm
294 mm

350,50 mm
369 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr180



M
ERITOR

Caliper Bridge Kit  Caliper Bridge Kit  122407 122408MERITOR MERITOR

Caliper Bridge Kit  122409 MERITOR

/ bachmann.caliper

/ bachmann_caliper

/ BachmannCaliper

393 mm

280 mm

280 mm
M16 x 1,5 x 40 mm

350 mm

250 mm

280 mm

M14 x 1,5 x 40 mm

391 mm

260 mm

286 mm
M16 x 1,5 x 40 mm

Caliper Carrier 19,5 Caliper Carrier 22,5122419 122420 68325994 - MCK1384MERITOR MERITOR

264 mm
218 mm

245 mm

 350 mm

M18x1,5mm

68325353 - MCK1321

264 mm

211 mm

245 mm

 350 mm
369 mm

M18x1,5mm

280 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 181



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr182



wabco pan 17.5"

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 183



pa
n 

17
.5

"

Caliper Repair Kit PAN 17.5"

Caliper Repair Kit Caliper Repair Kit

Caliper Repair Kit

133010

133510
Bolt M16X1,5/90 mm 

133511
Bolt M16X1,5/70 mm 

135513
Plast�c Plug

135511
Steel Cap Ø 34/17 mm 134514

Dust Boot

134511
Gu�de P�n Boot

116512

132511
Gu�de P�n Ø 30/77 mm

132510
Gu�de P�n Ø 30/91 mm 

136514

133011

133012 133013

Bush Ø 30X34/20 mm  

12 999 699 - 12 999 702

PAN 17.5"

135511
Steel Cap Ø 34/17 mm 134514

Dust Boot

134511
Gu�de P�n Boot

116512

132511
Gu�de P�n Ø 30/77 mm

132510
Gu�de P�n Ø 30/91 mm 

136514
Bush Ø 30X34/20 mm  

PAN 17.5"PAN 17.5"

135511
Steel Cap Ø 34/17 mm 

134514
Dust Boot

134511
Gu�de P�n Boot

116512

136514

Bush Ø 30X34/20 mm  

134514
Dust Boot

134511
Gu�de P�n Boot

135511
Steel Cap Ø 34/17 mm 

Bush 
Ø30x34/25 mm 

Bush Ø 30X34/25 mm 

Bush Ø 30X34/25 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr184



w
abco

Caliper Cover KitCaliper Boot Kit MAXX 17
MAXX 22T

Caliper Repair Kit

Caliper Roller Bearing KitCaliper Lever
PAN 17.5"

PAN 19.5" / 22.5" 
SINGLE PISTON

Caliper Repair Kit 

133037

133152

134514
Dust Boot

134511
Gu�de P�n Boot

135513
Plast�c Plug134512

Cal�per Seal

133036

133184

135511
Steel Cap

134511
Gu�de P�n Boot

133019
Steel Cap

134513
Seal 136514

133014

134514
Dust Boot

134511
Gu�de P�n Boot

133018

135511
Steel Cap 133019

Steel Cap

134514
Dust Boot

133510
Bolt M16X1,5/90 mm 

133511
Bolt M16X1,5/70 mm 

134514
Dust Boot

116512
132511

Gu�de P�n Ø 30/77 mm
132510

Gu�de P�n Ø 30/91 mm 

Bush Ø 30X34/20 mm  

Ø 34/17 mm 

PAN 17.5"

PAN 17.5"

PAN 17.5"

PAN 17.5"
PAN 19.5" / 22.5" 

SINGLE PISTON

Back V�ew

Bush
Ø 30X34/25 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 185



pa
n 

17
.5

"

Caliper Adjusting Mechanism Kit 

Caliper Repair Kit

Caliper Adjusting Mechanism Kit 

12 999 580 - 81.50822.6003 - 1517407

133020

133021
Cal�per Cal�brat�on Bolt 87 mm 

132514
Spr�ng Plug

132513
Spr�ng Reta�ner

135517
Spr�ng Washer137610

C�rcl�p

138510

135516
Washer Ø45 x Ø32 mm

135515
Washer135514

Washer Ø49,4 x Ø35,5 mm
138511
Spr�ng

132512
Adjuster Sleeve

133185

Spr�ng
Ø42,5 x 22 mm

133015

135513
Plast�c Plug134514

Dust Boot
134511

Gu�de P�n Boot
133512

Cover Bolt M10X1/40 mm

135512
Cover Gasket

134512
Cal�per Seal

TO ORDER WITH 133026 INSTEAD OF 
133021, PLEASE USE 133024 PRODUCT NUMBER

PAN 17.5"

PAN 17.5"

133021
Cal�per Cal�brat�on Bolt 87 mm 

132514
Spr�ng Plug

138510
Spr�ng Ø42,5 x 22 mm

135517
Spr�ng Washer

132512
Adjuster Sleeve

132513
Spr�ng Reta�ner

PAN 17.5"

133510
Bolt M16X1,5/90 mm 

133511
Bolt M16X1,5/70 mm 

116512 136514
Bush Ø 30X34/20 mm  

135511
Steel Cap Ø 34/17 mm 

Bush Ø 30X34/25 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr186



w
abco

Caliper Repair Kit PAN 17.5"

Caliper Repair Kit Caliper Repair Kit
PAN 17.5"

PAN 19.5" / 22.5" 
SINGLE PISTON

MAXX 17
PAN 17.5"

PAN 19.5" / 22.5" 
SINGLE PISTON

133016

133174 133162

Caliper Complete Mechanism Kit Caliper Complete Mechanism Kit PAN 17.5"PAN 17.5"133023 133027

135513
Plast�c Plug

135512
Cover Gasket 134512

Cal�per Seal

133174 + 134513 = 133034

133512

133510
Bolt M16X1,5/90 mm 

133511
Bolt M16X1,5/70 mm 

135511
Steel Cap Ø 34/17 mm 134514

Dust Boot
134511

Gu�de P�n Boot

116512
136514Bush Ø 30X34/20 mm  

12 999 704 - 1519363 - 5001 852 880

135513
Plast�c Plug

134512
Cal�per Seal

Cover Bolt M10X1/40 mm

Bush Ø 30X34/25 mm 

133228 138517

135512
Cover Gasket

138517

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 187



pa
n 

17
.5

"

Caliper Repair Kit PAN 17.5"

Caliper Cover Caliper Repair Kit PAN 17.5"
PAN 17.5"

PAN 19.5" / 22.5" 
SINGLE PISTON

135511
Steel Cap Ø 34/17 mm 

TO ORDER WITH 133026 INSTEAD OF 
133021, PLEASE USE 133031 PRODUCT NUMBER

133186 133017

133512

133028

134511
Gu�de P�n Boot

136514

133510
Bolt M16X1,5/90 mm 

133511
Bolt M16X1,5/70 mm 

134514
Dust Boot

116512

132511
Gu�de P�n Ø 30/77 mm

132510
Gu�de P�n Ø 30/91 mm 

Bush Ø 30X34/20 mm  

135513
Plast�c Plug

133021
Cal�per Cal�brat�on Bolt 87 mm 132514

Spr�ng Plug
132513

Spr�ng Reta�ner
138510 132512

Adjuster SleeveSpr�ng
Ø42,5 x 22 mm

135517
Spr�ng Washer137610

C�rcl�p
135516

Washer Ø45 x Ø32 mm

135515
Washer Ø41,4 x Ø14,25mm135514

Washer Ø49,4 x Ø35,5 mm
138511

Spr�ng Ø22,30 x 22,15mm

Inner S�de

132511
Gu�de P�n Ø 30/77 mm

132510
Gu�de P�n Ø 30/91 mm 

Cover Bolt M10X1/40 mm

133510
Bolt M16X1,5/90 mm 

133511
Bolt M16X1,5/70 mm 

Bush Ø 30X34/25 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr188



w
abco

Caliper Calibration Bolt 87 mmCaliper Calibration Bolt 87 mm 

Caliper Push Plate (Right)Caliper Push Plate (Left)

Caliper Push Plate (Right)Caliper Push Plate (Left)

Caliper Adjusting Mechanism Repair Kit PAN 17.5" -  PAN 19.5" / 22.5" SINGLE PISTON

133033133032

133029 133030

133021 133026

133035

135517
Spr�ng Washer137610

C�rcl�p
135516

Washer Ø45 x Ø32 mm

135515
Washer Ø41,4 x Ø14,25mm135514

Washer Ø49,4 x Ø35,5 mm
138511

Spr�ng Ø22,30 x 22,15mm

PAN 17.5" PAN 17.5"

PAN 17.5" PAN 17.5"

PAN 17.5" PAN 17.5"

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 189



pa
n 

17
.5

"

Caliper Spring Kit

Caliper REPAIR KIT PAN 17.5"

Caliper Support Seal Kit Caliper Steel Cap KitPAN 17.5" PAN 17.5"133187

134513
Seal

133019
Steel Cap

133188

133260

133165

138510
Tors�on Spr�ng

135517
Spr�ng Washer138511

Spr�ng Ø22,30 x 22,15mm
138517
Spr�ng

PAN 17.5" - PAN 19.5" / 22.5" SINGLE PISTON

Caliper Shaft Housing 133022

132547
Mechan�sm Support

138517
Spr�ng

PAN 17.5" BRAKE PAD RETAINER REPAIR KIT133025 PAN 17.5"

133023 133036 133037

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr190



w
abco

Caliper Complete Repair Kit PAN 17.5"

Caliper Complete Repair Kit 

133038

133010

133030 133037

133039

133023

133036 134512

PAN 17.5"

 

TO ORDER WITH 133027 INSTEAD OF133023, 
PLEASE USE 133040 PRODUCT NUMBER

133010

133029 133037

133023

133036 134512

 

TO ORDER WITH 133027 INSTEAD OF 133023, 
PLEASE USE 133041 PRODUCT NUMBER

133512

135512

133512

135512

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 191



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr192



wabco PAN 19.5" / 22.5"
SINGLE PISTON

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 193



PA
N 

19
.5

" /
 2

2.
5"

 SI
NG

LE
 P

IS
TO

N Caliper Repair Kit
12 999 776 - 85108166 - 5001 866 626 PAN 19.5" / 22.5" SINGLE PISTON

Caliper Repair Kit PAN 19.5" / 22.5" SINGLE PISTON

Caliper Repair Kit
12 999 738 - 1505890 - 3 434 3827 01 PAN 19.5" / 22.5" SINGLE PISTON133046

133042

132515
Gu�de P�n Ø 38/120 mm 

132516
Gu�de P�n Ø 38/76 mm

133513
Bolt M16X1,5/120 mm 

123529
Bolt M16X1,5/80 mm

135520
Washer

134515
Gu�de P�n Boot

134514
Dust Boot

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap Ø 42/17 mm 

135518
Steel Cap Ø 42/28 mm 

135513
Plast�c Plug

133047

132515
Gu�de P�n Ø 38/120 mm 

132516
Gu�de P�n Ø 38/76 mm

133513
Bolt M16X1,5/120 mm 

123529
Bolt M16X1,5/80 mm

135520
Washer

134515
Gu�de P�n Boot

134514
Dust Boot

136510
Bush Ø 38X42/30 mm  

135518
Steel Cap Ø 42/28 mm 

134516
Gu�de P�n Boot

135519
Steel Cap 
Ø 42/17 mm 

132515
Gu�de P�n Ø 38/120 mm 

132516
Gu�de P�n Ø 38/76 mm

133513
Bolt M16X1,5/120 mm 

123529
Bolt M16X1,5/80 mm

135520
Washer

134515
Gu�de P�n Boot

134514
Dust Boot

136510
Bush Ø 38X42/30 mm  

135518
Steel Cap

Ø 42/28 mm 

135513
Plast�c
Plug

135519
Steel Cap 

Ø 42/17 mm 

135513
Plast�c Plug

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr194



w
abco

Caliper Repair Kit PAN 19.5" / 22.5" SINGLE PISTON133043

132515
Gu�de P�n Ø 38/120 mm 

132516
Gu�de P�n Ø 38/76 mm 135520

Washer

134515
Gu�de P�n Boot

134514
Dust Boot

136510
Bush Ø 38X42/30 mm  

135518
Steel Cap Ø 42/28 mm 

135513
Plast�c Plug

135519
Steel Cap Ø 42/17 mm 

Caliper Adjusting Mechanism Kit PAN 19.5" / 22.5" SINGLE PISTON133189

132514
Spr�ng Plug

132513
Spr�ng Reta�ner

138510
Spr�ng

Ø42,5 x 22 mm

133052
Cal�per Cal�brat�on Bolt 91 mm 

135517
Spr�ng
Washer

132517
Adjuster Sleeve 115 mm

Caliper Repair Kit PAN 19.5" / 22.5" SINGLE PISTON133045

134515
Gu�de P�n Boot

134514
Dust Boot

136510
Bush Ø 38X42/30 mm  135520

Washer

Caliper Complete Mechanism Kit 133053 133035

137610
C�rcl�p

135516
Washer Ø45 x Ø32 mm

135514
Washer Ø49,4 x Ø35,5 mm

135517
Spr�ng Washer

135515
Washer Ø41,4 x Ø14,25mm138511

Spr�ng Ø22,30 x 22,15mm

PAN 19.5" / 22.5" 
SINGLE PISTON

PAN 19.5" / 22.5" 
SINGLE PISTON

Caliper Adjusting Mechanism 
Repair Kit

133229 138517

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 195



PA
N 

19
.5

" /
 2

2.
5"

 SI
NG

LE
 P

IS
TO

N Caliper Adjusting Mechanism Kit

Caliper Repair Kit

133050

137610
C�rcl�p

135516
Washer Ø45 x Ø32 mm

135515
Washer Ø41,4 x Ø14,25mm135514

Washer Ø49,4 x Ø35,5 mm
138511

Spr�ng Ø22,30 x 22,15mm

133167

133512
Cover Bolt M10X1/40 mm

135512
Cover Gasket

PAN 19.5" / 22.5" SINGLE PISTON

134512
Cal�per Seal

135513
Plast�c Plug135520

Washer 133513
Bolt M16X1,5/120 mm 

123529
Bolt M16X1,5/80 mm

134515
Gu�de P�n Boot

134514
Dust Boot

136510
Bush Ø 38X42/30 mm  

135518
Steel Cap Ø 42/28 mm 

135519
Steel Cap Ø 42/17 mm 

Caliper Repair Kit133048 PAN 19.5" / 22.5" 
SINGLE PISTON

PAN 19.5" / 22.5" SINGLE PISTON

132515
Gu�de P�n Ø 38/120 mm 

132516
Gu�de P�n Ø 38/76 mm

133513
Bolt M16X1,5/120 mm 

123529
Bolt M16X1,5/80 mm

133512
Cover Bolt M10X1/40 mm

Caliper Repair Kit133049 PAN 19.5" / 22.5" 
SINGLE PISTON

134514
Dust Boot

134515
Gu�de P�n Boot

135513
Plast�c Plug

135520
Washer

134516
Gu�de P�n Boot

135519
Steel Cap

Ø 42/17 mm 

136510
Bush Ø 38X42/30 mm  

135518
Steel Cap Ø 42/28 mm 

132514
Spr�ng Plug

132513
Spr�ng Reta�ner

138510
Spr�ng

Ø42,5 x 22 mm

133052
Cal�per Cal�brat�on Bolt 91 mm 

135517
Spr�ng
Washer

132517
Adjuster Sleeve 115 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr196



w
abco

Caliper Repair Kit133054 PAN 19.5" / 22.5" SINGLE PISTON

135519
Steel Cap Ø 42/17 mm 

134514
Dust Boot

135513
Plast�c Plug

132515
Gu�de P�n Ø 38/120 mm 

132516
Gu�de P�n Ø 38/76 mm

133513
Bolt M16X1,5/120 mm 

123529
Bolt M16X1,5/80 mm

137610
C�rcl�p

135516
Washer Ø45 x Ø32 mm

135515
Washer 

Ø41,4 x Ø14,25mm

135514
Washer

Ø49,4 x Ø35,5 mm

138511
Spr�ng

Ø22,30 x 22,15mm

136510
Bush Ø 38X42/30 mm  

135518
Steel Cap Ø 42/28 mm 

134515
Gu�de P�n Boot

Caliper Repair Kit133057 PAN 19.5" / 22.5" SINGLE PISTON

135520
Washer

135519
Steel Cap Ø 42/17 mm 

134514
Dust Boot

135513
Plast�c Plug

132515
Gu�de P�n Ø 38/120 mm 

132516
Gu�de P�n Ø 38/76 mm

133513
Bolt M16X1,5/120 mm 

123529
Bolt M16X1,5/80 mm

137610
C�rcl�p

135516
Washer Ø45 x Ø32 mm

135515
Washer 

Ø41,4 x Ø14,25mm
135514

Washer
Ø49,4 x Ø35,5 mm

138511
Spr�ng

Ø22,30 x 22,15mm

136510
Bush Ø 38X42/30 mm  

135518
Steel Cap Ø 42/28 mm 

134515
Gu�de P�n Boot

134516
Gu�de P�n Boot

135520
Washer

132514
Spr�ng Plug

132513
Spr�ng Reta�ner

138510
Spr�ng

Ø42,5 x 22 mm

133052
Cal�per Cal�brat�on Bolt 91 mm 

135517
Spr�ng
Washer

132517
Adjuster Sleeve 115 mm

132514
Spr�ng Plug

132513
Spr�ng Reta�ner

138510
Spr�ng

Ø42,5 x 22 mm

133052
Cal�per Cal�brat�on Bolt 91 mm 

135517
Spr�ng
Washer

132517
Adjuster Sleeve 115 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 197



PA
N 

19
.5

" /
 2

2.
5"

 SI
NG

LE
 P

IS
TO

N Caliper Boot KitCaliper Boot Kit

Caliper Roller Bearing KitCaliper Lever

Caliper Push Plate (Right)Caliper Push Plate (Left)

Caliper Push Plate (Left) Caliper Push Plate (Right)

PAN 19.5" / 22.5" 
SINGLE PISTON

MAXX 17
MAXX 22T

PAN 19.5" / 22.5" 
SINGLE PISTON

PAN 17.5"
PAN 19.5" / 22.5" 

SINGLE PISTON

PAN 19.5" / 22.5" 
SINGLE PISTON

PAN 19.5" / 22.5" 
SINGLE PISTON

133152133044

133037133036

133058 133059

133055 133056

Back V�ew

134514
Dust Boot

134515
Gu�de P�n Boot

135520
Washer

134514
Dust Boot

134512
Cal�per Seal

135513
Plast�c Plug

PAN 17.5"
PAN 19.5" / 22.5" 

SINGLE PISTON

MAXX 22T
PAN 19.5" / 22.5" 

SINGLE PISTON

MAXX 22T
PAN 19.5" / 22.5" 

SINGLE PISTON

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr198



w
abco

Caliper Shaft HousingCaliper Calibration Bolt 91 mm 

Caliper Steel Cap KitCaliper Brake Pad Retainer
Repair Kit

Caliper Repair KitCaliper Spring Kit

Caliper CoverCaliper Repair Kit 

Caliper Washer Kit

PAN 19.5" / 22.5" 
SINGLE PISTON

PAN 19.5" / 22.5" 
SINGLE PISTON

PAN 19.5" / 22.5" 
SINGLE PISTON

PAN 19.5" / 22.5" 
SINGLE PISTON

PAN 19.5" / 22.5" 
SINGLE PISTON

PAN 19.5" / 22.5" SINGLE PISTON
PAN 19.5" / 22.5" DOUBLE PISTON

133165 133162

138510
Tors�on Spr�ng

135517
Spr�ng Washer

138517
Spr�ng

138511
Spr�ng

Ø22,30 x 22,15mm
133512

135513
Plast�c Plug

135512
Cover Gasket

134512
Cal�per Seal

Cover Bolt M10X1/40 mm

PAN 17.5"
PAN 19.5" / 22.5" 

SINGLE PISTON

PAN 17.5"
PAN 19.5" / 22.5" 

SINGLE PISTON

133061 133190

135538
Steel Cap Ø 42/33 mm 

133051

132562
Mechan�sm Support

138517
Spr�ng

133052

133191

135520
Washer

133060

133174

135513
Plast�c Plug135512

Cover Gasket

134512
Cal�per Seal

133186
MAXX 17

PAN 17.5"
PAN 19.5" / 22.5" 

SINGLE PISTON

PAN 17.5"
PAN 19.5" / 22.5" 

SINGLE PISTON

Caliper Brake Pad Retainer 
Repair Kit

Inner S�de

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 199



PA
N 

19
.5

" /
 2

2.
5"

 SI
NG

LE
 P

IS
TO

N Caliper Complete Repair Kit (LEFT) PAN 19.5" / 22.5" SINGLE PISTON133063

133042
133036

133053

133055 133037

134512

133512

135512

Caliper Complete Repair Kit (RIGHT) PAN 19.5" / 22.5" SINGLE PISTON133062

133042
133036

133053

133056 133037

134512

133512

135512

Caliper REPAIR KIT PAN 19.5"133258

133053133036133037

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr200



w
abco

Caliper Complete Repair Kit (RIGHT) 

Caliper Complete Repair Kit (LEFT)

PAN 19.5" / 22.5" SINGLE PISTON

PAN 19.5" / 22.5" SINGLE PISTON

133064

133042
133036

133053

133059 133037

134512

133065

133042
133036

133053

133058 133037

134512

133512

135512

133512

135512

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 201



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr202



wabco PAN 19.5" / 22.5"
DOUBLE PISTON

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 203



PA
N 

19
.5

" /
 2

2.
5"

 D
OU

BL
E P

IS
TO

N Caliper Repair Kit
12 999 746 - 1440505 - 5001 858 722 PAN 19.5" / 22.5" DOUBLE PISTON

Caliper Repair Kit PAN 19.5" / 22.5" DOUBLE PISTON

Caliper Repair Kit PAN 19.5" / 22.5" DOUBLE PISTON

133066

133192

133070
Tappet & Boot Assembly

134516
Gu�de P�n Boot

133071

132515
Gu�de P�n Ø 38/120 mm 

132516
Gu�de P�n Ø 38/76 mm

133513
Bolt M16X1,5/120 mm 

123529
Bolt M16X1,5/80 mm

135520
Washer

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap 

Ø 42/17 mm 
135518
Steel Cap

Ø 42/28 mm 
135513

Plast�c Plug

134516
Gu�de P�n Boot

132515
Gu�de P�n Ø 38/120 mm 

132516
Gu�de P�n Ø 38/76 mm

133513
Bolt M16X1,5/120 mm 

123529
Bolt M16X1,5/80 mm

135520
Washer

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap Ø 42/17 mm 

135518
Steel Cap Ø 42/28 mm 

135513
Plast�c Plug

12 999 677 - 865965 - 5021 170 487

133070
Tappet & Boot Assembly

134516
Gu�de P�n Boot

123529
Bolt M16X1,5/80 mm

135520
Washer

134530
Outer Boot

135519
Steel Cap Ø 42/17 mm 

135513
Plast�c Plug

135521
R�ng Ø 42X57X11 mm 

133514
Gu�de P�n Bolt M16X1,5/130 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr204



w
abco

Caliper Repair Kit PAN 19.5" / 22.5" DOUBLE PISTON133069

134516
Gu�de P�n Boot

123529
Bolt M16X1,5/80 mm

135520
Washer

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap Ø 42/17 mm 

132519
Gu�de P�n Ø 38/128 mm 

132520
Gu�de P�n Ø 38/70 mm

134530
Outer Boot

133514
Gu�de P�n Bolt M16X1,5/130 mm

135521
R�ng

Ø 42X57X11 mm 

12 999 678 - 865966 - 5021 170 488

Caliper Tappet Kit Caliper Repair Kit

Caliper Tappet Kit Caliper Brake Pad Retainer
Repair Kit

PAN 19.5" / 22.5" 
double PISTON

PAN 19.5" / 22.5" 
double PISTON

PAN 19.5" / 22.5" 
double PISTON

PAN 19.5" / 22.5" 
double PISTON

133070

132518  ONLY TAPPET METAL

137611  CIRCLIP

134517  BOOT

133088

133067 133068

133070
Tappet & Boot Assembly

134516
Gu�de P�n Boot

132515
Gu�de P�n Ø 38/120 mm 

132516
Gu�de P�n Ø 38/76 mm

133513
Bolt M16X1,5/120 mm 

123529
Bolt M16X1,5/80 mm

135520
Washer

135513
Plast�c Plug

133070
Tappet & Boot Assembly

135520
Washer

134516
Gu�de P�n Boot

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 205



PA
N 

19
.5

" /
 2

2.
5"

 D
OU

BL
E P

IS
TO

N

Caliper Adjusting Gear Kit (Left - Right) 

Caliper Repair Kit

Caliper Lever Pin Kit

Caliper Adjusting Gear Kit (Right) 

PAN 19.5" / 22.5" DOUBLE PISTON

PAN 19.5" / 22.5" DOUBLE PISTON

PAN 19.5" / 22.5" 
DOUBLE PISTON

PAN 19.5" / 22.5" 
DOUBLE PISTON

PAN 19.5" / 22.5" DOUBLE PISTON

133081

133080

133193

132525
Adjuster Gear (Left)

133079 133078Caliper Adjusting Gear Kit (Left) 

Back V�ew

132525
Adjuster Gear (Left)

132526
Adjuster Gear (R�ght)

132526
Adjuster Gear (R�ght)

132525
Adjuster Gear (Left)

132526
Adjuster Gear (R�ght)

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr206



w
abco

Caliper Bridge Assembly PAN 19.5" / 22.5" DOUBLE PISTON

Caliper Calibration Bolt Kit (Right) PAN 19.5" / 22.5" 
DOUBLE PISTON

PAN 19.5" / 22.5" 
DOUBLE PISTONCaliper Calibration Bolt Kit (Left)

Caliper Lever Pin PAN 19.5" / 22.5" 
DOUBLE PISTON

PAN 19.5" / 22.5" 
DOUBLE PISTONCaliper Lever Repair Kit

133073 133074

133194

132521

132522
Cal�brat�on Bolt Lock�ng Plate

137612

133083 133087

Caliper Adjusting Gear Kit PAN 19.5" / 22.5" 
DOUBLE PISTON133085

Cal�brat�on Bolt (Left) 

C�rcl�p

132523

132522
Cal�brat�on Bolt Lock�ng Plate

137612

Cal�brat�on Bolt (R�ght) 

C�rcl�p

Back V�ew

Caliper Bridge Assembly PAN 19.5" / 22.5" DOUBLE PISTON133077

132522
Cal�brat�on Bolt Lock�ng Plate

132521
Cal�brat�on Bolt (Left) 

132523
Cal�brat�on Bolt (R�ght) 

137612
C�rcl�p

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 207



PA
N 

19
.5

" /
 2

2.
5"

 D
OU

BL
E P

IS
TO

N Caliper Repair Kit

Caliper Bearing Housing 

PAN 19.5" / 22.5" DOUBLE PISTON

PAN 19.5" / 22.5" 
DOUBLE PISTON

PAN 19.5" / 22.5" 
sıngle / double PISTONCaliper Washer Kit

Caliper Lever Complete Kit PAN 19.5" / 22.5" 
DOUBLE PISTON

PAN 19.5" / 22.5" 
DOUBLE PISTONCaliper Lever 

Caliper Roller Bearing Kit PAN 19.5" / 22.5" 
DOUBLE PISTON

PAN 19.5" / 22.5" 
DOUBLE PISTONCaliper Roller Bearing Kit

133072

133191

133084

135523 
Cover Gasket

135520

133082

133086

133075 133076

135513

134512

Washer

Back V�ew

133512
Bolt 

123512
Bolt M16X1,5/40 mm

Support Seal 

Plug

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr208



w
abco

Caliper Complete Repair Kit

Caliper Complete Repair Kit

PAN 19.5" / 22.5" double PISTON

PAN 19.5" / 22.5" double PISTON

133089

133090

133066 133081

133086133084

133073 133074

133194
133075

133076

133070

133086133084

133073 133074

133194
133075

133076

133069

123512 133512

135523

133081123512 133512

135523

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 209



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr210



wabco maxx 17

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 211



m
ax

x 
17

Caliper Repair Kit MAXX 17133169

Caliper Complete Mechanism Kit Caliper Boot Kit

Caliper Repair Kit Caliper Repair Kit

113514
Gu�de P�n Bolt M16X1,5/80 mm

135513
Plast�c Plug

135511
Steel Cap Ø 34/17 mm 134514

Dust Boot

134511
Gu�de P�n Boot

132558
Gu�de P�n Ø 30/77 mm

132557
Gu�de P�n Ø 30/91 mm 

136514

133195 133013

133173 133014

134514
Dust Boot

134511
Gu�de P�n Boot

MAXX 17

MAXX 17

MAXX 17

pan 17.5"
MAXX 17

135511
Steel Cap Ø 34/17 mm 

134514
Dust Boot

134511
Gu�de P�n Boot

136514
134514

Dust Boot

135511
Steel Cap Ø 34/17 mm 

134511
Gu�de P�n Boot

Bush Ø 30X34/25 mm 

Bush Ø 30X34/25 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr212



w
abco

Caliper Repair Kit

Caliper Boot KitCaliper Calibration Bolt

Caliper Shaft Housing Caliper Repair Kit 

Caliper Roller Bearing Kit
maxx 17

PAN 17.5"
PAN 19.5" / 22.5" 

SINGLE PISTON

MAXX 17
MAXX 19
MAXX 22

MAXX 22L
MAXX 22T

Caliper Mechanism Washer Kit 133037

135527
Washer

137614
C�rcl�p

137613
C�rcl�p

135526
Washer

135525
Washer

133096

133152

135513
Plast�c Plug134514

Dust Boot
134512

Cal�per Seal

133154

133170

133171133162

135513
Plast�c Plug

135512
Cover Gasket

134512
Cal�per Seal

MAXX 17

MAXX 17
MAXX 22t

MAXX 17 - PAN 17.5"
PAN 19.5" / 22.5" 

SINGLE PISTON
MAXX 17

113514
Gu�de P�n Bolt M16X1,5/80 mm

135511
Steel Cap Ø 34/17 mm 134514

Dust Boot
134511

Gu�de P�n Boot
136514

MAXX 17
MAXX 22t

Bush Ø 30X34/25 mm 

133512
Cover Bolt M10X1/40 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 213



Caliper Adjusting Mechanism Kit MAXX 17133172

132559
Adjuster Sleeve

133154
Cal�brat�on Bolt

138513
Spr�ng 

Ø42,6 x 25 mm

137613
C�rcl�p Small 137614

C�rcl�p B�g
135525

Washer Ø35,3 x Ø24,3 mm
135527
Washer 

Ø46,75 x Ø34,5 mm

135526
Washer

Ø52,7 x Ø41 mm

132560
Spr�ng Plug 

Ø33,75 x 30,4 mm

132561
Reta�ner

Ø38,75 x Ø34 x13,8mm
135537

Tr�angle Washer

m
ax

x 
17

Caliper Push Plate (Left)

Caliper Push Plate (Right)

133242

133243

Caliper LEVER 133175 MAXX 17 Caliper COVER133252 MAXX 17

Inner S�de

MAXX 17

MAXX 17

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr214



w
abco

Caliper Complete Repair Kit (Right)133177

133169
133173

133037 134512
133175

MAXX 17

Caliper Complete Repair Kit (Left)133176

133037 134512
133175

133169
133512

135512

133173

MAXX 17

133512

135512

133243

133242

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 215



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr216



wabco maxx 17
CWS

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 217



m
ax

x 
17

 C
W

S

Caliper Repair Kit MAXX 17 CWS133238

Caliper Complete Mechanism Kit Caliper Boot Kit

Caliper Repair Kit Caliper Repair Kit

113514
Gu�de P�n Bolt M16X1,5/80 mm

135511
Steel Cap Ø 34/17 mm 

134514
Dust Boot

134511
Gu�de P�n Boot

132558
Gu�de P�n Ø 30/77 mm

132557
Gu�de P�n Ø 30/91 mm 

136514

133195 133013

133235 133014

134514
Dust Boot

134511
Gu�de P�n Boot

MAXX 17

MAXX 17

MAXX 17 CWS

135511
Steel Cap Ø 34/17 mm 

134514
Dust Boot

134511
Gu�de P�n Boot

136514
134514

Dust Boot

135511
Steel Cap Ø 34/17 mm 

134511
Gu�de P�n Boot

Bush Ø 30X34/25 mm 

Bush Ø 30X34/25 mm 

MAXX 17

134536 133520
Shaft Seal Bolt 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr218



w
abco

Caliper Repair Kit

Caliper Calibration Bolt Caliper Shaft Housing 

Caliper Repair Kit 

Caliper Roller Bearing Kit
maxx 17

PAN 17.5"
PAN 19.5" / 22.5" 

SINGLE PISTON

Caliper Mechanism Washer Kit 133037

135527
Washer

137614
C�rcl�p

137613
C�rcl�p

135526
Washer

135525
Washer

133096

133239

133170

133171

133240

135512
Cover Gasket

MAXX 17

MAXX 17

113514
Gu�de P�n Bolt M16X1,5/80 mm

135511
Steel Cap Ø 34/17 mm 134514

Dust Boot
134511

Gu�de P�n Boot
136514

Bush Ø 30X34/25 mm 

133512
Cover Bolt M10X1/40 mm

MAXX 17 CWS

Caliper Repair Kit MAXX 17133198

134519

134536
133520Shaft Seal 

Bolt 

134514
Dust Boot

Support Seal 

MAXX 17 CWS

134519
Support Seal 

134536 133520
Shaft Seal 

Bolt 

MAXX 17 CWS

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 219



Caliper Adjusting Mechanism Kit MAXX 17 CWS133236

132573
Adjuster Sleeve

133239
Cal�brat�on Bolt

138513
Spr�ng 

Ø42,6 x 25 mm

137613
C�rcl�p Small 137614

C�rcl�p B�g
135525

Washer Ø35,3 x Ø24,3 mm
135527
Washer 

Ø46,75 x Ø34,5 mm

135526
Washer

Ø52,7 x Ø41 mm

132560
Spr�ng Plug 

Ø33,75 x 30,4 mm

132561
Reta�ner

Ø38,75 x Ø34 x13,8mm

132532
Adjust�ng Gear

m
ax

x 
17

 C
W

S

Caliper LEVER 133175 MAXX 17 Caliper COVER CWS133256 MAXX 17

Caliper PUSH PLATE (LEFT)133242 PAN 17.5"
MAXX 17

Caliper PUSH PLATE (RIGHT)133243 PAN 17.5"
MAXX 17

Caliper SENSOR COVER (110 CM)133250 MAXX 17

PLEASE ORDER WITH 133251 FOR 130 CM

Inner S�de

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr220



w
abco

Caliper Complete Repair Kit (Right)133245

133243

133238

133037
133175

MAXX 17 CWS

Caliper Complete Repair Kit (Left)133244

133037 134519133242
133175

133238 133512

135512

133235

MAXX 17 CWS

133512

135512

134519

133235

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 221



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr222



wabco maxx 19

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 223



Caliper Repair Kit

Caliper Repair Kit

Caliper Repair KitCaliper Boot Kit

Caliper Cover Kit Caliper Lever

MAXX 19

MAXX 19

MAXX 19MAXX 19
MAXX 22L

MAXX 19

133196

134532
Gu�de P�n Boot

134514
Dust Boot

132566
Gu�de P�n Ø 38/104 mm 

132549
Gu�de P�n Ø 38/76 mm

113514
Bolt M16X1,5/80 mm

134536
133520

133134

133168 133159

135536
Cover (W�th Gasket)

133197

133198

134519

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap Ø 42/17 mm 

Shaft Seal 
Bolt 

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap Ø 42/17 mm 

134514
Dust Boot

134532
Gu�de P�n Boot

134536 133520
Shaft Seal Bolt 

134514
Dust Boot

134532
Gu�de P�n Boot

134536
133520Shaft Seal 

Bolt 

134514
Dust Boot

Support Seal 

m
ax

x 
19

MAXX 19
MAXX 22t

113515
Bolt M8X1,25/16 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr224



w
abco

Caliper Adjusting Mechanism Kit 

Caliper Adjusting Mechanism Kit 

Caliper Roller Bearing Kit 

Caliper Roller Bearing KitCaliper Shaft Housing

MAXX 19

MAXX 19
maxx 22

MAXX 19
MAXX 22

MAXX 22L
MAXX 22T

MAXX 19
MAXX 22T

133201

132529
Adjuster Sleeve

133098
Cal�brat�on Bolt

133100

133101

133100
Cal�per Roller Bear�ng

135528
Lever Bush132533

Roller Bear�ng
138518
Spr�ng

132568
Mechan�sm Support

133156

133200

138513
Spr�ng Ø42,6 x 25 mm

132531
Reta�ner Ø38,75 x Ø34 x 13,8 mm 

132532
Adjuster Gear

132530
Spr�ng Plug Ø33,75 x 30,4 mm

137613
C�rcl�p Small 137614

C�rcl�p B�g
135525

Washer Ø35,3 x Ø24,3 mm

135527
Washer 

Ø46,75 x Ø34,5 mm
135526
Washer

Ø52,7 x Ø41 mm

138513
Spr�ng 

Ø42,6 x 25 mm

132531
Reta�ner 

Ø38,75 x Ø34 x 13,8 mm 

132532
Adjuster Gear

132530
Spr�ng Plug 

Ø33,75 x 30,4 mm

MAXX 17
MAXX 19
MAXX 22

MAXX 22L
MAXX 22T

Caliper Mechanism Washer Kit133096

135527
Washer

137614
C�rcl�p

137613
C�rcl�p

135526
Washer

135525
Washer

Back V�ew

MAXX 19
MAXX 22

MAXX 22L
MAXX 22T

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 225



Caliper Repair Kit MAXX 19
MAXX 22L

Caliper Complete Mechanism Kit MAXX 19

Caliper Push Plate (Right) Caliper Push Plate (Left) 

Caliper Cover Seal KitCaliper Repair Kit MAXX 19
MAXX 22LMAXX 19

133254133253

133143

134534
Cover Seal

133203

133132

133202

134532
Gu�de P�n Boot

134514
Dust Boot

113514
Gu�de P�n Bolt M16X1,5/80 mm

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap Ø 42/17 mm 

134536
133520Shaft Seal 

Bolt 

132534
Adjuster P�n 132535

Adjust�ng Gear 

134519
Support Seal 

m
ax

x 
19

Caliper SENSOR COVER (110 CM)133233 MAXX 19

PLEASE ORDER WITH 133234 FOR 130 CM

MAXX 19 MAXX 19

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr226



Caliper Complete Repair Kit (Right)

Caliper Complete Repair Kit (Left)

MAXX 19

MAXX 19

133205

133254

133204

133253

132533

133100

133159

134534

133196

133168

133202

132533

133100

133159

134534

133196

133168

133202

132535

134519

132534

132535

134519

132534

w
abco

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 227



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr228



wabco maxx 22
man

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 229



m
ax

x 
22

 m
an

Caliper Repair Kit MAXX 22

Caliper Repair Kit Caliper Boot Kit

Caliper Repair Kit Caliper Boot Kit

134514
Dust Boot

MAXX 22

MAXX 22
maxx 22l

MAXX 22
PAN 19.5" / 22.5"

SINGLE PISTON

133091

134515
Gu�de P�n Boot

135513
Plast�c Plug

136511
Bush Ø 42X38/35 mm 

133092

134515
Gu�de P�n Boot

134514
Dust Boot

135519
Steel Cap 

Ø 42/17 mm 

135520
Washer

136511
Bush Ø 42 x 38/35 mm 

133044

134514
Dust Boot

134515
Gu�de P�n Boot

133093

134514
Dust Boot

133107

135513
Plast�c Plug

134519
Seal

132535
Adjust�ng Gear

132534
Adjuster P�n

132515
Gu�de P�n Ø 38/120 mm 

132516
Gu�de P�n Ø 38/76 mm

133513
Bolt M16X1,5/120 mm 

123529
Bolt M16X1,5/80 mm

135520
Washer

135519
Steel Cap Ø 42/17 mm 

134519 132535 132534

TO ORDER WITH THESE PARTS PLEASE 
USE 133209 PRODUCT NUMBER

135520
Washer

135513
Plast�c Plug

640 322 926 2 - 81.50822.6038

640 322 927 2 - 81.50822.6039 640 322 932 2 - 81.50822.6042 MAXX 22

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr230



w
abco

Caliper Lever Kit

Caliper Shaft Housing MAXX 22Caliper Complete Mechanism Kit 

Caliper Roller Bearing KitCaliper Roller Bearing Kit

w
abco

Caliper Adjusting Mechanism Kit MAXX 19
maxx 22133201

132529
Adjuster Sleeve

133098
Cal�brat�on Bolt

138513
Spr�ng 

Ø42,6 x 25 mm

132531
Reta�ner 

Ø38,75 x Ø34 x 13,8 mm 

132532
Adjuster Gear

132530
Spr�ng Plug 

Ø33,75 x 30,4 mm

132569
Mechan�sm Support

133097 133095

133100 133101

133099

132565

133099 + 133100 = 133210

133100
Cal�per Roller Bear�ng

135528
Lever Bush132533

Roller Bear�ng

Back V�ew

132533
Roller Bear�ng

138518
Spr�ng

Back V�ew

MAXX 22

MAXX 19
MAXX 22

MAXX 22L
MAXX 22T

MAXX 19
MAXX 22

MAXX 22L
MAXX 22T

MAXX 22

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 231



Caliper Adjusting Mechanism Kit MAXX 22
maxx 22l

Caliper Push Plate (Left) Caliper Push Plate (Right) 

Caliper Mechanism Washer Kit Caliper Cover Kit 

MAXX 22
maxx 22l

133096 133104

133110133108

133094

135524
Steel Cap

134518
Actuator Seal

135527
Washer

137614
C�rcl�p

137613
C�rcl�p

135526
Washer

135525
Washer

MAXX 17
MAXX 19
MAXX 22

MAXX 22L
MAXX 22T

135535
Cover (W�th Gasket)

113515 135529
Cover SealBolt M8X1,25/16 mm

137613
C�rcl�p
Small

137614
C�rcl�p B�g

135525
Washer Ø35,3 x Ø24,3 mm

135527
Washer 

Ø46,75 x Ø34,5 mm

135526
Washer

Ø52,7 x Ø41 mm

m
ax

x 
22

 m
an

132529
Adjuster Sleeve

133098
Cal�brat�on Bolt

138513
Spr�ng 

Ø42,6 x 25 mm

132531
Reta�ner 

Ø38,75 x Ø34 x 13,8 mm 

132532
Adjuster Gear

132530
Spr�ng Plug 

Ø33,75 x 30,4 mm

MAXX 22
maxx 22l

MAXX 22
maxx 22l

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr232



w
abco

Caliper Seal KitCaliper Shield Kit

Caliper Cover Seal KitCaliper Shield Kit

MAXX 22
maxx 22l

MAXX 22
maxx 22l

MAXX 22
MAXX 22L

MAXX 19
MAXX 22L

Caliper Seal KitCaliper Sensor Cover MAXX 22
maxx 22lMAXX 22

Caliper Brake Pad Retainer
Repair Kit

133124

133105

133106

135529
Seal

133143

135524
Steel Cap

Ø52,8 x Ø51,7 x 14,8 mm

134518
Actuator Seal

134534
Cover Seal

135524 134518

133103133102

133206

MAXX 22
maxx 22l

Mechan�sm Sh�eld Support Seal 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 233



Caliper Complete Repair Kit  (Right)

Caliper Complete Repair Kit (Left)

MAXX 22

MAXX 22

133111

133109

133110
132533

133100

133104

133108

132533

133100

133104

133206

133206

133091

132565

133097

133091 133097

132565

m
ax

x 
22

 m
an

132535

134519

132534

132535

134519

132534

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr234



w
abco

All from
one source!

The remit of our quality control starts with the selection of suppliers and extends over the 

incoming inspection of all manufactured products, in-process control to release the products 

at the end of the production chain. We test the finished products 

according to our customers specifications and methods. 

Quality Control

Products

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 235



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr236



wabco maxx22 MB
mAXX22  L

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 237



m
ax

x2
2 

m
b 

/ M
AX

X2
2 

L Caliper Repair Kit

Caliper Repair Kit

Caliper Cover Kit 

MAXX 22 mb

MAXX 22 mb

MAXX 22 mb

134532
Gu�de P�n Boot

134514
Dust Boot

113514
Gu�de P�n Bolt M16X1,5/80 mm

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap Ø 42/17 mm 

Caliper Adjusting Mechanism Kit 

133130

135513
Plast�c Plug

132548
Gu�de P�n Ø 38/118 mm 

132549
Gu�de P�n Ø 38/76 mm 

133201

133131

133142

134534

Caliper Mechanism Washer Kit133096

135527
Washer

137614
C�rcl�p

137613
C�rcl�p

135526
Washer

135525
Washer

134532
Gu�de P�n Boot

113514
Gu�de P�n Bolt M16 x 1.5/80 mm

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap Ø 42/17 mm 

135513
Plast�c Plug

132548
Gu�de P�n Ø 38/118 mm 

132549
Gu�de P�n Ø 38/76 mm 

135535
Cover (W�th Gasket)

113515 135529
Cover SealBolt M8X1,25/16 mm Cover Seal

132529
Adjuster Sleeve

133098
Cal�brat�on Bolt

138513
Spr�ng 

Ø42,6 x 25 mm

132531
Reta�ner 

Ø38,75 x Ø34 x 13,8 mm 

132532
Adjuster Gear

132530
Spr�ng Plug 

Ø33,75 x 30,4 mm

MAXX 22 mb

MAXX 22 mb

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr238



w
abco

Caliper Adjusting Mechanism Kit133237

Caliper Repair Kit133132

134532
Gu�de P�n Boot

134514
Dust Boot

113514
Gu�de P�n Bolt M16X1,5/80 mm

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap Ø 42/17 mm 

Caliper Repair Kit MAXX 22 mb133133

Caliper Boot Kit133134

134514
Dust Boot

134532
Gu�de P�n Boot

Caliper Boot Kit MAXX 22 mb133135

134514
Dust Boot

135513
Plast�c Plug

134532
Gu�de P�n Boot

134514
Dust Boot

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap Ø 42/17 mm 

135513
Plast�c Plug

137613
C�rcl�p
Small

137614
C�rcl�p B�g

135525
Washer Ø35,3 x Ø24,3 mm

135527
Washer 

Ø46,75 x Ø34,5 mm

135526
Washer

Ø52,7 x Ø41 mm 133098
Cal�brat�on Bolt

132529
Adjuster Sleeve

138513
Spr�ng 

Ø42,6 x 25 mm

132531
Reta�ner 

Ø38,75 x Ø34 x 13,8 mm 

132532
Adjuster Gear

132530
Spr�ng Plug 

Ø33,75 x 30,4 mm

MAXX 22 mb

MAXX 22 mb

MAXX 22 mb

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 239



Caliper Shaft HousingCaliper Complete Mechanism Kit 

Caliper Sensor Cover MB

MAXX 22 mb

MAXX 22 mb

MAXX 22 mb

MAXX 22 mb

135513
Plast�c Plug134519

Seal
132535

Adjust�ng Gear

132534
Adjuster P�n

133138

138518
Spr�ng

132570
Mechan�sm Support

133137

133129

133100
Cal�per Roller Bear�ng

135528
Lever Bush132533

Roller Bear�ng

Caliper Roller Bearing Kit133100 Caliper Roller Bearing Kit133101

Caliper Repair Kit133107 640 322 927 2 - 81.50822.6039

Back V�ew

133140 Caliper Lever Kit MB AROCS REAR 

132552

Back V�ew 132533
Roller Bear�ng

133140 + 133100 = 133212

MAXX 22 mb

MAXX 22 mbMAXX 22 mb

m
ax

x2
2 

m
b 

/ M
AX

X2
2 

L

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr240



w
abco

Caliper Push Plate (Right) Caliper Push Plate (Left) 133110133108

Caliper Cover Seal Kit133143

134534
Cover Seal

Caliper Brake Pad Retainer
Repair Kit133105

MAXX 22 mbMAXX 22 mb

MAXX 22 mbMAXX 22 mb

Caliper Seal KitCaliper Shield Kit MAXX 22
maxx 22l

MAXX 22
maxx 22l

135524 134518

133103133102

Mechan�sm Sh�eld Support Seal 

Caliper Shield Kit MAXX 22
MAXX 22L

135524
Steel Cap

Ø52,8 x Ø51,7 x 14,8 mm

134518
Actuator Seal

133206Caliper Seal Kit MAXX 22
maxx 22l133106

135529
Seal

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 241



Caliper Complete Repair Kit (RIGHT)

Caliper Complete Repair Kit (LEFT)

133149

133148

133130

MAXX 22 mb

MAXX 22 mb

133130

133104133138

134534

133104133138

134534

133110
132533

133100

132535

134519

132552

132534

132533

133100

132535

134519

132552

132534

133108

m
ax

x2
2 

m
b 

/ M
AX

X2
2 

L

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr242



w
abco

Caliper Complete Repair Kit (FRONT - RIGHT)

Caliper Complete Repair Kit (FRONT - LEFT)

MAXX 22L133147

133146

133110
132533

133100

133104

133206132565

133138

134534

133130

132533

133100

133104

133206132565

133138

134534

133130

133108

MAXX 22L

132535

134519

132534

132535

134519

132534

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 243



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr244



wabco maxx 22T

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 245



m
ax

x 
22

t

Caliper Repair Kit MAXX 22T

134532
Gu�de P�n Boot

134514
Dust Boot

113514
Gu�de P�n Bolt M16X1,5/80 mm

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap Ø 42/17 mm 

133130

135513
Plast�c Plug

132548
Gu�de P�n Ø 38/118 mm 

132549
Gu�de P�n Ø 38/76 mm 

Caliper Mechanism Washer Kit133096
MAXX 17
MAXX 19
MAXX 22

MAXX 22L
MAXX 22T

137613
C�rcl�p Small 137614

C�rcl�p B�g
135525

Washer Ø35,3 x Ø24,3 mm

135527
Washer 

Ø46,75 x Ø34,5 mm
135526
Washer

Ø52,7 x Ø41 mm

TO ORDER WITH 135537, 
PLEASE USE 133213 PRODUCT NUMBER

Caliper Complete Mechanism Kit MAXX 22t133157 Caliper Shaft Housing MAXX 19
MAXX 22t133156

Caliper Adjusting Mechanism Kit MAXX 22t133207

132568
Mechan�sm Support

132554
Adjuster Sleeve

133154
Cal�brat�on Bolt

132530
Spr�ng Plug

Ø33,75 x 30,4 mm

138513
Spr�ng

Ø42,6 x 25 mm

132531
Reta�ner

Ø38,75 x Ø34 x 13,8 mm 

Spr�ng

Back V�ew

138517

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr246



w
abco

Caliper Repair Kit MAXX 22T133133

134532
Gu�de P�n Boot

134514
Dust Boot

136510
Bush Ø 38X42/30 mm  

135519
Steel Cap Ø 42/17 mm 

135513
Plast�c Plug

Caliper Boot Kit133152

135513
Plast�c Plug134514

Dust Boot
134512

Cal�per Seal

MAXX17
MAXX 22t Caliper Boot Kit MAXX 19

MAXX 22t133134

134514
Dust Boot

134532
Gu�de P�n Boot

Caliper Adjusting Mechanism Kit MAXX 22t133155

137613
C�rcl�p Small 137614

C�rcl�p B�g
135525

Washer Ø35,3 x Ø24,3 mm

135527
Washer 

Ø46,75 x Ø34,5 mm
135526
Washer

Ø52,7 x Ø41 mm

132554
Adjuster Sleeve

133154
Cal�brat�on Bolt

132530
Spr�ng Plug

Ø33,75 x 30,4 mm

138513
Spr�ng

Ø42,6 x 25 mm

132531
Reta�ner

Ø38,75 x Ø34 x 13,8 mm 

133100
Cal�per Roller Bear�ng

135528
Lever Bush132533

Roller Bear�ng

Caliper Roller Bearing Kit133100
MAXX 19
MAXX 22

MAXX 22L
MAXX 22T

Caliper Roller Bearing Kit133101
MAXX 19
MAXX 22

MAXX 22L
MAXX 22T

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 247



m
ax

x 
22

t

MAXX 22t133158 Caliper Lever Kit

133100

133168

Back V�ew 132533
Roller Bear�ng

MAXX 22tCaliper Cover Kit 

MAXX 22tCaliper Push Plate (Left)

MAXX 22tCaliper Push Plate (Right)

133159

135536
Cover (W�th Gasket)

113515
Bolt M8X1,25/16 mm

133158 + 133100 = 133214

133058

133059

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr248



w
abco

Caliper Complete Repair Kit (Right)

Caliper Complete Repair Kit (Left)

133161

133160

132533

133100

133130

MAXX 22t

MAXX 22t

133159

133059

133058

133157

133168

134512

132533

133100

133130 133159133157

133168

134512

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 249



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr250



wabco PAN 17.5" - 19.5" 
1000-1300 -1600 V-G

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 251



PA
N 

19
.5

" 1
00

0-
13

00
-1

60
0 

V-
G Caliper Repair Kit PAN 17.5" 1000 V-G133112

132536
Gu�de P�n (W�th Hole) Ø25 x 81 mm

132537
Gu�de P�n (W�thout Hole) Ø25 x 81 mm

133515
Gu�de P�n Bolt M12X1,5/90 mm

136512
Te�on Bush Ø28 x Ø25 x 15 mm 

134520
Dust Boot

134523
O-r�ng134522

Cover Seal

134524
Tappet W�th Gasket

134521
Gu�de P�n Boot

135530
Steel Cap Ø28 x 16mm 

M6X1,5/20 mm 
133516

138514

12 999 729 - 81.50800.6023 - 1517354

Caliper Repair Kit PAN 19.5" 1300 V-G133113 12 999 551 - 000 420 0982 - N1.01101.5717

135519
Steel Cap Ø 42/17 mm 134525

Gu�de P�n Ga�ter 133517
Gu�de P�n Bolt M16X1,5/110 mm 

132538
Gu�de P�n Ø35/110 mm

132539
Gu�de P�n Ø 34,8/85 mm  

136513
Te�on Bush Ø39X35/20 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr252



w
abco

PAN 19.5" 1300 V-GCaliper Mechanism Washer Kit

Caliper Push Plate Kit - 1300 v-g 

Caliper Repair Kit - 1300 v-g 

133116

139514
Shaft Bear�ng

134528
Seal

Ø57 x 40 mm

135531
Reta�ner R�ng

Ø65,70 x Ø42,20 mm

134527
Seal Ø55 x 40 mm

135533
Washer Ø59,50 x Ø40 mm

135532
Washer

Ø53 x Ø40,30 mm
137615
C�rcl�p

133117

135534
Push Plate

138515
Spr�ng

133119

133118

132543
P�ston (R�ght)

133519
Bolt M12X1,50/50 mm 

133518
Bolt M6 x 1 x 25 mm  

138515
Spr�ng

132542
Plug

132541
Ant� Rotat�on P�n

132540
P�ston (Left)

133518
Bolt M6 x 1 x 25 mm 

PAN 19.5" 1300 V-G

12 999 550 - 000 420 2351 - AMPA140 PAN 19.5" 1300 V-G

Caliper Repair Kit - 1300 v-g 
12 999 549 - 000 420 2251 - AMPA139 PAN 19.5" 1300 V-G

133519
Bolt M12X1,50/50 mm 

133518
Bolt M6 x 1 x 25 mm  

138515
Spr�ng

132542
Plug

132541
Ant� Rotat�on P�n

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 253



PA
N 

19
.5

" 1
00

0-
13

00
-1

60
0 

V-
G

Caliper Repair Kit - 1300 v-g 

Caliper Boot Kit Caliper Lever  - 1300 v-g 

Spline Shaft Mechanism
(Left) 

Spline Shaft Mechanism
(Right) 

133115

132544 132545

133114

134525
Gu�de P�n Boot

134526
Boot

133208

PAN 19.5" 1300 V-G

PAN 19.5" 1300 V-GPAN 19.5" 1300 V-G

PAN 19.5" 1300 V-G PAN 19.5" 1300 V-G

12 999 552 - 000 421 0880 - AMPA141

138515
Spr�ng

133518
Bolt M6 x 1 x 25 mm 

134529
Rubber Cap

134528
Seal

Ø57 x 40 mm

135531
Reta�ner R�ng

Ø65,70 x Ø42,20 mm

134527
Washer

Ø53 x Ø40,30 mm

134525
Gu�de P�n Boot134526

Boot

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr254



w
abco

Caliper Spline Shaft Mechanism Kit (Left) 

Caliper Spline Shaft Mechanism Kit (Right)

133120

133121

PAN 19.5" 1300 V-G

PAN 19.5" 1300 V-G

12 999 547 - N1.01101.5530 - AMPA135

12 999 548 - AMPA138

139514
Shaft Bear�ng 134528

Seal
Ø57 x 40 mm

135531
Reta�ner R�ng

Ø65,70 x Ø42,20 mm

135532
Seal Ø55 x 40 mm 135533

Washer Ø59,50 x Ø40 mm

134527
Washer

Ø53 x Ø40,30 mm

137615
C�rcl�p

132544
Shaft (Left)

134526
Boot

134529
Rubber Cap

139514
Shaft Bear�ng 134528

Seal
Ø57 x 40 mm

135531
Reta�ner R�ng

Ø65,70 x Ø42,20 mm

135532
Seal Ø55 x 40 mm 135533

Washer Ø59,50 x Ø40 mm

134527
Washer

Ø53 x Ø40,30 mm

137615
C�rcl�p

134526
Boot

134529
Rubber Cap

132545
Shaft (R�ght)

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 255



PA
N 

19
.5

" 1
00

0-
13

00
-1

60
0 

V-
G

Caliper Complete Repair Kit (rıght)

Caliper Complete Repair Kit (left)

133123

133122

PAN 19.5" 1300 V-G

PAN 19.5" 1300 V-G

135519
Steel Cap Ø 42/17 mm 133517

Gu�de P�n Bolt
M16 x 1.5/110 mm 

132538
Gu�de P�n

Ø35/110 mm

132539
Gu�de P�n

Ø 34,8/85 mm  

136513
Te�on Bush

Ø39X35/20 mm 

138515
Spr�ng

133518
Bolt

M6 x 1 x 25 mm 

134525
Gu�de P�n Ga�ter

132542
Plug

132541
Ant� Rotat�on P�n

132545
Shaft (R�ght)

135534
Push Plate

134526
Boot

138515
Spr�ng

133518
Bolt

M6 x 1 x 25 mm 

134525
Gu�de P�n Ga�ter

132542
Plug

132541
Ant� Rotat�on P�n

135534
Push Plate

132544
Shaft (Left)

132540
P�ston (Left)

139514
Shaft Bear�ng

134528
Seal

Ø57 x 40 mm

135531
Reta�ner R�ng

Ø65,70 x Ø42,20 mm

134527
Seal Ø55 x 40 mm

135533
Washer Ø59,50 x Ø40 mm

135532
Washer

Ø53 x Ø40,30 mm
137615
C�rcl�p

139514
Shaft Bear�ng

134528
Seal

Ø57 x 40 mm

135531
Reta�ner R�ng

Ø65,70 x Ø42,20 mm

134527
Seal Ø55 x 40 mm

135533
Washer Ø59,50 x Ø40 mm

135532
Washer

Ø53 x Ø40,30 mm
137615
C�rcl�p

135519
Steel Cap Ø 42/17 mm 133517

Gu�de P�n Bolt
M16 x 1.5/110 mm 

132538
Gu�de P�n

Ø35/110 mm

132539
Gu�de P�n

Ø 34,8/85 mm  

136513
Te�on Bush

Ø39X35/20 mm 

134529
Rubber Cap

132543
P�ston (R�ght)

134529
Rubber Cap

134526
Boot

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr256



w
abco

Caliper Carrier MAXX 22 Left133127 133128 Caliper Carrier MAXX 22 Right

Caliper Carrier Mb Arocs (Left) 133164133163 Caliper Carrier MB AROCS (RIGHT)
000 423 2206 - 640 915 745 4

Caliper Carrier 17.5" Left Caliper Carrier 17.5" Right133125 133126wabco

Caliper Carrier PAN22 Left 133179133178 Caliper Carrier PAN22 Right
40 195 018 - 40 195 002 - 3.080.0032.20 - 3.080.0018.0140 195 017 - 40 195 001 - 3.080.0033.20 - 3.080.0019.01

000 423 2306 - 640 915 744 4

wabco

wabco wabco

wabco wabco

wabco wabco

213 mm

176 mm
M16x1,5mm

228 mm
288 mm
310 mm

M14x1,5mm

213 mm

176 mm
M16x1,5mm

228 mm
288 mm
310 mm

M14x1,5mm

280 mm

218 mm
M16x1,5mm

M18x1,5mm

220 mm
380 mm
408 mm

280 mm

218 mm
M16x1,5mm

M18x1,5mm

220 mm
380 mm
408 mm

280 mm

221 mm
M16x1,5mm

210 mm

322 mm

350 mm

280 mm

221 mm
M16x1,5mm

210 mm

322 mm

350 mm

263 mm

210,80 mm M16x1,5mm

210 mm
378 mm
400 mm

263 mm

210,80 mmM16x1,5mm

210 mm
378 mm
400 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 257



ca
rr

ıe
r

133182 133183

Caliper Carrier 22.5 PAN22 Left 133216133215

133180 133181wabco

Caliper Carrier PAN19 Left 133218133217 Caliper Carrier PAN19 Right

3 080 0071 21 - 3 080 0073 20 - 640 195 068 0 - 640 195 074 0

wabco

wabco wabco

wabco wabco

wabco wabco

Caliper Carrier MB AROCS Front Right
A0004216406 - 6409157434

Caliper Carrier MAXX19 RIGHT

Caliper Carrier MB AROCS Front Left
A0004216506 - 6409157424

Caliper Carrier MAXX19 LEFT

Caliper Carrier 22.5 PAN22 Right
3 080 0072 21 - 3 080 0074 20 - 640 195 069 0 - 640 195 075 0

280 mm

221 mm M16x1,5mm

210 mm
380 mm
400 mm

280 mm

221 mmM16x1,5mm

210 mm
380 mm
400 mm

263 mm

211 mm M16x1,5mm

216 mm

316,50 mm

M18x1,5mm

263 mm

211 mmM16x1,5mm

216 mm

316,50 mm

M18x1,5mm

266 mm

212 mm M16x1,5mm

270 mm
340 mm
360 mm

266 mm

212 mmM16x1,5mm

270 mm
340 mm
360 mm

245 mm
350 mm

M18x1,5mm

369 mm

221 mm

266 mm

M16x1,5mm

245 mm
350 mm

M18x1,5mm

369 mm

221 mm

266 mm

M16x1,5mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr258



w
abco

Caliper Carrier Left VALX Axle133221 133222 Caliper Carrier Right VALX Axle

Caliper Carrier Left SCHMITZ 133224133223 Caliper Carrier Right SCHMITZ
6402227406 D1-6J20

Caliper Carrier 19.5" Left Caliper Carrier 17.5" Right133219 133220wabco

Caliper Carrier 19.5" Left 133226133225 Caliper Carrier 19.5" Right

6402227406 D3-6K25

wabco

wabco wabco

wabco wabco

wabco wabco

64022503106402250300

265 mm

211 mm
M16x1,5mm

177 mm

341 mm
360 mm

265 mm

211 mm
M16x1,5mm

177 mm

341 mm
360 mm

263 mm

211 mm
M16x1,5mm

150 mm
197 mm
202 mm

263 mm

211 mm
M16x1,5mm

150 mm
197 mm
202 mm

267 mm

210 mm
M16x1,5mm

150 mm
197 mm

202 mm

267 mm

210 mm
M16x1,5mm

150 mm
197 mm

202 mm

263 mm

211 mm M16x1,5mm

216 mm

315 mm

M18x1,5mm

263 mm

211 mmM16x1,5mm

216 mm

315 mm

M18x1,5mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 259



ca
rr

ıe
r

133261 133262wabco wabcoCaliper Carrier PAN19 RIGHTCaliper Carrier PAN19 LEFT

246 mm

351 mm

M18x1,5mm

372 mm

211 mm

263 mm

M16x1,5mm

DAF Lf55 DAF Lf55

246 mm

351 mm

M18x1,5mm

372 mm

211 mm

263 mm

M16x1,5mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr260



w
abco

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 261



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr262



haldex mark

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 263



M
AR

K

Caliper Complete Repair Kit

Caliper Complete Mechanism Caliper Complete Mechanism Kit MARK II / III

Caliper Complete Repair Kit

144042

143516
Bolt w�th Nut 
M8 x 60 mm

144060

143517
Bolt M8 x 45 mm

144043

144010

144042

144024

144061

144011

144060

MARK IV

MARK II / III

MARK IV

144024

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr264



HALDEX
Caliper Repair Kit144158

142510
Gu�de P�n 

Ø 35/69 mm

143510
Gu�de P�n Bolt

M14 x 2 x 61 mm

145511
Steel Cap

Ø56 x 12 mm
144510

Gu�de P�n Boot

145510
R�ng Ø39,5 x 4 mm

144511
Te�on Bush

144013

143512
Bolt

M14 x 2 x 53 mm

145513

87406 MARK II / III

MARK IV

144513
R�ng

143511
Bolt 

144512
Plug

144514
Plug

Caliper Repair Kit
94661

143510
Gu�de P�n Bolt

M14 x 2 x 61 mm
145511

Steel Cap
Ø56 x 12 mm

144510
Gu�de P�n Boot

145510
R�ng Ø39,5 x 4 mm

144511
Te�on Bush

144513
R�ng

143511
Bolt 144512

Plug
144514

Plug
Steel Cap

Ø 57/40 mm

TO ORDER WITH 144514, 143511, 144513 PLEASE USE 144010  PRODUCT NUMBER

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 265



M
AR

K
Caliper Repair Kit

145511
Steel Cap

Ø56 x 12 mm

144510
Gu�de P�n Boot

145510
R�ng Ø39,5 x 4 mm

144511
Te�on Bush

87680

145513
144513

R�ng
143511

Bolt 144512
Plug

144514
Plug

Steel Cap
Ø 57/40 mm

145511
Steel Cap Ø56 x 12 mm

145510144510
Boot

144511
Te�on Bush

145513
144513

R�ng
143511

Bolt 144512
Plug

144514
Plug

Steel Cap
Ø 57/40 mm

R�ng Ø39,5 x 4 mm

144016 MARK IV

Caliper Repair Kit
89723144017 MARK IV

Caliper Cap Kit144012 MARK IV89927

145513
Steel Cap Ø 57/40 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr266



HALDEX
Caliper Repair Kit
94663 MARK II / III

Caliper Repair Kit
87405

Caliper Repair Kit Caliper Seal KitMARK II / III MARK IV144118

144018

144019

144516

147610
C�rcl�p

144514

144513143511144512

144515

148510

144021

MARK II / III

89925

Spr�ng 78.5 mm

Boot 78.5 mm

Plug 

Plug Support Seal 
Bolt R�ng

147610
C�rcl�p

144514

144513143511144512

144515

148510
Spr�ng 78.5 mm

Boot 78.5 mm

Plug 

Plug Bolt R�ng

144515

148510
Spr�ng 78.5 mm

Boot 78.5 mm

144516

144512
Plug 

Support Seal 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 267



M
AR

K

144031

144032

142527
Cal�per Cover

143516
Bolt w�th Nut M8 x 60 mm

142513
Br�dge Assembly

148513
Spr�ng

145515
C�rcl�p

145516
C�rcl�p

144044

144045

142528
Cal�per Cover

143517
Bolt M8 x 45 mm

145517
Washer 145519

C�rcl�p

145518
Washer

148513
Spr�ng

142517
Br�dge Assembly

144037 144050

Caliper Bridge Kit  MARK II / III Caliper Bridge Kit  

Caliper Cover Kit Caliper Cover Kit

Caliper Lever Caliper Lever 

Caliper Locking Plate Kit Caliper Locking Plate Kit 

MARK II / III MARK IV

MARK II / III MARK IV
MODUL X GEN 1

Back V�ew Back V�ew

144041

144512
Plast�c Plug

142516

144059

142518
Mechan�sm Metal Top Cover

144516
Adjust�ng Bolt Seal

144512 
Plastic Plug

MARK II / III MARK IV

Back V�ew

Mechan�sm Locker Plate 

Back V�ew

MARK IV

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr268



HALDEX
Caliper Brake Pad Retainer Repair Kit MARK II / III

MARK IV
MODUL X GEN 1
MODUL X GEN 2

Caliper Repair Kit

Caliper Spring Kit 

Caliper Calibration Gear (Left) Caliper Calibration Gear (Right) MARK II / III

144024 144020

144022
Cal�per Pad Reta�ner Repa�r K�t

148511
Cal�per Pad Spr�ng

144514
Plast�c Cap

144513
O-r�ng

143511
Bolt

144512
Plast�c Plug

144022
Cal�per Pad Reta�ner Repa�r K�t

148511
Cal�per Pad Spr�ng

144512
Plast�c Plug

144036144035

144022144023

148511

91216 87408 MARK IV

89924

MARK II / III
MARK IV

MODUL X GEN 1
MODUL X GEN 2

Caliper Brake Pad Retainer Repair Kit
90673

MARK II / III
MARK IV

MODUL X GEN 1
MODUL X GEN 2

MARK II / III

Caliper Brake Pad Retainer Repair Kit144025 94659

MARK II / III
MARK IV

MODUL X GEN 1
MODUL X GEN 2

Cal�per Pad Spr�ng

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 269



M
AR

K

144038

144033

144039

144132

144052 144053

Caliper Calibration Bolt Kit MARK II / III Caliper Tappet Kit

Caliper Roller Bearing Kit Caliper Roller Bearing Kit 

Caliper Roller Bearing Kit Caliper Roller Bearing 

Caliper Calibration Bolt Caliper Calibration Bolt

MARK II / III

MARK IV
MODUL X GEN 1

MARK IV
MODUL X GEN 1

144056 144057 MARK IV

142514 142515

MARK II / III

Cal�brat�on Bolt (Left) Cal�brat�on Bolt (R�ght) 

MARK II / III

MARK IV
MODUL X GEN 1

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr270



HALDEX
Caliper Adjustment Sleeve (Driving)Caliper Adjustment Sleeve (Driven)

Caliper Adjusting Mechanism 

MARK IV

Caliper Adjusting Mechanism Caliper Push Plate

Caliper Mechanism Clamp Kit 

Caliper Mechanism Clamp Kit Caliper Lever Pin

Caliper Repair Kit

144040 144034

144049144048

144058

144054144046

144051

144027

144516
Adjust�ng Bolt Seal

142512 
Adjust�ng Bolt

144512
Plast�c Plug

MARK IV

MARK II / III MARK II / III

MARK IV
MODUL X GEN 1

MARK IV
MODUL X GEN 1

MARK IV MARK IV

90693
MODUL X GEN 1
MODUL X GEN 2

Back V�ew

USE 144093 P/N FOR HALF KIT

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 271



M
AR

K

Caliper Repair Kit144086

144011

91012
MODUL X GEN 1

MARK IVCaliper Repair Kit
89541

144510
Gu�de P�n Boot

144512
Plast�c Plug

142523
Gu�de P�n Ø 35/64 mm

143514
Gu�de P�n Bolt M14X2/42 mm

145512
Steel Cap Ø56 x 12,5 mm

145524
Steel Cap Ø42 x 22,5 mm

142511
Gu�de P�n Ø 35/70 mm

144512
Plast�c Plug

145512
Steel Cap Ø56 x 12,5 mm

145513
Steel Cap Ø57,5 x 40,5 mm 

144511
Te�on Bush

143512
Bolt M14X2/53 mm

144510
Gu�de P�n Boot

145510
R�ng Ø39,5 x 4 mm

144511
Te�on Bush

MARK IV

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr272



HALDEX
Caliper Repair Kit144013

145511
Steel Cap

Ø56/12 mm
144510

Gu�de P�n Boot

145510
R�ng Ø39,5 x 4 mm

144511
Te�on Bush

144016

143512
Bolt M14X2/53 mm

145513

94661

MARK IVCaliper BOOT & PLUG Repair Kit
87680

143510
Gu�de P�n Bolt
M14X2/61 mm

144513
R�ng

143511
Bolt 144512

Plug
144514

Plug
Steel Cap

Ø 57/40 mm

MARK IV

145513
144513

R�ng
143511

Bolt 144512
Plug

144514
Plug

Steel Cap
Ø 57/40 mm

145511
Steel Cap

Ø56/12 mm

144510
Gu�de P�n Boot

145510
R�ng Ø39,5 x 4 mm

144511
Te�on Bush

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 273



M
AR

K

145511
Steel Cap Ø56/12 mm

144510
Gu�de P�n Boot145510

R�ng Ø39,5 x 4 mm
144511

Te�on Bush

144513
R�ng

143511
Bolt 

144512
Plug

144514
Plug

145513
Steel Cap Ø 57/40 mm

Caliper Repair Kit
89723144017 MARK IV

Caliper Repair Kit144090

Caliper Repair Kit144014 MARK IV

144512
Plast�c Plug145524

Steel Cap Ø42 x 22,5 mm

144512
Plast�c Plug

MODUL X GEN 1
MODUL X GEN 2

145512
Steel Cap

144510
Gu�de P�n Boot

144511
Te�on Bush

142511
Gu�de P�n Ø 35/70 mm

143512
Bolt M14X2/53 mm

144510
Gu�de P�n Boot

145510
R�ng Ø39,5 x 4 mm

144511
Te�on Bush

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr274



HALDEX
Caliper Repair Kit144015 MARK IV

Caliper Repair Kit

Caliper Repair Kit

144091

144119

MODUL X GEN 1
MODUL X GEN 2

MARK IV
MODUL X GEN 1

Caliper Boot And Spring Kit  144026 MARK IV
MODUL X GEN 1
MODUL X GEN 2

89794

Tappet Boot Ø67 mm
144517

148512
Protect�ve Spr�ng 67 mm

147610

TO ORDER WITH 144512,
PLEASE USE 144092 
PRODUCT NUMBER

144510
Gu�de P�n Boot

145510
R�ng Ø39,5 x 4 mm

144511
Te�on Bush 145513

Steel Cap Ø 57/40 mm

144512
Plast�c Plug

144512
Plast�c Plug

144510
Gu�de P�n Boot

144511
Te�on Bush

145512
Steel Cap 145524

Steel Cap Ø42 x 22,5 mm

144510
Gu�de P�n Boot

144512
Plast�c Plug

Tappet Boot Ø67 mm
144517

C�rcl�p 144512
Plast�c Plug

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 275



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr276



haldex modul x

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 277



m
od

ul
 x

Caliper Repair Kit
87405

MODUL X GEN 1

Caliper Complete Mechanism Kit MODUL X GEN 1144098

144099

144022144098

144086

148511

Caliper Brake Pad Retainer Repair Kit
94659144025

144022
Cal�per Pad Reta�ner K�t

148511
Pad Spr�ng

144512
Plast�c Plug

Caliper Brake Pad Retainer Repair Kit MARK II / III
MARK IV

MODUL X GEN 1
MODUL X GEN 2

144024

144022
Cal�per Pad Reta�ner Repa�r K�t

148511
Cal�per Pad Spr�ng

91216

MARK II / III
MARK IV

MODUL X GEN 1
MODUL X GEN 2

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr278



HALDEX

Caliper Repair Kit Caliper Mechanism Cover Kit

Caliper Push Plate Caliper Lever Pin

Caliper Complete Mechanism Kit Caliper Mechanism ClampMODUL X GEN 1144120

144122

144121

144124 144125

Tappet Boot Ø67 mm

148512
Protect�ve Spr�ng Ø67 mm

144527
142529

Cal�per Cover

144123

MODUL X GEN 1

MODUL X GEN 1 MODUL X GEN 1

MODUL X GEN 1 MODUL X GEN 1

143515
Bolt M8 x 30 mm

TYPE 2 TYPE 2

TYPE 2 TYPE 2

TYPE 2 TYPE 2

93 mm

57.5 mm

38 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 279



m
od

ul
 x

Caliper Complete Mechanism Kit MODUL X GEN 2

Caliper Complete Repair Kit

144111

144112

144022

144111

MODUL X GEN 2

144087

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr280



HALDEX
Caliper Repair Kit 144087 MODUL X GEN 2

Caliper Repair Kit144089 MODUL X GEN 1
MODUL X GEN 2

Caliper Repair Kit144090

144512
Plast�c Plug145524

Steel Cap Ø42 x 22,5 mm

MODUL X GEN 1
MODUL X GEN 2

145512
Steel Cap

144510
Gu�de P�n Boot

144511
Te�on Bush

144511
Te�on Bush

142524
Gu�de P�n Ø35/64 mm

143512
Gu�de P�n Bolt M14 x 2 x 53 mm

144510
Gu�de P�n Boot

144512
Plast�c Plug143514

Gu�de P�n Bolt M14X2/42 mm

145512
Steel Cap Ø56 x 12,5 mm 145524

Steel Cap Ø42 x 22,5 mm

144511
Te�on Bush

144510
Gu�de P�n Boot

144512
Plast�c Plug143514

Gu�de P�n Bolt M14 x 2 x 42 mm

145512
Steel Cap Ø56 x 12,5 mm 145524

Steel Cap Ø42 x 22,5 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 281



m
od

ul
 x

Caliper Repair Kit144091 MODUL X GEN 1
MODUL X GEN 2

144512
Plast�c Plug

144510
Gu�de P�n Boot

144511
Te�on Bush

145512
Steel Cap 145524

Steel Cap Ø42 x 22,5 mm

Caliper Boot And Spring Kit  144026 MARK IV
MODUL X GEN 1
MODUL X GEN 2

89794

148512
Protect�ve Spr�ng 67 mm

147610

Tappet Boot Ø67 mm
144517

C�rcl�p 
144512

Plast�c Plug

Caliper Repair Kit144126

Tappet Boot Ø67 mm
144517

MARK IV
MODUL X GEN 1

144510
Gu�de P�n Boot

144512
Plast�c Plug

Caliper Repair Kit144030

148512
Protect�ve Spr�ng 67 mm 144054

Cal�per Push Plate

147610
C�rcl�p 

Caliper Spring Kit144029

147610
C�rcl�p 

148512
Protect�ve Spr�ng 67 mm

92731
MARK IV

MODUL X GEN 1 92731
MARK IV

MODUL X GEN 1

Caliper Cap Kit144088 MODUL X GEN 1
MODUL X GEN 2

145524
Steel Cap Ø42 x 22,5 mm

TO ORDER WITH 144512,
PLEASE USE 144092 
PRODUCT NUMBER

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr282



HALDEX
Caliper Mechanism Cover KitCaliper Repair Kit

Caliper Bridge Kit 

MARK IV
MODUL X GEN 1

Caliper Lever Caliper Lever 

Caliper Bridge Kit  

Caliper Calibration Bolt Caliper intermediate Gear 

144137 144100

144094144028

144056

144104144050

144047

MODUL X GEN 2

MARK IV
MODUL X GEN 1

Caliper Adjustment Sleeve (Driving) Caliper Adjustment Sleeve (DrivEN)144049 144095

Back V�ew

142530
Cal�per Cover

145517
Washer

145519
C�rcl�p

145518
Washer

148514
Spr�ng

142517
Br�dge Assembly

144054
Push Plate 

144056
Cal�brat�on Bolt

144517
Tappet Boot 

144512
Plast�c Plug

142525
Br�dge Assembly

145519
C�rcl�p

145518
Washer

148514
Spr�ng

94664
MODUL X GEN 1
MODUL X GEN 2

MODUL X GEN 2

MARK IV
MODUL X GEN 1

MARK IV
MODUL X GEN 1
MODUL X GEN 2

Back V�ew

MODUL X GEN 1MARK IV
MODUL X GEN 1

MODUL X GEN 1

143515
Bolt M8 x 30 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 283



m
od

ul
 x

Caliper Roller Bearing Caliper Roller Bearing Kit 

Caliper Roller Bearing Kit 

MARK IV
MODUL X GEN 1

Caliper Brake Pad Retainer Repair Kit Caliper Adjusting Mechanism 

Caliper Roller Bearing Kit 

Caliper Lever Pin Caliper Lever Pin

144106 144107

144053144052

144096

144046144022

144105

MODUL X GEN 2

MARK II / III
MARK IV

MODUL X GEN 1
MODUL X GEN 2

Caliper Mechanism ClampCaliper Mechanism Clamp 144110144097

MARK IV
MODUL X GEN 1

MODUL X GEN 2

90673
MARK IV

MODUL X GEN 1

MODUL X GEN 1 MODUL X GEN 2

MODUL X GEN 2MODUL X GEN 1

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr284



HALDEX
Caliper Tappet KitCaliper Push Plate

Caliper Adjustment Sleeve

MARK IV
MODUL X GEN 1

Caliper Adjusting Gear Caliper Calibration Bolt Kit 

Caliper Repair Kit

Caliper Adjusting Mechanism Caliper Mechanism Plate

144055 144103

144114144054

144101

144109144102

144108

MODUL X GEN 2

Caliper Repair Kit144027

MODUL X GEN 1
MODUL X GEN 2

MARK IV
MODUL X GEN 1

MODUL X GEN 2MODUL X GEN 2

MODUL X GEN 2 MODUL X GEN 2

90693
MODUL X GEN 1
MODUL X GEN 2

144516
Adjust�ng Bolt Seal

142512 
Adjust�ng Bolt

144512
Plast�c Plug

USE 144093 P/N FOR HALF KIT

142526
Tappet

146512
Bush

144056
Cal�brat�on Bolt

144054
Push Plate 

142537
Cal�brat�on Bolt

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 285



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr286



haldex modul t

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 287



m
od

ul
 t

Caliper Complete Repair Kit MODUL t

Caliper Complete REPAIR Kit GEN 2  

144140

144156 MODUL t GEN 2

144062

144084

144155 (GEN 2)

144154 (GEN 2)

144522 144521 144528

144522 144521 144523

PLEASE ORDER WITH 144085 PRODUCT NUMBER FOR 145522 AND 145523 INCLUDED

145523
Pad Spr�ng 

145522
Cal�per Pad Reta�ner

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr288



HALDEX

Caliper Roller Bearing Kit Caliper Roller Bearing Kit 

Caliper Repair Kit 144062

144069 144066

MODUL T

142520
Gu�de P�n Ø 35,5/87 mm

142519
Gu�de P�n Ø 35/120 mm

144518
Inner Boot

144519
R�ng 

146511
Bush

35.7x35.4x87 mm

126511
Bush Ø 35x39/30 mm

145520
Steel Cap 

Ø 42/26 mm
145521

Steel Cap 
Ø 45/22 mm

123529
Bolt M16X1,5/80 mm

146510
Bush 

Ø39.5x36/14.5 mm

144520
Plug 

95397 - 3 434 3861 00

MODUL TMODUL T

Caliper Repair Kit GEN 2 144154 MODUL T GEN 2

142536
Gu�de P�n Ø 35,5/87 mm Gen 2

142535
Gu�de P�n Ø 35/120 mm Gen 2

144518
Inner Boot

144519
R�ng 

146511
Bush

35.7x35.4x87 mm

126511
Bush Ø 35x39/30 mm

145520
Steel Cap 

Ø 42/26 mm
145521

Steel Cap 
Ø 45/22 mm

123529
Bolt M16X1,5/80 mm

146510
Bush 

Ø39.5x36/14.5 mm

144520
Plug 

144068 142521
Lever P�n Cal�per Roller Bear�ng 

PLEASE ORDER WITH 144159 PRODUCT NUMBER FOR 145523 INCLUDED

145523
Pad Spr�ng 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 289



m
od

ul
 t

144067

144128

144065

144074

144071

Caliper Adjusting Mechanism MODUL T Caliper Bearing Housing Kit

Caliper Lever Housing Caliper Lever 

Caliper Bolt Housing 

Caliper Brake Pad Retainer Kit Caliper Adjuster Bolt144147 144070

142522TO ORDER WITH THESE PARTS PLEASE USE 
144072 PRODUCT NUMBER

145522
Cal�per Pad Reta�ner

145523
Pad Spr�ng 

MODUL T

MODUL T MODUL T

MODUL T

MODUL T MODUL T

Bear�ng Hous�ng 

Back V�ew

144073 Caliper ROLLER BEARING Kit MODUL T

149514149515

149513

PLEASE USE 144064 PRODUCT NUMBER 
TO ORDER WITH 144523 PLUG

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr290



HALDEX

144150

144151

144149

144148

144153

Adj. MECHANism GEN 2 MODUL T Bearing Housing Kit GEN 2

Caliper Lever Housing GEN 2 Caliper ADJUSTER BOLT GEN 2

Caliper REPAIR KIT GEN 2

142534

TO ORDER WITH THESE PARTS PLEASE USE 
144152 PRODUCT NUMBER

MODUL T

MODUL T MODUL T

MODUL T

Bear�ng Hous�ng Gen 2 

144157 Brake Pad Retainer Kit GEN 2 MODUL T

Bottom V�ew

Bottom V�ew
Gen 2: Deeper

Back V�ew

144521
Adjuster Gear Plast�c 

144528
Plast�c Cap

144522
Adjust�ng Gear

145525
Cal�per Pad Reta�ner

145523
Pad Spr�ng 

144127 Caliper Bolt Housing MODUL T

Top V�ew

Plate Bottom

157,50 mm

JOST TYPE 144113 Caliper Bolt Housing MODUL T

Plate Bottom
157,50 mm

JOST TYPE 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 291



m
od

ul
 t

Caliper PLASTIC CAP KIT Caliper Mechanism Locker Kit

Caliper Locking Ring Kit Caliper Plug Kit144130

144146 144076

144080 MODUL TMODUL T

MODUL TMODUL T GEN 2

Caliper Repair Kit Caliper Adjuster Bolt Gaiter Kit144075 144077 MODUL TMODUL T95399 - 3 434 3863 00

144524
Adjuster Bolt Ga�ter

144520
Plast�c Cap K�t 

144525

144524
Adjuster Bolt Ga�ter

144520
Cal�per Plast�c Cap

Mechan�sm Locker

PLEASE ORDER WITH 144143 FOR 145523 INCLUDED

145523
Pad Spr�ng 

144528
Plast�c Cap

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr292



HALDEX

144078

144129

144079

144063

144083 144082

Caliper Repair Kit MODUL T Caliper Repair Kit 

Caliper Repair Kit Caliper Adjuster Gear Plastic Kit

Caliper Protection Plug Kit Caliper Adjusting Gear Kit

Caliper Mechanism Repair Kit Caliper Protection Plug Kit144115 144081

MODUL T

MODUL T MODUL T

MODUL T MODUL T

MODUL T MODUL T

144520
Plast�c Cap

144522
Adjust�ng Gear

144523
Cal�per Mechan�sm 

Protect�on Cap

144522
Plast�c Adjuster Gear

144523
Plast�c Cap 

144526
Mechan�sm Protect�on Cap

144521
Adjuster Gear Plast�c 144525

 Cal�per Mechan�sm 
Lock�ng Plast�c

144520
Plast�c Cap

144522
Adjust�ng Gear

144521
Adjuster Gear Plast�c 

95398 - 3 434 3862 00

144520
Plast�c Cap

144521
Adjuster Gear Plast�c 

144521
Adjuster Gear Plast�c 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 293



m
od

ul
 t

Caliper Carrier Modul T144134 144135 Caliper Carrier Modul X

Caliper Carrier 22.5" Caliper Carrier 22.5" Left & Right144117 144133HALDEX

Caliper Carrier GIGANT Axle144136

HALDEX

HALDEX HALDEX

HALDEX

94861 90636 - 92502

216 mm

M18x1,5mm

316 mm

286 mm

248 mm
M14x2mm

M16x1,5mm

210 mm
378 mm
400 mm

308,50 mm

REAR REAR

259 mm

211 mm M16x1,5mm

210 mm
378 mm

400 mm

311 mm

258,50 mm

210,50 mm
M14x2mm

M18x1,5mm

REAR REAR

245 mm
350 mm
370 mm

310 mm

REAR REAR

258 mm

210 mm
M14x2mm

400 mm

M16x1,5mm

377 mm
210 mm

Caliper Saf Holland Grease144116 HALDEX

Caliper ASSEMBLY TOOL144131 MODUL T

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr294



HALDEX

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 295



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr296



bpw

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 297



bp
w

Caliper Complete Repair Kit BPW

Caliper Complete Repair Kit

155073

155010 155036

155074

155030 155514

155011

155046

PLEASE ORDER WITH 155035

W�th P�n

BPW

155010 155038

155046

W�th P�n

FOR THE TAPPETS WITHOUT PIN
PLEASE ORDER WITH 155033 PN
FOR THE KIT WITH 155011

155011

PLEASE ORDER WITH 155047 PN
FOR THE KIT WITH 155011

155030 155514

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr298



bpw
Caliper Repair Kit 

Caliper Repair Kit

Caliper Repair Kit

BPW

BPW

BPW

155010

155013

154512
Inner Boot

154515
Plast�c Plug

155517
P�n C�rcl�p

153511
Gu�de P�n Bolt M16X1,5/70 mm

152511
Gu�de P�n Ø 36/70 mm

156510
Bronze Bush

Ø 41X37/73 mm

156511
Bronze Bush

Ø 41X37/30 mm

152510
Gu�de P�n Ø 37/123 mm

153510
Gu�de P�n Bolt M16X1,5/100 mm

154514
Plast�c Cap

154513
Plast�c Washer

154511
O-R�ng

154510
O-R�ng

155012

154513
Plast�c Washer

155011

155517
P�n C�rcl�p

153511
Gu�de P�n Bolt M16X1,5/70 mm

152511
Gu�de P�n Ø 36/70 mm

156510
Bronze Bush

Ø 41X37/73 mm

156511
Bronze Bush

Ø 41X37/30 mm

152510
Gu�de P�n Ø 37/123 mm

153510
Gu�de P�n Bolt M16 x 1.5/100 mm

154514
Plast�c Cap

154511
O-R�ng

154510
O-R�ng

152511
Gu�de P�n Ø 36/70 mm

152510
Gu�de P�n Ø 37/123 mm

153510
Gu�de P�n Bolt M16X1,5/100 mm

Cal�per Brake Pad Reta�ner Repa�r K�t

153511
Gu�de P�n Bolt  M16X1,5/70 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 299



bp
w

Caliper Cover Kit 

Caliper Repair Kit BPW

BPW

155014

155017

Caliper Tappet Kit Caliper Tappet Kit BPWBPW 155029155028

154512
Inner Boot

154515
Plast�c Plug

154514
Plast�c Cap

154513
Plast�c Washer

154511
O-R�ng

154510
O-R�ng

156510
Bronze Bush

Ø 41X37/73 mm

156511
Bronze Bush

Ø 41X37/30 mm

Caliper Repair Kit BPW155045

152511
Gu�de P�n Ø 36/70 mm

156510
Bronze Bush

Ø 41X37/73 mm

156511
Bronze Bush

Ø 41X37/30 mm

152510
Gu�de P�n Ø 37/123 mm

153511
Gu�de P�n Bolt M16X1,5/70 mm

153510
Gu�de P�n Bolt M16X1,5/100 mm

155517
P�n C�rcl�p

152515
Tappet (W�th P�n)

154516
Tappet Boot

155513

155510
Mechan�sm Washer

152512
Mechan�sm Cover

153512
Bolt M8 x 16 mm 

155512
Locker

Metal C�rcl�p 

152516
Tappet

154516
Tappet Boot

155513

155512
Locker

Metal C�rcl�p 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr300



bpw

Caliper Complete Mechanism Kit 

Caliper Complete Mechanism Kit 

Caliper Complete Mechanism Kit 

Caliper Complete Mechanism Kit 

BPW

BPW

BPW

BPW155048

155038

155032

155036

153512
Bolt M8 x 16 mm 

W�th P�n

PLEASE USE 155037 FOR 
TAPPETS WITHOUT PIN

PLEASE USE 155034 FOR 
TAPPETS WITHOUT PIN

PLEASE USE 155039 FOR 
TAPPETS WITHOUT PIN

PLEASE USE 155049 FOR 
TAPPETS WITHOUT PIN

W�th P�n

155046

153512
Bolt M8 x 16 mm 

W�th P�n 153512
Bolt M8 x 16 mm 

W�th P�n

155046

153512
Bolt M8 x 16 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 301



bp
w

Caliper Lever Kit Caliper Lever Kit

Caliper Bridge Caliper Calibration Bolt 

Caliper Bearing Spanner Caliper Roller Bearing Kit 

Caliper Plug Kit Caliper Roller Bearing Kit 

155018

155023

152513
Cal�per Lever

152514
Cal�per Lever P�n

153512
Bolt M8 x 16 mm

155511
Washer

155046

155019

155027

155026

155031

155514
Plug

155044

BPW

BPW

BPW

BPW

BPW

BPW

BPW

BPW

Back V�ew

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr302



bp
w

Caliper Brake Pad Retainer Repair Kit 

Caliper Brake Pad Retainer Repair Kit 

Caliper Brake Pad Retainer Repair Kit 

Caliper Ball Bearing Kit 

BPW

BPW

BPW

BPW

155011

155016

155015

155051

159512
Shaft Roller Bear�ng

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 303



bpw
Caliper Adjusting Mechanism Caliper Repair Kit

Caliper Ball Bearing Kit Caliper Locking Ring Kit

Caliper Mechanism Housing Caliper Lever Bush Kit

Caliper Roller Bearing HousingCaliper Roller Bearing Housing

BPW

BPW

BPW

BPW

BPW

BPW

BPW

BPW

155022

155050

155020

155030

155510
Mechan�sm Washer

155021
Cal�brat�on Bolt Washer

159512
Shaft Roller Bear�ng

155514
Plug

155510
Mechan�sm Washer

152518

155040

155024

155025

155041

156512
Bush Ø20X18/10 mm

156513
Bush Ø20X18/20 mm

Bear�ng Hous�ng

159512
Shaft Roller Bear�ng

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr304



bpw
Caliper Repair Kit BPW155062

154512
Inner Boot

154515
Plast�c Plug

154514
Plast�c Cap

154513
Plast�c Washer

154511
O-R�ng

154510
O-R�ng

Caliper lever pın kıt BPW155063

152514
Cal�per Lever P�n

155511
Washer 153512

Bolt M8 x 16 mm

Caliper CARRIER TSB3709/4309 Caliper CARRIER TSB 4312

Caliper CARRIER TSB4312

BPW

BPW

BPW155070

155072

155071
266,30 mm

214,40 mm

266,20 mm

214,80 mm

266 mm

215 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 305



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr306



BPW tS2

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 307



Caliper Complete Repair Kit (LEFT) BPW155060

155052 152529

154524

155059 155056 155055

155054

152531

152530

155057

bp
w

 TS
2

154525

Caliper Complete Repair Kit (rıght) BPW155061

155052 152529

154524

155059 155056 155055

155054

152531

152530

155058
154525

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr308



bpw

Caliper Complete Repair Kit (LEFT) BPW155065

155052 152534

154524

155059 155056 155055

155054

152531

152530

155057
154525

Caliper Complete Repair Kit (rıght) BPW155066

155052 152534

154524

155059 155056 155055

155054

152531

152530

155058
154525

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 309



bp
w

 TS
2

Caliper Repair Kit 

Caliper LEVER Kit

BPW

BPW

155052

155053

154522
Inner Boot

154523
Plast�c Plug

155517
P�n C�rcl�p

153511
Gu�de P�n Bolt M16X1,5/70 mm

152528
Gu�de P�n Ø 36,80/70 mm

156510
Bronze Bush

Ø 41X37/73 mm

156514
Bronze Bush

Ø 41X37/34 mm

152510
Gu�de P�n Ø 37/123 mm

153510
Gu�de P�n Bolt M16X1,5/100 mm

154514
Plast�c Cap

154513
Plast�c Washer

154510
O-R�ng

Back V�ew

155054
Roller Bear�ng K�t152530

Cal�per Lever P�n152529
Lever

152531
Cal�per Lever Bear�ng

Caliper LEVER Kit BPW155064

Back V�ew

155054
Roller Bear�ng K�t152530

Cal�per Lever P�n152534
Lever

152531
Cal�per Lever Bear�ng

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr310



bpw

Caliper Bridge Caliper Calibration Bolt 155055 155056 BPWBPW

Back V�ew

Caliper COVER KIT (LEFT)155057 BPW

155518
Cal�per Cover (Left)

113515
Bolt M8X1,25/16 mm

152532
Cover P�n

152533
Tappet

Caliper COVER KIT (RIGHT)155058 BPW

155519
Cal�per Cover (R�ght)

113515
Bolt M8X1,25/16 mm

152532
Cover P�n

152533
Tappet

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 311



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr312



MERITOR Z-CAM

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 313



M
ER

IT
OR

 Z-
CA

M

Caliper Complete Repair Kit (left)

Caliper Complete Repair Kit (rIGHT)

166040

166041

166010
166027

166018 166028 166025
166020

166033
166011

merıtor z-cam

merıtor z-cam

PLEASE ORDER WITH 166035 PN FOR THE KIT WITH 166032

166032

166010
166027

166028 166025
166020

166033
166011

PLEASE ORDER WITH 166036 PN FOR THE KIT WITH 166032

166032

166019

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr314



M
ERITOR Z-CAM

166010 166011Caliper Adjusting Shaft (Left) Caliper Adjusting Shaft (Right)  

Caliper Adjusting Pinion (Left) Caliper Adjusting Pinion (Right)

Caliper Adjusting Pinion 
(Long-Left)

Caliper Adjusting Pinion 
(Long-Right)

Caliper Adjusting Pinion 
(Long-Left)

Caliper Adjusting Pinion
(Long-Right)

166013

166015

166017

166012

166014

166016

merıtor z-cammerıtor z-cam

merıtor z-cammerıtor z-cam

merıtor z-cammerıtor z-cam

merıtor z-cammerıtor z-cam

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 315



M
ER

IT
OR

 Z-
CA

M
Caliper Brake Adjusting Kit 
(Right) 

Caliper Brake Adjusting Kit 
(Left) 

Caliper Adjuster Locking Pin Kit

Caliper Adjuster Locking Pin Kit Caliper Adjuster Locking Pin Kit

Caliper Cross Shaft

Caliper Adjusting Pin Caliper Adjusting Pin 

166018

Caliper Cover Gasket Caliper Adjusting Gasket Set

merıtor z-cam

merıtor z-cam

merıtor z-cam

merıtor z-cam

merıtor z-cam

merıtor z-cam

merıtor z-cam

merıtor z-cam

merıtor z-cam

166020

166022

166024

166026

166019

166021

166023

166025

166027

merıtor z-cam

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr316



M
ERITOR Z-CAM

Caliper Cap KitCaliper Adjusting Cover

Caliper Locking Kit (Right)

Caliper Spring Retainer Caliper Boot 

Caliper Locking Kit (Left)

166028 merıtor z-cam

merıtor z-cam

merıtor z-cam

merıtor z-cam

merıtor z-cam

166030

166032

Caliper Adjusting Pinion (Right) merıtor z-cam166038

166029

166031

166033

merıtor z-cam

Caliper Adjusting Pin merıtor z-cam166034

Caliper Adjusting Pinion (Left) merıtor z-cam166037

Caliper SPRING HOLDER merıtor z-cam166039

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 317



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr318



ıveco

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 319



IV
EC

O

93161254
Caliper Brake Adjusting Repair Kit177010 177011Ø360 PERROT

177012 177013

Ø360 PERROT

Ø360 PERROT Ø360 PERROT

Caliper Brake Adjusting Repair Kit

93161267
Caliper Brake Adjusting Repair Kit

12 999 403VT
Caliper Brake Adjusting Repair Kit

Caliper Brake Adjusting Repair Kit

Caliper Brake Wedge Kit

Caliper Brake Adjusting Repair 
Kit (RIGHT)

Ø394/381 DUBLEX177018

177028

177021

7980407 - A2247447

7980405 - 192754 

42491950

Ø394/381 DUBLEX

Ø394/381 DUBLEX177020 Ø394/381 DUBLEXCaliper Brake Adjusting Repair 
Kit (Left) 7980405 - 192754 

Caliper Boot Kit177019 7980408
Ø394/381 DUBLEX

ØØ36X21,50 mm

177040 Ø360 PERROT
12 999 135VT
Caliper Brake Adjusting Repair Kit

ØØ36X18,50 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr320



42491974 - 272857
Caliper Brake Wedge Caliper Brake Adjusting Repair Kit

42480059 - 1696537
Caliper Adjusting Bolt Kit

42488484
Caliper Clamp Kit

Caliper Brake Adjusting Repair Kit

Caliper Brake Wedge Kit

Ø410 DUBLEX

93161621

42536195

Caliper Brake Adjusting Repair 
Kit (Left) 42537364 - 42537366

177024

177023177022 7980407
Ø394/381 DUBLEX Ø394/381 DUBLEX

Ø394/381 DUBLEX Ø394/381 DUBLEX177027

Ø410 DUBLEX

Ø410 DUBLEX

Ø410 DUBLEX

177031 177033

177032 Caliper Brake Adj. Rep. Kit
2996557

Ø410 DUBLEX177030

177036

Caliper Brake Adjusting Repair 
Kit (Right) 42537363 - 42537365

IVECO

Caliper Collet Nut177025 4756032 - 165017
Ø394/381 DUBLEX

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 321



93161256
Caliper Boot Kit177015 177014Ø410 PERROT

177016 177017

Ø410 PERROT

Ø410 PERROT Ø410 PERROT

Caliper Brake Adjusting Repair Kit

1518475 - 93161267 - 93161768
Caliper Brake Adjusting Repair Kit

8124815
Caliper Brake Wedge 

Caliper Brake Adjusting Repair Kit Caliper Brake Adjusting Repair Kit

Caliper Brake Spring Kit

Caliper Brake Adjusting Repair Kit

Caliper Brake Spring
93161627 - 93162113 2258F1306

2996557425380065

Caliper Brake Wedge Kit

93161257 - 12999404 

177034 177035

177037177036

177039177038

Ø410 sımplexØ410 sımplex

Ø410 sımplexØ410 sımplex

Ø410 sımplexØ410 sımplex

IV
EC

O

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr322



IVECO
Caliper Brake Adj. Rep. Kit
42536197

Ø410 DUBLEX177029 Caliper REPAIR Kit
4255 5416177047 IVECO DAILY

184522
P�n Boot 

183513
Bolt M8 x 1,25 x 70 mm

182514
Gu�de P�n Ø 18/66 mm 

185516
Washer

184524
Rubber Plug

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 323



ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr324



HYDRAULIC

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 325



HY
DR

AU
LIC

Sp8902 - 60 FRONT
Caliper Repair Kit188010 188011HYDRAULIC

188012 188013

HYDRAULIC

HYDRAULIC HYDRAULIC

Caliper Repair Kit

Sj1035 - ST1153
Caliper Repair Kit

Sj1034
Caliper Repair Kit

Caliper Repair Kit

Caliper REPAIR Kit

Caliper Repair KIT 

HYDRAULIC188014

188018

188017

Sj1030

Sp9669 

Sj1022

HYDRAULIC

HYDRAULIC188016 HYDRAULICCaliper Repair KIT
St1154

Caliper REPAIR Kit188019 sp9670
HYDRAULIC

188015 HYDRAULIC
Sp8566
Caliper Repair Kit

sp8565 - 58 / 68 FRONT&REAR 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr326



hydraulıc

Sp8567
Caliper REPAIR KIT Caliper Repair Kit

Sp8597
Caliper REPAIR Kit

Sj1037
Caliper REPAIR Kit

Caliper Repair Kit

Caliper REPAIR Kit
000 421 0850

000 423 0663

Caliper REPAIR KIT

188022

188021188020 Sj1033

188023

188026 188078

188041 Caliper REPAIR KIT188042

188025

Caliper BOOT KIT

Caliper REPAIR KIT188024 Sp8564

HYDRAULIC HYDRAULIC

HYDRAULIC HYDRAULIC

HYDRAULIC HYDRAULIC

HYDRAULIC HYDRAULIC

HYDRAULIC HYDRAULIC

184530

184529
Seal

184528
Seal

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 327



HY
DR

AU
LIC

Caliper Repair Kit188043 188044HYDRAULIC

188045 188046

HYDRAULIC

HYDRAULIC HYDRAULIC

Caliper Repair Kit

Caliper Repair Kit Caliper Repair Kit

Caliper PISTON Kit

Caliper PISTON

Caliper PISTON KIT 

HYDRAULIC188047

188051

188050

HYDRAULIC

HYDRAULIC188049 HYDRAULICCaliper PISTON

Caliper PISTON188052 HYDRAULIC

188048 HYDRAULICCaliper PISTON Kit

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr328



hydraulıc
Caliper PISTON Caliper PISTON

Caliper PISTON Caliper PISTON

Caliper PISTON

Caliper PISTON

Caliper PISTON

188055

188054188053

188056

188059 188060

188061 Caliper PISTON188062

188058

Caliper PISTON

Caliper PISTON188057

HYDRAULIC HYDRAULIC

HYDRAULIC HYDRAULIC

HYDRAULIC HYDRAULIC

HYDRAULIC HYDRAULIC

HYDRAULIC HYDRAULIC

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 329



HY
DR

AU
LIC

Caliper Hand Brake Kit

Caliper Hand Brake Kit

188035

188036

HYDRAULIC

184533
Plast�c Washer 

184531
O-r�ng 

185515
Steel Cap

183517
Bolt M12X2/25 mm  

186510
Bush

Ø39 x Ø35,20 x 19,85 mm  187613
C�rcl�p

184532
 O-r�ng 

185514
Washer

182525
Adjust�ng Shaft 

107.20 mm

37 mm

Ø
35

 m
m

M12 x 2 mm

184533
Plast�c Washer 

184531
O-r�ng 

185515
Steel Cap

186510
Bush

Ø39 x Ø35,20 x 19,85 mm  
187613
C�rcl�p

184532
 O-r�ng 

185514
Washer

HYDRAULIC

182526
Adjust�ng Shaft 

107.40 mm

34 mm

Ø
35

 m
m

M10 x 1,5 mm

183518
Bolt M10X1,5/20 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr330



hydraulıc

Caliper PISTON SEAL Kit

Caliper Piston Seal Kit

Caliper Wedge Repair Kit Ø 31.90

Caliper Repair Kit

188032

188031

188039

182532
Adjustment Wedge 

184534
Felt 

182536
Adjustment Wedge 

(Ø31,90 mm)

186512
Bush (Ø31,90 mm)

HYDRAULIC

HYDRAULIC

HYDRAULIC

HYDRAULIC

182521
P�ston 

UPPER

182520
P�ston 

UPPER

BOTTOMØ68 x 63,60 mm Ø68 x 63,60 mm

184529
Seal

184528
Seal

184530
Plug

188028 42534122 - 93161759

184527
P�n Boot 

183515
Bolt M12 x 1,75 x 110 mm182518

Gu�de P�n Ø 22/90 mm 

P�ston 
Ø68 x 74,60 mm

P�ston 
Ø68 x 73,60 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 331



HY
DR

AU
LIC

Caliper Repair Kit

Caliper Repair Kit

Caliper Repair Kit

Caliper Repair Kit

188029

188027

188030

HYDRAULIC

HYDRAULIC

HYDRAULIC

HYDRAULIC188079 42534122 - 93161759

42559195

184527
P�n Boot 

183516
Bolt M12 x 1,75 x 120 mm182519

Gu�de P�n  Ø 22/98 mm  

182529
Adjust�ng Bolt 80 mm 

182531
Washer 

182530
Adjuster Nut 

182528
Adjust�ng Bolt 70 mm 

182531
Washer

182530
Adjuster Nut

185513
Clamp 

187510
C�rcl�p

182531
Washer188510

Mechan�sm Spr�ng 

182528
Adjust�ng Bolt 70 mm 

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr332



hydraulıc

Caliper Repair Kit

Caliper Cover Bolt Kit

Caliper Cover Bolt Kit

Caliper Wedge Repair Kit 39 mm

188080

188081

188073

HYDRAULIC

HYDRAULIC

HYDRAULIC

HYDRAULIC188075

185513
Clamp 

187510
C�rcl�p

182531
Washer188510

Mechan�sm Spr�ng 

182529
Adjust�ng Bolt 80 mm 

183521
Bolt M12 x 1,25 x 40 mm 

183520
Bolt M12 x 1,25 x 45 mm 

185517
Washer 188070

Wedge
(Ø32 x 39,25 mm)

184535
O-r�ng

184536
O-r�ng

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 333



Caliper Wedge Repair Kit 51 mm188076 HYDRAULIC

Caliper Wedge Repair Kit Ø 29.50188038 HYDRAULIC

Caliper Boot Kit188077 BRMB - MRT

Caliper Pad Retainer Repair Kit188082 HYDRAULIC270526 - SP8563

Caliper Shaft Lever188040 HYDRAULIC2A4405

93161181 - 12 999 199VT

185517
Washer 188071

Wedge
(Ø32 x 50,50 mm)

184535
O-r�ng

184536
O-r�ng

182537
Adjustment Wedge 

184537
Felt 

182538
Adjustment Wedge 

(Ø29,50 mm)

186511
Bush (Ø29,50 mm)

HY
DR

AU
LIC

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr334



hydraulıc

Caliper Adjusting Shaft

Caliper Adjusting Shaft

Caliper LUBRICATION PLUG KIT

Caliper Adjusting Shaft

Caliper Piston REGULATOR 60 MM

182527

182526

Ø
35

 m
m

182525

188033

188034

HYDRAULIC

HYDRAULIC

HYDRAULIC

HYDRAULIC

HYDRAULIC

107.40 mm

34 mm

M12 x 2 mm
105.60 mm

34 mm

Ø
35

 m
m

M10 x 1,5 mm

107.15 mm

34 mm

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 335



Caliper PISTON188063 188064HYDRAULIC

188065 188066

HYDRAULIC

HYDRAULIC HYDRAULIC

Caliper Repair Kit

Caliper PISTON Caliper PISTON

Caliper PISTON HYDRAULIC188067

188069 HYDRAULICCaliper PISTON

188068 HYDRAULICCaliper PISTON

HY
DR

AU
LIC

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr336



Notes

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr 337



Products

İzmir / Turkey

info@bachmann.com.tr

www.bachmann.com.tr

+90 232 436 33 66

+90 232 436 33 66

MAKİNE SAN. VE TİC. A.Ş.

İzmir / Turkey

info@bachmann.com.tr

www.bachmann.com.tr

+90 232 436 33 66

+90 232 436 33 66

MAKİNE SAN. VE TİC. A.Ş.

ALL OEM NUMBERS, MARKS AND MODELS FROM VEHICLE MANUFACTURERS LISTED IN THIS CATALOGUE ARE FOR COMPARISON PURPOSES ONLY  

www.bachmann.com.tr338


	KNORR
	SB5 / SN5
	SB6 / SB7 / SB7 RADIAL
	SN6 / SN7 / SK7
	SL7 / SM7 / ST7 / SYT7
	CARRIERS

	MERITOR
	ELSA 1
	ELSA 2 / 195 / 225
	LISA
	D3
	DUCO
	DX 175
	DX 195
	DX 225
	CARRIERS

	WABCO
	PAN 17.5"
	PAN 19.5"/22.5" SINGLE PISTON
	PAN 19.5"/22.5" DOUBLE PISTON
	MAXX 17
	MAXX 17 CWS
	MAXX 19
	MAXX 22 MAN
	MAXX 22 MB / MAXX 22 L
	MAXX 22T
	PAN 17.5"/19.5" 1000-1300-1600 V-G
	CARRIERS

	HALDEX
	MARK
	MODUL X
	MODUL T
	CARRIERS

	BPW
	TSB
	TS 2

	MERITOR Z-CAM
	IVECO
	HYDRAULIC

